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SECTION - 1
U Wheeh is the best mwthod off defiing & problem of vesearch

(N Keahste  definition (2} Operational definition
(1 Convepaal  definitron (4 Logwal defimtion
AN AN aelaeedl aalny vl s6 ® ?

(N ARy savy Q) Qe My

) AR gy @) dills sawy

T Samphng techmgque s based on -

(1) Anabhtxcal method () Deductive method

() loductive method $) Al of (1), (2) and (3) methods
O NYERL g -

) yussenas el 8 Q) R weh 8

Q) = wel 8 @ (M. @ A1 Q) A el B

3 Winch of the following 1 wot an approach of analysis of qualitative data?

(1) lLowxal Analvsis (2) Content Analysis

() Inductive Analysis (#)  Cntenton  Analysis
Aanill s s eucs R RN w2« ?
() alls Raw Q) Rvug Rxaww

() WS Rrdww @) jas R

4 Internal ontiasm of data s done to -
(1)  Veniyv the authenticaty of the source
(2}  Yenty the accuracy of the source
(3) Both (1) and ()
W) None of (1) and (2)
R *ialks Al -
(D Wl ARYadl s R 8
) Wddl Vs asyaw w2 8
3G) (1) ¥ Q) a1 w2 8
@ () A 2) A W@ «dl

§  Who gave the idea of Factorial design °
(1) Best (2) R A Fisher
(3)  Skinner (4) Kuder Rechardson
$2R00e Rl Rar A ) ?
(H AR () ¥R. A fw
3) MW @ &R AuduH
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6 Non-Parametric tests are -
(1) Dafficult to compute (2) Distribution free
(3) Both (1) and (2) (4) None of (1) and (2)
2l R -
(1) ARl sl yde &y B (2) gt [del Ysd €U B
BG) (DAL Q2) s QuBd (@) (1) 2 (2) ol »s uet ¢l

7  Direction of relationship between two variables is expressed by -
(1) The sign of coefficient (2) Percentage of coefficient
(3) Degree of coefficient 4) All of (1), (2) and (3)
o el A ALioinl R g wu B -
(1) Asoly- (gl (2) usioinAl asdldl
(3) wusAsiv-dl seudl @ (1), (2) 21 (3) awdl

3 The pioneer of clinical method of measuring human behaviour was -

(1) Terman (2) Thorndike
(3) Cattel (4) Alfred Binet
WA adet el aolloll ualiqu 2045 sal -
(1) &l (2) A-uds

(G) 34 4) &3 B

9  The tests serve a predictive function on the bases of present abilities of
a person are -

(1) Personality tests (2) Interest inventories
(3) Achievement tests (4) Aptitude tests
Sl adaid ulSaala suwR efawyd g sadl KA -
(1) alsaa 0 8 (2) WAAYFHsL
() Rl 0 B 4)  AREYA A B
10 What type of tests are to be developed to explore the inner structure of
personality ?
(1) Situation tests (2) Projective tests

(3) Semantic differential tests (4) Security - insecurity tests

Fdcad @idRs day el s skl KU Rsuadl ada ?
(1) vwRRAG 0> (2) wauel wyEasi
G) AARs RelRua 2 @) wandl - wamdl K00
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Il Fixed interval sampling is also called as - .
(1) Stratified sampling (2) Cluster sampling '
(3) Purposive sampling (4) Quasi Random Sampling
Ftlud viaudlael pu wigdlld 24 4§ 1 9 ? |
(1) Wdsd vpu wieAl (2) vl gt wieAl |
(3) Adgs vpu wedAl @ s vpu wiedll

12 Multi stage sampling is -
(1) Multi phase sampling (2) Double sampling
(3) Both (1) and (2) (4) None of (1) and (2)
og Awly vf-u wyGa Ned -
() sy vpu Wy 2) Readla -vpu wyls
(B) (1) w1 (2) a @) (1) A 2uidl As yer <l

13 Method of research for social scientific description of people and cultural
basis of their peoplehood is -

(1) Historical study (2) Phenomenology study

(3) Ethnography (4) Case study

lf-u Arulys dwlfis qel-t 21 disusu Winsfis 20w uval Ay
el -

(1) wfaeys soy @ (2) wuwely oy &

(3) Aq-Q3uél B @) < weqr 8

14  Replication of experiment can increase -
(1) Internal validity of experiment
(2) External validity of experiment
(3) Beoth (1) and (2)
(4) None of (1) and (2)
wildg yruad g qudl 23 3 ?
(1) udad sialRs yudal
2) QA sua amda
BG) (1) 31 (2) %
4) (1) ¥ (2) widl s ya 44l

15 John Henry effect is unnecessary motivation to -

(1) Controlled group (2) Experimental group

(3) Both (1) and (2) (4) None of (1) and (2)
w13 R A LU WA Bewadl e sunami wudl Qy @ ?
(1) [viba 2) wdPts gy

(3) (1) # (2) 44 @) (1) 3 (2) il As Y 4]
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16 Which statistician gave the equation of Normal Probability curve ?

(1) Karl Pearson (2) Spearman

(3y Kudar (4) Gos

591 Bisiaulal AMMRRL s Iuid AMlsw w0 7
() sd fadn 2) [Ruuain

(3) &R (4) 0™

17 Why Bartlett's test is used ?
(1) ANOVA (2) ANCOVA
(3) Homogeneity of varance (4) Factor Analysis
o242 s GUla W MR At i 8 7
(1) [Qaaen yasw (2) dslqAe Yyusswl

(3) [Rawmdl amava (4) ¥4 YWl

18 For validity of a test, the test has to be necessarily -
(1) Teacher made (2) Rehable
(3) Both (1) and (2) (4) None of (1) and (2)
sl wmoyadl w2 s0d slaael dd -
(1) mas Yaq adl Ad=
(2) [ama-dly Gdl md=
(3) (1) = (2) o= aidl s>
(4) (1) 2 (2) #s w= 73dl ol

19 Prncipal axes method of Factor Analysis is given by whom ?

(1) Thurston (2) Bun

(3) Kelley (4) Spearman

wauq yuserl Y wal (ds0)-l wela s gl s odl ?
(1) = (2) ®é

(G) &l (4) [RUuzd+

20 For frequency distribution of open ended extreme class, the only central
tendency measure is -

(1) Mean (2) Mode

(3) Median (4) None of (1), (2) and (3)

yeal Huaon vy Pl 1 da sught Rdze e yuadl @ilad s
A MM -

(1) w9 (2) ogas 8

(3) HwA 8 (4) (1), (2) 27t (3) Hidl @15 ye 1l
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21  Coefficient of variation is a -
(1) Relative measure of dispersion.
(2) Absolute measure of dispersion.
(3) Standard deviation.
(4) Mean deviation
4445 A UARMIAY -
(1) At sy 9, ) [la uy 8.
() wu Ragd 8. @) Wl Raad B,

22 What of the tense should be used in report writing ?

(1) Present tense (2) Past tense

(3) Future tense (4) Any of (1), (2) and (3)

vdad duqdi sy s Gyl ¥4l REA ?

(1) adusa (2) odsia

3) lwsa @ (1), 2 21 (3) Hdl A5 =
23  What purpose is not served by Action Research ?

(1) Problem solving (2) Applied research

(3) Basic research (4) All of (1), (2) and (3)

Buisis gl sl dg w2 wl usid 4ol ?

(1) u% Ge (2) GuIPLdL Has A4

(3) yadd Ay @ 1), (@ A (3) s

24 Educational implications are to be based on -

(1) Findings of research (2) Title of research

(3) Tools of research (4) None of (1), (2) and (3)

Aals sl A1 R wuRd dar ASH ?

(1) A" dred (2) A s

(3) A~ Guswe) 4) (1), (2) ¥4 (3) Al Ay e 4]
25 Research should be based on -

(1)  Subjectivity (2) Emotions

(3) Bias (4) Objectivity

AU A GWR R g ASA ?

(1) uMeald (2) *un™Msdl

(3) ydas 4  Budaa
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SECTION - 1l

26 Banning cigarette advertisements in the mass media will not reduce the

number of young people who smoke They know that cigarettes exist and

they know how to get them They do not need the advertisements to supply

that information

The above argument would be most weakened if which of the following

were true ?

(1)

2)

3)

(4)

Seeing or hearing an advertisement for a product tends to increase

people's desire for that product

Banning cigarette advertisements in the mass media will cause an

increase in advertisements in places were cigarettes are sold

Advertisements in the mass media have been an exceedingly large

part of the expenditures of the tobacco companies

Older people tend to be less influenced by mass-media advertisements

than younger people tend to be.

dls Ml ReRe Rameu uloiedl guu sadi gas-l sl vasd
1941l 2l A 79 B 3, ke »Radl ® w4 suidl Anadl.

1 ML vaRe M2 ddd Reivddl viuaisdl -4l

Al 20 Rsey WA €y, dl G-l edla ool wil a4 ?

(1)

(2)

3)

(4)

ITEP1_A

[Qay evial 3 Al d Gaued e disidl Swomi »iale
uy 8.

dls Ml Rerkedl Rav w’-i ulieit 8 odi Rivike

8, Al Al Ryl aw 2dl.
auly sulailrl vl o M2 oL dls WERRHL del Ray-dl 8.

96l 5l YUl YR @ls Wl QA 94 Weuq Al 1 8.
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27

The number of people diagnosed as having a certain intestinal disease has
dropped significantly in the rural area this year, as compared to the last
vear Health officials attribute drop in this disease entirely to improved
sanitary conditions at water-treatment plants, which made for cleaner water
this year and thus reduced the incidence of the disease

Which of the following, if true, would most seriously weaken the health
official’s explanation for the lower incidence of the disease ?

(1) Many new water-treatment plants have been built in the last five years
in that rural area

(2) Bottled spring water has not been consumed in significantly different
quantities by people diagnosed as having the intestinal disease. as
compared to people who did not contract the disease

(3) Because of a new diagnostic technique, many people who uniil this
vear would have been diagnosed as having the intestinal disease are
now correctly diagnosed as suffenng from intestinal ulcers

(4) Because of medical advances this vear, far fewer people who contract
the intestinal disease will develop severe cases of the disease

A ¥l qa-uni i al s Ay RdRA Aidu-l A5 Mud oy

et sudean alsil vl Alwa g2l 2dl 8. e sfisidsl 2u

WAl w28 AR SR83IT ¥A-Rd® @ieni Jerdl @il Rl

avid 8, 3 ¥-u dli 94 9% ¥ Guasy 1y A ddl Aol ue-uxil (sl

.

il s4l Rsey W A A dl @R RS A2 g2 -l
Ul weait Al ay Aeflaad]l 4soll wisd ?

(1) o A ReMi Seai wia qulni g8l a1 %™ ]%9519L Wi SivaUMi
sl B

(2) i Al sbudl-l ol 4 sl ge-usi wi A daiyg
Me wilen sl g odlees @i weldl Gyl Ayt Q. i~
w1l qul.

3) s dl ¥ AU Frert uEl/astis seel »u af ydl ¥ Q53
AR WA B, dg Fett 2g R 8, a2 2tidue 2@w B,
ad AR Mei ¢d wy 8.

@ 2 ARs/RABRU R RARA SRR Btiasn Aot w21 W)
elaldi 20 Aol Y AR qael Rs wya.
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Each \\.ford given in the question 28-30 is followed by four answer choices.
You will choose the word that is a necessary part of the given word.

-(l=‘i e ur 28 ofl 3000 e3smi A5 Aok sule B, Rsednidl A Rsen
Wit 5A 3 ¥ wle e au YPd s whaed ey €.

28

29

Desert

(1) Cactus
(3) oasis
W

() M

3) 4dR4&

Monopoly
(1)  corrupt
(3) rich
bLE

(1) ererdl

3) AR

Language
(1) tongue

(3) writing
AN
(1) @M

(3) 4w

ITEP1_A
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In each question 31-35 below given two statements followed by two
conclusions numbered I and IL. You have to take the given two statements
to be true even if they seem to be at variance from commonly known facts.
Read the conclusion and then decide which of the given conclusions logically
follows from the two given statements, disregarding commonly known facts.

A2 suda wat 31 ol 3% edsni A& R A d-w 1 A 10 s%ila 4
arell sdal 8. aul wagd R aeu-y 43 weldi azddl »ar ad
ol u At afl} dlsrain 8. R wl sudar died didl sl Gely
d 2 £ die A Al P da odi sulae Rl als 4d
A B,

31 Statements :  All good athletes win. All good athletes eat well.
Conclusions : [ All those who eat well are good athletes.
0  All those who win eat well.
(1) only conclusion I follows (2) only conclusion II follows

(3) netther I nor II follows (4) both I and II follow
Rusd : g A Wadl 9d B, aw AR WAl AR 2weR 4 8.
ARl : T WA R AU s4L AR AR € D,
I o4 Ryd AR suer ddl €y 8.,
(1) A diet [ R AR 8.
(2) A direL 11 Rudd 2431 8.
(3) o el I A 1 R -l -l
(4) o dar®t [ 24 11 Rasdd 2433 9.

32 Statements : All mangoes are golden in colour. No golden-coloured
things are cheap.
Conclusions : 1 All mangoes are cheap.
I Golden-coloured mangoes are not cheap.
(1) only conclusion I follows (2) only conclusion IT follows
(3) neither I nor II follows (4) both I and II follow
Rad 0 o 30 DA by 9. A6 yr WA avg axdl -l &dl.
diell : 1 ol 3w adl €y B,
I A 200 uxdl el &,
(1) WA dRet I RudA 2uqud 8.
(2) WA AW 0 Ra-dd A4l 8,
(3) o diReL I w1 RudlA siqardl 4,

@) ¢ ar I w4 0 R sigak 8.

ITEP1_A Page 10



33

34

35

Statements Some dedicated souls are angels. All social workers are
' angels.
Conclusions . | Some dedicated souls are social workers

I Some social workers are dedicated souls.

(1) only conclusion 1 follows (2) only conclusion I follows
(3) neither I nor 11 follows (4) both I and 1I follow
Rl : Jeaws auBia aueus 2agdl 8. oqL % WAL 2agd! B.
el : 1 Jews Rl sl e 8.

I 3eais aweRad ayfld sz O,
(D Mt diRe T R 23 8.
) Mt diRe I R A1) 8.
() o1 dre 1 A 1 Rl siequrdl o,
() S dre 1 A 1 Ry sl 8.

Statements - All film stars are playback singers. All film directors are
_ film stars
Conclusions : 1 All film directors are playback singers.

I Some film stars are film directors.
(1) only conclusion 1 follows (2) only conclusion II follows
(3) neither I nor II follows (4) both I and II follow
Rad : aw Boll Rdiel waonusd du 8. ow et Miud Rel
Rl @y 8.
iRRl 0 T o Bew MEIud wimouud &y 9.
0 seais Bell Marld Bet Giduas dy .
(1) ot e I R siqal 8.
(2) M dr@t 11 R siqui 3.
() o dr®t [ 3 0 R siqazal .
(4) ol dir®t 1 34 1 R i .

Statements : All flowers are trees. No fruit is tree.
Conclusions : | No fruit is flower.
| Some trees are flowers.
(1) only conclusion 1 follows
(2) only conclusion II follows
(3) neither I nor II follows

(4) both I and Il follow
Ryl @ od Yl gall u B, 86 yRL s g8 4l dlal.
diell : I 88 wel sa yw ol
I 32dis qall yw & 8.
(1) Mot drel [ R 2igaR 8.
(2) WA dre 1 Rl sqar 8.
(3) oA diel [ 2 I Rl 2iqardl 4.
@) o diel T 2 I Rusdd 2 8.



Answer the questions 36-38 based on the following information.

Exactly seven person - P, Q, R, S, T, U and V participate in and finish all of
a series of swimming races There are no ties for any position at the finish of
any of the races. In all these races :

V always finishes somewhere ahead of P.
P always finishes somewhere ahead of Q.
Either R finishes first and T finishes last, OR
S finishes first and U or Q finishes last.

(A aldl MBAN 00T W 36 A 38U GuA ML

PQR ST U3V ax quer 7 oifsuedal dee uf-l fuami 85
YL ona eldl A ] yel sA. AS yer wuldi A uw euq w2 ‘28" udl
Al s ol Wyl ...

V é32i P sl adiayg i Aad 8.

P dfai Q sdi 2uAy 2w N B,

Yl dl R uuy w4 29d 8 »d T il 24t Aad 8 2y
S MU WA A9 & 4 U a4l Q vifiy 2u- aq 8.

36 If in a race, R finishes second and Q finishes fifth, which of the following

must be true ?
(1) S finishes third (2) P finishes third
(3) V finishes fourth (4) T finishes sixth

o As ML R ofly @t A A1 Q Wiy @ A4, dl lA-umidl
s Rsey Al ¥ Qu ?

(1) Sq un Ay €y (2) Pq 2 oAy €y
(3) Vi @ AY &y (4) T - vg &y

37 If in a race, R finishes first, V can finish no lower than -

(1) Second (2) Third

(3) Fourth (4) Fifth

o s Weldi R way a4 dod, Al V. ofl 13 ey 4 Aad,
(1) olla 2)

(3) A 4)  wiax

ITEP1_A Page 12



38 If in a race, S finishes sixth and Q finishes fifth, which of the following
can be true ?

(1) 'V finishes first or fourth

(2) R finishes second or third

(3) P finishes second or fifth

(4) U finishes third or fourth

A 25 WU S 94 w1 AAY @A Q Wiy @+ qad, dl AAqunizfl 40
Rsey A S w3 ?

(1) Vg 2 uay snaq QY dy

(2) Rq 20+ oy sna Ay &y

(3) Pq 2~ ofly 2uqL yiay €y

(4) Uq 2 Ay sna Ny &y

39 Which type of study can be observed in this title ?

"A study of liking and disliking of students going to international public
schools”

(1) qualitative
(2) quantitative
(3) qualitative and quantitative

(4) none of these

40 Which is the dependent variable in the following title ?
"Study of IQ of college students with reference to sex, SES and achievement

in previous examination"

(1) SES
(2) Sex
3) IQ

(4) Achievement in previous examination

ITEP1_A Page 13



Read the paragraph and answer the question No. 41 to 47 :

41

42

43

The Skill Development in the teaching of English :

The language itself is the skill having four sub skills, they are :

Language (As a Skill)
Speaking, Listening, Reading and Writing

There is a process of communication and in the process of commu-
mication these skills are named differently They are broadly categorised
INto two  categories, encoder and decoder. These two words are very
important in teaching of languages because the system, which any animal
kingdom has adopted, is based on encoding the sounds and decoding them
Encoding means the production of sounds, it doesn't mean speaking. It is
the science of the production of sounds and sound waves. As we know
that producing sound means disturbing layers of air that makes sound
frequency. That frequency reaches the ears of listener and ear senses such
frequency and sends them to brain for interpretation that is known as
decoding The teacher is to understand this mechanism because it helps
him understanding the scientific notion of the language It is the same for
writing and reading, here the different sounds are symbolised in meaningful
graphics and they are sensed by eyes and interpreted by brain  So the teacher
of language is supposed to know all the facts about the language for
identifying instructional objectives of the teaching particular language

Language skills are further classified as under -

Active Command Passive Command
Productive Speaking Writing
Receptive Listening Reading

How many sub skills are there in English language ”
(1) One @) Two
(3) Three (4) Four

Which are the receptive skills ?
(1) Listening and reading (2) Speaking and reading
(3) Speaking and writing (4) Reading and writing

Identifying signs of sounds means
(1) wnting (2) speaking

(3) listening (4) reading

ITEP1_A Page 14



46

47

49

50

What carries the frequency of oral sounds initially ?

(1) Wire (2) Air

(3) Nerves (4) None of these three
The teacher of language is to master skills.

(1) receptive (2) productive

(3) all (4) active

Reproducing oral sound for meaningful dialogue is known as
(1) speaking (2) reading
(3) writing (4) listening

Which organ is receiving sounds reproduced orally ?
(1) Eyes (2) Tongue
(3) Nose (4) Ears

The research report is always written from the view point of
(1) third person (2) first person
(3) second person (4) none of these three

Which type of following statement is :

"There is no significant difference between IQ of male and female students".
(1) Positive hypothesis

(2) Null hypothesis

(3) Research question

(4) None of these three

"The researcher is administering tool as per the research design." It means -
(1) collection of data

(2) compiling the data

(3) statistical calculation

(4) identifying the appropriate tool for research.

ITEP1_A Page 15
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1

1 Philosophy depicted in advocates strict discipline enforced by
teacher while teaching in the classroom.

(1) idealism (2) realism
(3) naturalism (4) pragmatism

Baydl-u UL vy e e Rias gt Avid Rirde
igled A B,

(1) »uedae (2) Rdadle

() usliae (4) <HagRrale

2 Whatever learning experiences, the child gets from the environment around

its home is known as education.

(1) Formal (2) Accidental

(3) Non-formal (4) Informal

ons Wil 8+l RYRAL ARl urd ddl SRl wmys
R GEIE Riaer a3 slavy 8,

(1)  »valRs (2) usBs

(3) adlus @)  ANAlRs

3 According to Indian Philosophy, which type of nature of education in
"VIGYANMAY KOSH" is ?

(1) PARA

(2) Integrating PARA and APARA

(3) APARA

(4) Education between PARA and APARA

Rl eddd AR RAHU AN A 58 [iend a3y @ ?
(1) w

(2) WA A YA Qa A yn-ay

() U

(4) A A U A e
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4 In which ism essence is thought after existence ?
(1) idealism (2) naturalism
(3) existentialism (4) pragmatism

S el deadl Rar 2RxKa uhl e 8 7

(1) wuedae (2) uslade
(3) ¥RAcae (4) AqsRAlE

3 believes that Education is the realisation of self.
(1) Shankarachary (2) Swami Vivekananda
(3) Shri Aurbindo (49) Rabindranath Tagore
ALHAACSR A2d ¥ 3nqell 3 q Midg 8.
(1) sl (2) @a{l [asi-ie
(3) 4l »1Ze @) Wl=w-ua 2R

6 is important teaching strategy in Gurukul Tradition.
(1) Listening and writing (2) Memorising and writing

(3) Listening and memorising (4) Writing

9359 YIUML v ueudlHl Yoy 8.
(1) S4B A Qv+ (2) U A Qi
(3) Q8L A M+ 4) Qu-

7 Which is the forms of naturalism ?

(1) Physical (2) Mechanical

(3) Biological (4) All of these three
usfaaiedl 3 s ?

(1) elks (2) uibis

3) %l (4) U A9y
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8  Rules depicted in Bauddh Religion for observing ethics is known as

(1) ASHT-ANGA (2) PANCHSHIL

(3) RATNATRAY (4) None of these three
el ARivad 203 wlar My adly avuy 8.
(1) ey 2) vadla

(3) Wt (4) 2 ARUE 85 &

9 Which job can be carried out by the mentally retarded moderate level
students ?

(1) job of accounting

(2) teaching job

(3) job of investigation

(4) very light and stereotyped mechanical job

qeolarll wn s wadl sad da usid s s ad ?
(1) [Sae Avarq 54

2) dvaaq sd

(3) dwA A s

(@) vosag duq oflousia 4ibis s

10 is the condition of being thwarted in the satisfaction of motive.
(1) Conflict (2) Depression
(3) Frustration (4) Satisfaction

5l Susti AN [AY v 518 Qofl 13el] VBRI 8,
(1) A (2) sdiw

(3) a5 4) Ad
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11

12

13

14

Which is not the theory of conditioning ?

(1) Classical (2) Operant
(3) Classical and Operant (4) Insight
WAl £ Rugid wAPREAAD Rigid 2l ?
1) wly (2) 5Rs
(3) WA AHA 53 (4) AR

If a student is having difficulty in processing mathematical related
information, it means there are chances of

(1) dyslexia (2) dyscalculia

(3) dysgraphia (4) gifted

o [RendlA uRifs wlsdl wBari av &1 dl A ud.
1) fudlsuu (2) fudeslan

(3) Quuglu 4) Awdl

Who has professed the theory of Discovery Learning ?

(1) Bandura (2) Asubel

(3) Gene (4) Bruner

rANRUHS Y- Rigia A& g s4l ?

(1)  eugA ) YA

(3) A1 4) 4R

According to Piaget, are responsible process for getting
adjusted.

(1) assimilation

(2) accommodation

(3) assimilation and accommodation

(4) None of these three

Rzl 1d 2qga e Wl yasei WEul 8.
1) wwaq

(2)  de-{lYdI=RAMH
(3) MwAr A de-{lPYA-AUINA
@ il AR s
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15 When person is equally attracted towards two goals when only one can
be attained, the conflict arises out of this situation is

(1) conflict - compromise (2) approach - avoidance

(3) avoidance - avoidance (4) approach - approach

U2 S8 s A i dd susds Ay qadl Y 4 ddisg s ¥ Wk
4 Ay dd €l AR L WRRERIY Ggorqdl Ay 8.
(1) A=Wl 2) B A-[1aH

(3) [am-faa (4) AR A-2 AN

16 In which domains individual differences can be observed ?

(1) physical development (2) emotional development
(3) intelligence (4) All of three

Al5dld il sui-gal &l Al HAL ) 7

1) wiRs s ) AidbPs s

G) 4k (4) w8y

17  Which are factors involved in the process of socialisation ?

(1) Social Conformity (2) Social Adjustment
(3) Social Intelligence (4) All of these three
ARl UBUHL WA 428 U B ?

(1) Alrs dlsld (2) wlss wqgan
(3) Arlys ol (4) U A8

18 As per Shri Aurobindo Education is evoking of
(1) knowledge, character and culture
(2) knowledge, personality and ego.
(3) knowledge, character and ego.
(4) knowledge, personality and culture.
gl e Hd Raw A Qs R 8.
(1) 2w, WRA i Yl
(2) wH, Al A 2y
(3) A, ARAM 27 28y

@) wA, Alia wa Ak
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19  '"Literacy is not the end of education nor even beginning." Who has said

this?

(1) Shri Aurbindo (2) Mahatma Gandhiji

(3) Swami Vivekananda (4) Maulana Azad

“AERdl A ¥ 3naqel-l vid ¥ wist 4l v su veqenad qaa 87
(1) 2l »10@e (2) sl Yl

(3) il Ras-e (4) ¥aril 2ule

20 In which article of the constitution of India there is a provision of
free and compulsory education for the children between 6-14 years of

the age?
(1) Article 30 (2) Article 351
(3) Article 45 (4) Article 46

alRd -l oimedl 56 san (a42de) Hi -1y i+l GH-u suns v
35d A $Rrud Rawl Al 8 ?

(1) s4d 30 (2) 54 39

() s44 ¥V (4) say ¥e

21 What is RTE ?

(1) Right to Entertainment (2) Right to Education
(3) Right to Entrepreneurship (4) Right to Earning
RTE 24 g ?

(1) U2 g -T2 (2) U2 g Arylur

(3) use g2 -ty @) usde g

22 has said that the home is the best place for education and
the first school of the child.
(1) Robert Gene (2) Madam Montessori
(3) Pestalozzi (4) Russo
s6 ® 3 a2 3 daqell w2 Gud ™N B i s+l nan
a8,
(1) AeeA- (2) AM =l
3) Ul 4 3R
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23

24

25

26

What can help us better in developing international understanding ?

(1) religion (2) language

(3) rituals (4) art

AU A4y 3qaal 2 g aud Guell fladl o3 ?
(1) w9y (2) @M

G Adux 4 s

The uniform makes students feeling that
(1) we all are equal.

(2) we all dress well

(3) it doesn't make any difference.

(4) it's routine

oRidy [Reusl>)A 4l udlft sd 8.
(1) Ug WU A (2) A su3i ysul 8
(3) dAdl A &5 widl -l 4) 2 dl Axq 4y

When teacher is making use of describing the content and asking questions
to check learners understanding, which method has been incorporated while
classroom teaching ?

(1) Narration - discussion (2) Question - answer

(3) Project (4) Role - play

U (ias a0l Bvaarg qeld s Rendlel 4l anos asiudl us yd Al
d 58 ugli-d qolvis weuy-ani AR 3 8 ?

(1)  sa-al (2) uslu:

(3) usA (4) A4

Which micro-teaching skill helps prospective teacher developing skill of
drawing and attaining concentration of learners in learning ?

(1) [Illustration with examples (2) Chalk-board

(3) Questioning (4) Stimulus variation

Yo e 5y At Real>l- 2 weyayi 3dld 53 w4
asidl Al AUl il Radn qee 53 B ?

(1) Geldml 2 s

(3) nauaUdl (4) Gawl - yRad+
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27  When teacher is talking about Universe and lead is to teaching about planet

- Saturn, which maxim is being observed ?
(1)  From whole to parts (2) From definite to indefinite
(3) From induction to deduction (4) From concrete to abstract

PR [as asisl A 53 Al ae R WAl s Rigia-d Rk

wy 8 ?
(1) A4Adl ou2 dg (2) AssAYL 2HALBA d§
() 2l MM s (@) el 2yd das

28 Branching and linear are the types of learning.
(1) self (2) programmed
(3) inquiry (4) none of these three
HAML 2 s Ry YL USR D,
(1) 4 (2) sBia
(3) ARl 4) 21 Al A3y Al

29  Which objectives are tangible ?

(1) General (2) Goal Statement
(3) Specific (4) All three

sl gl Ml wsy ] ?

(1) A (2) 9y Q-
(3) [l (4) U AV

30  An evaluation at the end of lesson helps teacher understanding

(1) which specific objectives are attained at the end of the class
(2) what students have remembered

(3) how students can recall taught subject matter
(4) how effective teacher is

Wws () id Aaidl yedisel Rias A wuw w3 D
(1) -l vid deal [afre dgal R 2

@) Rl g we wll 23 8

() Rendf0 duddl fvuarg 34 A we 50 W B

@) Ras kel ABRs 8.
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31 The 'naturalisation’ is the constituent of ~ domain.

(1) Cognitive (2) Affective
(3) Understanding (4) Psychomotor
USSR W Aol 425 O,

(1)  AUHS (2) HUMS

(3) uu% 4) uwRks

32 Which method of leaming is advocated by connectionism ?
(1) learning by doing (2) leamning by conditioning
(3) learning by trial and error  (4) learning by insight
AlRAUE 58 204U YgkiA 2R 2 B 7
(1) B gl 212y- (2) RN gL AU

(3) UL 2R M@ QIR AL (4)  UAWYD G A

33 Which apex body has been regulating teacher education in India ?
(1) AICTE (2) NCERT
(3) NCTE (4) UGC
euRddl [as ulaed M sudl duibis Al 56 7
(1)  2A2uSR{EAS 2) A-R{S21R4

(3) aA-rR1AS 4 3yl

34 In present time, RUSA has been working for improving which level of
education in India ?

(1) Higher Education (2) Primary Education
(3) Secondary Education (4) Pre-primary Education
wadivt AMUME RUSA 541 e+l [uaRii JRL e u9d 8 7
(1) G2 e 2) wabs das

() Wwbs Raw @) yd wabs Raw
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35 A creative student has
(1) passions (2) learning attitude

(3) ability of thinking inductively (4) all three

ugla el Sy 8.
(1) R 2) duad xR
() weni-ls FarwEH 4) 2l 2R

36 Which institution has been providing training to teachers working in Higher
Education ?

(1) Centre of Advanced Studies in Education
(2) College of Teacher Education

(3) Academic Staff College

(4) College of Education

GrufaRmi selRd Raad awdly 20udl e 5 ?
(1) A-2R 205 A @0 S Aydus

(2) 84y 5 A ArPaun

(3) AxBis w1s N4y

(4) £4% g Awyu-

37 Who is not educational psychologist from the following psychologists ?
(1) B. F. Skinner (2) Jerome Bruner
(3) David Ausubel (4) Max Weber

214l Aol Jalis yNAsFs <) ?

(1) ofl.aAg. ¥R 2 2l 4R
(3) a3 Anyda @ AU R
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38

39

40

Which is the non-affiliating state University exclusively for teacher

education in India ?

(1) Tamilnadu Teachers Education University
(2) Indian Institute of Teacher Education

(3) Navrachana University

(4) Gujarat University

AU Rias wiael M-l v 0 AL A 2l A% g1 Al
yHaRlA s & ?

(1) diba-g dad ssad yHaRid
(2) SRu- Séeye s dar dAaydu-
(3) +ara-u yMaRid

4) ¥Ad yMHaRid

The training of teachers working in the school is known as :

(1) In-service training (2) Pre-service training

(3) Service education (4) Add-on course

i slkd Bas we doadl adly dily slaviy 8.
(1) Jusdl4 adly 2) ydAasdl4 adln

3) A Raw (4) QU HeARIHH

Which degree is not awarded after completion of the course in teacher
education in India ?

(1) B.ELEd. (2) D.Ed.
(3) B.Sc, BEd (4) BE.

Rias wheert 2o vl erdul 58 yedl Auad adl ol ?
(1) ofl.zla. 28, 2 ..
(3) ell.Aul., ofl.¥s. 4) oll.9S.
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41

42

43

44

Which type of classroom interaction makes healthy learning environment?
(1)  One-way (2) Two-way

(3) Multi-way (4) None of the three

S WS M3 BUBIA-YEIL AU ARV WYg o1d B 7

(1) #sydl @ [(ydl

() ag-ydl @) @i ARiel Asuel Al

Which domain of Bloom's Taxonomy can be followed while teaching
primary level of language ?

(1) Cognitive (2) Affective

(3) Psychomotor (4) None of the three

AR5 sai-iL oL Riaet 12 og-ll 25l 541 A2 el wsiE?
(1) AUds (2) eudds

3) AwiRs (4) i ARl isuel dl

What can be used for developing better and effective oral linguistic skills
among learners ?

(1) language room (2) language laboratory

(3) reading room (4) science laboratory

(renea0ui fas ouifly Saed-dl AU A 2AABWRS [s w2 A+
GuyloL 4 U3 ?

(1) euMMs (2) SuN-REALALL

(3)  AUAMS @) R w{aru
Teaching is the process of of students.

(1) controlling behaviours (2) transferring behaviour

(3) modification in behaviour (4) All three

ey A2d el 4l uBu.
(1) ad-l ¥R &9 R (2) ad-q de€la sai-l
G)  ad=di wRad+ @Rl (4) U ARy
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45

46

47

According to the latest trends in classroom teaching, teacher has been

considered as of teaching activities.
(1) controller (2) manager
(3) coordinator (4) producer

QU vl it dadl Riasd lvis uBdrl e - ugki-il
dild quld 8.

1) [Mu=xs (2) RS

(3) s @ Mulat

Micro teaching helps prospective teachers developing skills required for

(1) classroom teaching (2) delivering lectures
(3) colouring the picture (4) playing games
Y- el Risda Rsalaami Hee3u 8.
(1)  advis - (2)  ereu Al
(3) =i Pyl we (4) Wl Wl

Which model can be helpful in teaching primary ideas in Geometry from
the following models of teaching ?

(1) Synetics (2) Concept Attainment Model
(3) Enquiry Training Model (4) Role-play

43 sulda Rae ukdai s akie ek sabs vug vl
nee3y ol w3 & 7

1) RiAdsu @) st i ulasis

G) Yow® didld wlka @) a4
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48 The teaching method in which there is a full control of teacher.
(1) Lecturer (2) Discussion
(3) Group Discussion (4) Seminar
% AN gt 3 Fui Ruasl dyel ueud QB A vk
(1) -+ (2) 2l

(3) xR @ AR

49  When students are assigned the project to be carried out which type of
learning is going on ?

(1) Visual (2) Kinaesthetic

(3) Auditory (4) None of these three

U [eufl>A useq >l deqR s sa1d s8UML 2 AR 4L USR
ey 4 W U © 7

(1) ¥y 2) Busis

(3) A 4) 2 ARl vy Al

50 Making use of ICT in classroom teaching is known as
(1) CAL (2) teaching
(3) CAl (4) CML
qafuisHi ICT -l GuylaL %8l eyHA adly o 8.

(1) CALRlxnd) (2) AWM~

(3) CAI Rlzus) (4) CML (lapia)
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1 There are 24 birds on a tree. A hunter fired a gun and 20 fell down on
ground. So how many birds are on the tree ? .
s gat W 24 wallbdl 8. s sl sigs A3 8 d-udl 20 uall 1A wg

A4 V. dl 98 u 3eai ol oudl W B ?

(1) 4 (2) 7
(3) 24 (4) None of these

When the above is folded into a cube, which is the only cube that can
be produced amongst the following ?

A Gl sl Aol Auan i 20d, d DAl s9) wua-
o ?

(1) (2) 3) (4)

3 Some students are divided into two groups A and B. If 10 students are
sent from A to B, the number in each is the same. But if 20 students
are sent from B to A, the number in A is double the number in B. The
number of students in each group A and B are

seals [andl>lA O w1 ‘ol Ay 6 ouui qduami wd 8. R 10
[Renlol ‘A ausiall ‘ol uati Msaarii 20d dl i y+ v w3l
€ 8. ue % 20 Rendl>DA ‘ol ouaisl W’ guni Msadi wud dl A
uell vl ‘ofl’ duel v i ol Wy V. B wA ‘ol AyHi
Renl>0-l v ¢4l

(1) 100, 80 (2) 80, 100
(3) 110, 70 4) 70, 110
4 The missing number is

AAni viedl v 8.

-C |2B |-34

2A | ? | -B

-3C [-A |-2B
(1) -=3C (2) -2C
(3) 3C (4 2B
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S The number in the position of 7'

VL Al 55 dval a7

}3\ /17\ A |
5/ 12 8 15 I 24 9 40
(1 4 @ 4

@ 50 @ 52

6  The letter to be placed in place of '?' in the figure given ?
A2 20a skl Ve @A S0 v »d !

(1 M 2) N
() Q 4) R

7  Complete the missing portion of the pattern by selecting from the given
alternatives.

A 2uda [AseHidl yae s3AA 2uslad yel a1 22 %33l 4l viedl et
Ml 2l yel &3 usin ?

(1) ) €) “)
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8 The missing number in the following question

A waeni wadl Ay 5§ ) 7

(1) 72 (2) 70

(3) 68 4) 66

Complete the following pattern by choosing correct alternatives.

oy [asey waie 533 gl yel s,

(1) (2) 3) (4)

10 When wheel B turns 2 revolutions, wheel A turn 5 revolutions. When wheel
A turns 40 revolutions, how many revolutions does wheel B turn ?

U ‘ol As A Hial R R B AR W As iy el yel 53 B, sl
‘D A 40 Bial YU 2 B, AR ‘ol As Jear wial yel &) ?

(1) 4 2) 16
(3) 80 4) 100
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11  The missing number in the following question
Al usni vidl AvaL 56 & 7

(1) 6 (2 8
(3) 7 4 9

1

12 Look at the number line Between which two shapes is 3 ?

(1) Between

and G
@) Between @@ and M
(3) Between A and | -
@ Between [ and Yy

. 2 =~ oY 2 Y
Avyil vl @il s1 6 sl 9 3 W 8 ?

ONIS A| Page 5



13 EIGHT = NINE

(1) Ten . Nine o j‘l) Six . Tweleve
3) 2332 (4) Four : 2

e A9 ;o S B

(1) =Y : -9 (2) © : AR

@) 2%:3¢ (4) AR : 2

14 A train is running at a speed of 40 km/hr and it crosses a post in 18 seconds.
The length of the train

W a5 2ot saisl 40 [l e ALl ¢ B dl A d s oL 219
18 As~™l R 52 B, dl 2l dousS eell ?

(1) 190 metres (2) 160 metres

(3) 200 metres (4) 120 metres

1S How will you code "ACCOMMODATE", if S and V are coded as 8 and
5 respectively ?
A 'S BA VA wqsd '8 A 'S st At wwd dl dd
"ACCOMMODATE"® 3l datt »udl usi ?
(1) 26-24-24-12-14-14-12-23-26-7-22
(2) 26-24-24-12-14-14-23-12-7-26-22
(3) 26-25-25-12-14-14-23-12-7-26-22
(4) 26-24-24-12-14-14-23-21-12-26-7-22

16  If one-third of one-fourth of a number is 15, then three-tenth of that number
s .
A g AvAAL As-Aguid-l As-ddluia ‘15 udl €14, dl o AvAiL oA8L-
el dedl wiy ?
(1) 35 (2) 36
3) 45 4) 54

17 If 2805 - 2.55 = 1100, then 2805 - 255 = 92
) 2805 = 2.55 = 1100 €14, dl 2805 - 255 = 9

(1) 111 2) 1.1
¢ el @) 11
4 TOM of oo, o= 21 .
18 The HCF an ™M o 33" 55° 29 IS
14 42 21 R ,
—, —, — <l AU L ALAY D ?
33’ 55 22 4 4
7 42
— - —
) 330 ® 330
3 @ 21
) 165 165
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19

20

21

22

23

24

75% of 280 - 24% of 45 = ?
280+l 75% 45 24% =7
(1) 1945 (2) 195
(3) 1992 (4) 198

Let R = 4gs. When S=8. R=16. When S=10. R is equal to

HIRL 5, R = 4qs %4 S=8 A} R=16. 9413 S-10
R = ?

(I n (2) 20
(3) 14 4 21

What is the missing number in this series ?
Al Sl 56 vedl v & 7

3, 7, 12, 18, 25, 7

(1) 31 ) 32
(3) 33 4) 34

The sum of ages of 5 children born at the intervals of 3 years each is
50 years Find out the age of the youngest child ?

AR AL vidud olle -Aal wid ol Gyl i 50 @ B, ) Al
Al olasdl G Al sial ?

(1) 6 years (2) 5 years

(3) 4 years (4) 3 vyears

What per cent of 5/8 is 8/5 ?
5/8L %2dl 251 8/5 & ?

(1) 256 (2) 100
(3) o4 (4) 1024

How many times the digit zero would appear in the sequence of whole
numbers upto 111 ?

Pl 111 Yl yals v g Gyl dedl quid ay ?
(1) 21 (2) 19
(3) 20 4) 11

An accurate clock shows 8 o'clock in the morning. Through how many
degrees will the hour hand rotate when the clock shows
2 o'clock in the afternoon ?

215 A1l 4RI AAURL 8:00 sals ocld V. R4 4RUA HWRAL 2 00 sals
oidld R dRa-l sals s dedl Roflal s:Q ?

(1) 144° (2) 150°

(3) 168° (4) 180°
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Instruciton : Give answer of following question in context with MS Word.
-l ¢ (A0 wsll wUsl MS Worddl w-di avlld 2udl.

26

27

28

29

30

In MS Word, the key FI2 opens a

MS Worddl F12 sa-l Gulol 9 vilaal iy 8 7

(1) Save As dialog box (2) Open dialog box
(3) Save dialog box (4) Close dialog box

Which of the following is not a type of page margin ?

(1) Left (2) Right
(3) Center (4) Top
AAiiell SRl 4% HRDAAL wsR Yl ?
(1) Left (2) Right
(3) Center (4) Top

What is gutter margin ?

(1) Margin that is added to the left margin when printing

(2) Margin that is added to right margin when printing

(3) Margin that is added to the binding side of page when printing
(4) Margin that is added to the outside of the page when printing
Gutter 1R 24 ¢ ?

(1) Bidlor a8 36l oy Aval 2udg 1R

(2) Bu-dlor amd xnell ouy UMD 2dg 1w+

(3) Bui-dlot and ousS[Boidl oyl W2 ARl wdd HRDA

(4) Bl yHd o+l ouy AU dg AW

The ability to combine name and addresses with a standard document is
called

il Qsyi-en wenl AN A A A AAssL sl A g
sdaril »ud 8 7

(1) document formatting (2) database management

(3) mail merge (4) form letters

Which of the following helps to reduce spelling error in the document ?
QAniel Ao dsya-eii vuadl el ol 206l sami wee 52 B?
(1) Auto Format (2) Auto Correct

(3) Smart Tags (4) Auto Text
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31

32

33

34

35

36

With which view can you see how text and graphics will appear on the
printed page ?

S40 24 gL dd el A R0 [i2s Ui a4l 2vusl A wsS asl ) 7

(1) Normal (2) Print Layout
(3) Outline (4) Web Layout

What is the smallest and largest font size available in Font Size drop-down
Menu in formatting toolbar ?

(1) 8 and 72 (2) 8 and 68

(3) 6 and 68 (4) 6 and 72

Formatting toolbarMl »ll4dl Font Size drop-down menudi =44ed »19
4 Font Size 22dl €y & 7 9

(1) 8 24 72 (2) 8 ¥ 68

(3) 6 - 68 (4) 6 24 72

Which of the following line spacing is invalid ?
Al 56§ @i W vy S ?

(1) Multiple (2) Double
(3) Triple (4) Single

Which one is known as mailing list ?
Mailing list $41 «uHl siqvuy & ?

(1) Data source (2) Sheet
(3) Data sheet (4) Source

Which short key will use for saving document ?

SsA-2l AAS s Wi AA-unisll 565 soll-dl As WA GUAL KRAMT 20d
e ?

(1) Ctrl+N (2) Ctrl+S

3) Cul+O 4) Crurl+A

What is the shortcut-key for manual line break ?

54320 manual line break $dl 12 A-unidl 56 sl A5 WA GuElal
S5 29 8 7

(1) Ctrl + Enter (2) Alt + Enter
(3) Shift + Enter (4) Space + Enter
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Instruction : Give answer of following question in context with MS Excel.
-l : QA1 wsdl Ul MS Excel 4 i uv{ld suul.

37 In Excel, default how many worksheets can a workbook have ?
ExcelMi {8\ %edl worksheets 215 Al HA & 7
(1 3 (2) 8
(3) 255 (4) None of the above

38 What is the correct way to refer the cell A10 on sheet3 from sheetl ?
sheet3+l A10 SN (cell)d sheet1i Aelld sal W2 A GualeL Y & 7
(1) sheet3!Al0 (2) sheetl!AlO
(3) Sheet3. Al0 4y AIlO

39 In Excel, a Data Series is defined as what ?
ExcelMl Data Seriestt 58 Id etvdifid sl 2ud 8 ?
(1) A type of chart. (2) A cell reference.
(3) A collection of related data (4) A division of results

40 B7:B9 indicates :
B7:B9 ¢ sald & ?
(I) Cells B7 and cell B9 only.
(2) Cells B7 through B9.
(3) Cell B8 only.
(4) None of the above

41 The Delete key of keyboard is assigned to which command in Excel ?
Exceldi 4l 03l Delete 59 st su1 s3-2 g1 ueL 539 usiy & ?
(1) Edit >> Clear >> Contents
(2) Edit >> Clear >> All
(3) Edit >> Delete
(4) All of the above

42 A worksheet can have a maximum of Number of rows

Worksheetdl H$d¥ ALY &R &Y 2Y
(1) 256 (2) 1024
(3) 32000 (4) 65536

43 When a formatted number does not fit within a cell it displays

4R formatted 1R SNl EH Sl WA u A Hway g eulaal ?
(1) i (2) #DIV/0
(3) #DIV@ (4)  None of the above
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44

45

46

47

Which menu option can be used to split windows into two ?
[l & opaHl Al 2 s He Bl GuElaL iy 8§ 7
(1) Format ~ window (2)  View = window > split
(3) Window = split (4)  View > split

Which one short key is used for copy cell content ?

Aol 56 90 GuAloL s il Sl B Sl sa0 M2 i B ?
(1) Ctrl+S (2) Ctrl+W

(3) Ctr1+C (4) Ctrl+0O

Which one short key is used for Undo typing ?

ARniel 56 sl Gwdlol s il 28BN Undo s2aL H2 ay & 7
(1) Ctl+Z (2) Ctrl+W

(3) Ctrl+C (4) Ctrl+O

[n Excel, formulae always start with which sign ?
Exceldi, 3ot €l 58 As gL A3 A © ?

(1) @ 2) #

3) $ @ =

Instruction: Give answer of following question in context with e-mail.
Ja-il : QA Wl guel S-ASad i vl 0.

48

49

Which special character is compulsory part of any Email Address syntax?
S-u9ad AL 64BN AMidl s RN »a-l GuEldL $%UIduRlL
6wy B 7

(L 2 2) !

3) @ 4) *

From where you can find deleted email ?
g sl S-9a 59 wul aadl asy & 7
(1) Inbox (2) Sent
(3) Spam (4) Trash

What is full name of Cc in Email ?

S-ASemi Cod 2y, uH g B 7

(1) Caret Copy (2) Cross Copy
(3) Carbon Copy (4) Cancelled Copy
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51

S3

As a teenager which place did Shri Narendra Modi run away to”

(1) Haridwar (2) Himalayas

(3) Varanasi (4) Kerala

s d3el dild sl 2w el ouolla syl gqL el ?
(1) sRar (2) [suan

G) Al 4) %9

Which is the first Indian woman to win a medal in Olympics

(1) PT Usha (2) Karanama Malleswari
(3) Kujarani goddess (4) Bachendri pal
AU ues -l wan ardly uisay iS5 & 7

(1) dLé4. 6w (2)  SUH Hed 3]

(3)  sxu-l edl (4) oidl gy

The lead character in the film 'The Bandit Queen' has been played by

(1) Rupa Ganguly (2) Seema Biswas

(3) Pratibha Sinha (4) Shabana Azmi

et “‘a-fle sdldi e it S g eeaai e 8 ?
(1) 3w ARl 2) Y Bay

(3) ulaen Rist (4) sl 2uxsHl

A, B and C can do a piece of work in 20, 30 and 60 days respectively.
In how many days can A do the work if he is assisted by B and C on
every third day ?

A, B, v C 21454 20, 30 i 60 RaaHl siH-dl 215 ML 53U 4 8.
A £25 Al [Bad B v C gl Hee Al 2Ud dl 32dl Rausl A 1
s 53 w3 7

(1) 16 days (2) 18 days

(3) 12 days (4) 15 days

Who was known as Iron man of India ?
(1) Govind Ballabh Pant (2) Jawaharlal Nehru
(3) Subhash Chandra Bose (4) Sardar Vallabhbhai Patel

Rd - A (s yn) adld sle oy © ?
(1) o0Ee oledud (2) FasRALE 83
(3)  Youn s oy (4) AWR qe@HMHS Yed
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56  Rabindranath Tagore's 'Jana Gana Mana' has been adopted as India's
National Anthem. How many stanzas of the said song were adopted ?

(1) Only the first stanza (2) The whole song

(3) Third and Fourth stanza (4) First and Second stanza
WAl 201 =t AL Yo'l GRcteil Al ddlE L5 s vue
8. il ol el sflall davu wudl & ?

(1) =t way sdl (2) w4A 2ld

(3) Al 2w Al sl 4wy @ [kdld sd

57 The southernmost point of peninsular India, that is, Kanyakumari, is
(1) north of Tropic of Cancer (2) south of the Equator
(3) south of the Capricorn (4) north of the Equator
etidl el 912 sl ¢
(1) siqudl Gl »ude 8 (2) [ayaguedl elepu 2»da &
(3) usgudl sBeril dd 8 (4)  [Ayagd Gul »wdd B

S8 'OS' computer abbreviation usually means ?
(1) Order of Significance (2) Open Software
(3) Operating System (4) Optical Sensor
‘oA AAUAD s ol Akl Jd g g win ?
(1) 20R 20y R-lgls (2) 2y AgedR

(3) A [uem 4) »ifesd ARR

59 In Ramayana, Sita was sent to whose ashram for exile ?
(1) Valmiki (2) Vishwamitra
(3) Gautam (4) Kashyap
el AN Aldid Fal w2 Al 2uamdl Nsedl s ?
(1) sl 2) RaBiat
(3) °ldd 4) s¥M

60 Which city was the first venue of Asian Games ?

(1) Mumbai (2) Delhi
(3) Kolkata (4) Chennai
s w8k WRAA ARG NAy AL &g ?

(1) yas 2) kel
(3) Hasldl @) A~
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61

62

63

64

65

"Baton Cup" is associated with which sport ?

(1) Hockey (2) Football
(3) Cricket (4) Volleyball
‘Glad sY' 58 WYl Aeilud & 7

(1) sisl (2) seolid
(3) [3e (4) didlelid

Which gas in the atmosphere protects us from the ultraviolet rays?

(1) Nitrogen (2) Ozone

(3) Oxygen (4) Carbon dioxide
qualaRel Wal s iy urwedl Bel 4t suuell e s 8 7
(1)  ~usa%- (2) A

(3) ARl (4) sl QUSRS
What is the time limit to sing national anthem ?

(1) 52 seconds (2) 48 seconds

(3) 60 seconds (4) 34 seconds
AAld suar-l axy wulel 3edl © 7

(1) 52 A3 (2) 48 As

(3) 60 Ass (4) 34 As=s

Who became the new CEO of Google ?

(1) Marissa Mayer (2) Satya Nadella
(3) Sundar Pichai (4) Indra Nooyi
dPrdl «al Al SRl ol ?

(1) AL qAR (2) ¥l -12d
(3) er s (4) Swa -l
What is the name of the biggest city of Africa ?
(1) Cairo (2) Nerobi

(3) Abuja (4) Lagos
2flsil W0l Nt wd un g B ?

(1) 54 2) el

3) o ) arly
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66

67

68

69

70

"Blue Pottery" art is associated with which Indian state ?

(1) Rajasthan (2) Maharashtra
(3) Assam (4) Goa

‘o I2dl' sl MRddl su wul doifid B 7
(1) U (2) HeRR

(3)  HRUA (4) 2l

Which city was the capital of Madhya Pradesh till 1956

(1) Mumbai (2) Nagpur
(3) Nashik (4) Shimla
1956 Yl woueadl uwwidl sumidl sui wdwi edl ?
(1) ¥Hus (2) YR
(3) s 4)  dlnan

What is the profession of Ms. Sushma Swaraj ?

(1) Doctor (2) Lawyer
(3) Engineer (4) Architect
AL QA% Ay g B® ?

(1) %R (2) asla

3) Al 4) ulkes

"Just Do It" is the tagline of which brand ?

(1) Pepsi (2) Nike

(3) Move (4) Pentium 4
‘g 3 92 59 sl 29 @i ] ?

(1) =l (2) -uss

(3) ¥4 (4) u-dun 4

Who was the music composer of the film "Masum" of Shekhar Kapur ?

(1) Rajesh Roshan (2) Bappi Lahin
(3) Jagjt Singh (4) R D Burman
ik syl Fet suyd’«i WA(ldasi e sdl ?
(1) AFA AU 2) ol addl
(3) ¥°1d Ris 4) .40
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71  On which riverbank is Goa located ?
(1) Ganga (2) Mandovi
(3) Gomti (4) Sabarmati
olal ud 585 gl B4R »uaq © 7
(1) 2 (2) izl
(3) 2ladl (4)  AWGRM
72 Which of the following is not in Mumbai ?
(1) The Gateway of India (2) The Kamala Nehru Park
(3) Juhu Beach (4) Charminar
sudidl 58 UL HoudHi el ?
(1) 4 92 4 »ls S=ul (2) H sMal 83 W
(3) %¢ olla @) ARMAR
73  Which animal is called Sea Horse in Greek ?
(1) Rhino (2) Crocodile
(3) Zebra (4) Hippopotamus
sl suL AMa eRUS WA 8y & 7
(1) SQ (2) HARHAY
(3) el 4)  [ses
74  Which of the following does not have Lungs ?
(1) Amphibians (2) Fish
(3) Snake (4) Birds
2dl 4l @9 B A AL Al ll ?
(1) B (2) uwdl
(3) AWM (4) wal
75  Khella Sarai, Purulia and Mayurbhanj are different forms of which dance?
(1) Chhau (2) Satriya
(3) Maach (4) Dhuriya
vledl AU, Y3RAL A HYReIw sS4l Al R el 8 7
(1) G 2) uBa
(G) WA 4) YRw
ON15 A ] Page 16



76

77

78

79

80

81

82

83

84

I am a bit lonely. I need somebody to talk
(1) at (2) with
(3) on (4) to

The word the most similar in meaning : 'particular’ -

(1) definite (2) special

(3) significant (4) specific

If you __ in advance, you will get discount.
(1) buy (2) work

(3) submit (4) pay

Poetry : B

(1) Novelist (2) Poet

(3) Essayist (4) Author

How many vowel sounds are there in English language ?
(1) 5 2) 6
3) 19 4 20

Identify the part of speech of the underlined word.
It 1s very sweet juice.

(1) noun (2) wverb

(3) adjective (4) adverb

Which of the following sentences is correct ?
(1) 1 cannot work hard. (2) 1 can not work hard.
(3) He go to school. (4) None of these three

What can be used in salutation, if a lady doesn't want to be identified
either married or unmarried ?

(1) Miss (2) Mrs.
G) Ms. 4 Mo

"Is' is known as _
(1) main verb (2) subordinate verb
(3) auxihary (4) modal verb
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85 Complete the following sentence -
My son asked me -
(1) 1t 1 was not well (2) that T was not well.
(3) 1if 1 am not well (4) that I am not well
86 Suman is one of the cleverest B of the class.
(1) student (2) students
(3) student's (4) None of these
87 Complete the sentence :
Shan said _
(1) honesty is the best policy
(2) that honesty was the best policy
(3) why honesty is the best policy
(4) that honesty is the best policy.
88 Find the odd out:
(1) frying pan (2) plates
(3) bowl (4) spoon
89 This box is heavy to carry
(1) so (2) too
(3) to (4) that
90 Find the odd out
(1) good : better (2) clever : cleverer
(3) heavy : heavier (4) poor . poorer
91 The temple in 1856 AD.
(1) is built (2) was built
(3) s being built (4) is building
92 Find the odd out :
(1) plus : minus (2) add : subtract
(3) multiply : divide (4) None of these
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923

9%

95

96

97

98

929

100

The people next door are furious with us ~ making so much
noise last night. T

(1) for (2) with

(3) to (4) of

This is book written by Subhash Gokhale.
() a (2) an

(3) the (4) None of these three

Doctor : Hospital ::
(1) Water : Reservoir (2) Farmer : Village
(3) Plumber : Wrench (4) Chef: Kitchen

Which of the following sentences is incorrect ?

(1) The doctor advised me to take medicines regularly.
(2) The doctor adviced me to take medicines regularly.
(3) The doctor advised me to exercise regularly.

(4) None of these

Keep your books the table.
(1) in (2) on
(3) over (4) at

If you want to place an order to procure some material, you will draft

(1) purchase order (2) complaint letter
(3) requisition letter (4) inquiry letter

Video : Cassette :: Computer :
(1) Reels (2) Recordings
(3) Floppy (4) Files

Find out the noun from the following words
(1) honesty (2) write
(3) push (4) sing
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102

103

104

105

106

107

108

109

110
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%l
Ll weeld s wmudl.

(1) Gedyd- — 249:Yd- (2) Gla — saxla
3) Gedala — 4 4) 2y - uq@
BA9L 5L WU - ALAYS WS s Yoe QU

(1) 6495 2) ¥yl

(3) AvNedly 4) weelly

gl Al eeudl.

(1) 2ud (2) g

(3) lgs 4) 2ud

WRRL 614 AMAIL @isl 2l €A - uetAS M s A BN,
(1) &R 2) o

() s 4) €3

‘o4l Al dudl qu oedl
Ay 7el ydl»i
— ESRY UM UYL
(1) Guxw (2) 34s
(3) Gdlau (4) -9y

Al el bl

(1) Adl 2) A
(3) sS4l 4) adl
Aol 2uha woed wx-udl woe N4 :
ywyy-q)

(1) sl 2) R
(3)  Yusr (4) s1Mzq

QAL wceld Wy Ai§ weudl.

(1) Rad - sH0d (2) [ - add]
(3) %3 - vlaws 4) el — w[Ey+
e ¥ q qu 8,

(1) 2= (2) WA

(3) s (4) s

‘logoll’~l wxld weuAl.
(1) elld-l 2) wbi-l
(3) sl 4) wRkel



111

112

Aol 84 Rs§ W | ?

(1) Gy ddrd - ey us§ oq
2) Al Rl - adg sdl
(3) sl Y sl — v aeq
(4) A4 sug - 21 %q

A1 3RuAEA we ).
v S wd)

(1) Gl 2yadl (2) WA iadl
(3) sl ¥q (4) Yy Wy
113 ‘Ud-a’ w2 sl doe Yoy 8 ?
(1) sMa (2) wjav
(3) 3RNey 4) Ase
114 QA-uxifl s wse Y’ woe) uwyly 2l ?
1) [ 2 =nd
3) «® @ [~
115 (A-unidfl s wse WAL wsuell <l ?
(1) sula-<l (2) Agqdl
(3) el @) el
116 ‘asigl v’ 3RuAel e amudl.
(1)  Au-3vu (2) am@ £3dl 3w
(3) 4w 4) walel
117 ‘S8¢ 2l QU - AeAys 2 s ArIRS woe ) B ?
(1) el Lun 2)  udl 2un
(3) Ml 4) sl sy
118 ‘Dl AA ykt wie SRA @ - WLAHS U2 A5 AURS Aoe 540 B 7
(1) ¥RUWR 2) uusdl-
(3) WA (4) JWIR
119 0Aq asasidl Fud Q4 e
YAl aigs 2wl weL el w¥ 8.
(1) *8s 2) u
(3) uel @ ¥
120 0A-u sumidl Aders zdavudl.
Wy Glodl 2yl A WAL @Ryl
1) Qed ) ud
G) =1 @) ardl
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&=
101 9ee & IR gl shiew ¥ 3W AW § wEE @
(1) gwga fe= (2) ymET U &=
(3) gaaE U gEell @) T U =
102 Frefafed Taisn & vt 99T & Iox AR
YA YA WEW UE, UH Ui § @ @9,
S B ¥ I A b GAd SEAT @A O,
TS B IS WE HC § gEOHE feg wAd
gy A g8 HE urel, ¥ o wig @y
TS WAl & IO ¥ BH UGl H AHA & B SEH ...
(1) u& =9 st w@a R &
(2) @ FEAWH ATH H JUA T
3) fog goaae uwar & @@ ¥
(4) @ & HEw § I9EM H Hawl g% B 9o & |
103 ‘| FaET gEEX & oo §

(1) @ @le 2) (1) &R (2)

(3) WF @ 9y & (4) GI FAE B
104 dgH, deWa, 9 iR Rl or=f &1 afteeor

(1) (@ & AER W 2) &a & WYY W

(3) WO & HHUR UT @) o F U w

105 Fr=faflaa @regisn & a9 & IOX g |
wg # g1 @9 X @
ag Bt ¥ H AT &
gy siftmmn fafe ma,
e dus @ HiE
ghaaw w9 wEw %,
| oo G |
ghear T FER %, 9 % I
T B F W F fied & @ fpue wfa & @
(1) dufa (2) w8
(3) 3w (4) 9 @WH
106 fpan fasowr & g1 yaR & -

107 fr=fafaa o=t @t auiamenr &% A foflag -

(1) wrf, |EY, yEgmEr, fastet
(2) wwm, Ort, faoel, 9asmE
(3) faoeh, wvt, waw, wREswEn
(4) @, fawelr, @Art, "Ew
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109

110

111

112

113

114

115

116

117

118

119

120

fatfe s @1 foem o=

(1) ol (2) g

(3) wi 4) FhF
TEufiE AR @ g8 @A W aEde TR weH fear @
(1) Foas (2) <y
(3) Tash (4) TH N TE
TS = Hw T oiEdd -

(1) Surrtyer (2) IUHSHI

(3) SuTED (4) SurEfTE
A WA W 9gYed W den ¢ [99eer §aRy |
(1) @ (2) g

(3) wmEM 4) %<

Bt s & guE @& yeR q9Ey |

() == (2) wEHAIfE

(3) wduE @ fag

AR g & o ufEds #ifag

(1) 9= (2) T

(3) ==l @) el
‘FUUT 9= & wwigeEl o= faigo |

(1) J& aJmur (2) HIER

(3) wsd (4) @ @ AHR
HF T 9= oW %Y Yhe H@T &7

(1) wwaEr (2) FwgE

(3) FEHUH (4)

U 9 @y fyede =

(1) & + T 2) &1 + T
(¢) ® + Wi 4 wq +
9o % faem = § a9 g oW umar ¥ 2
(1) maFsT (2) o=

(3) @ 4) ==

T = W Y =@HEY FGRY |

(1 3+3 @ $+3

(3) dmt @ 3 +%

T Y B W UK e WE ¥ ?

(1) 3§ (2) =&

(3) @ (4) wTw

T @ A T - VG & WU s g fafag
(1) weE™ERd (2) g

(3) 9T (4)
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SPACE FOR ROUGH WORK / 25 S1H H120il ovd21

"
| wlan y3l a2 one Buzaél (OMR SHEET) il ilaisa
|| ya 5l olle ¥ adlvis Bisaich 222,

| N AH saRi 54 adell Rizaeidai yiai el

| vyai #R2 ¥ 4 GAeura NarRIE daarii 4.

L
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Indian Institute of Teacher Education

(A State Public University established by Government of Gujarat)

PTPT (Pre Entry Test for Prospective Teachers) -2015

- Test for programme : B.Sc. B.Ed./ B.A. B.Ed.
- Area to be covered in Test:

COMPONENT MARKS

1.General Knowledge 30
2.Languages - English 20

(Comprehension, Grammar,

Vocabulary)
3.Languages — Gujarati or Hind1 10

(Comprehension, Grammar,

Vocabulary)
4. Numerical Ability 15
5.Logical Reasoning 15
6. Teaching Aptitude 10

Total 100
Duration of the Test : 120 minutes
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G-l A2 xR BRea-l adl wi$ [Alasl adl
auy ;120 [Wlw2 54 usl ;120 4 3. : 120
- - - i . -
GUEwRA YA : = Instructions to Candidates :
| |
(1) »y !l’-i‘if%?'l&l‘li 54 120 Wl B, ché: (h ;l‘he;'!e ;11:1:} 120 qunsli(;ns i}:: the lp.ul
Wi Getx (1), (2). (3) ¥ (4) A4l 4w boo et. The answer o (.-1‘( question
b . 1s any one out of (1), (2), (3) and
As 8. wenAl WA o Ry [sell 2”‘mu‘“'“: (4). Four alternatives are given with
lAdl B, dHIR a4l % W4l Gl the question. You have to answer all
YAl B s the questions.

- =y Fes W Gk AR .
(2) uASs usdL A=A Bz 1 (As) AR D .. 2)  lach correct answer carries one mark.
( (3) For each wrong answer —.25 mark

3) ucds vlal Gz M2 —.25 8L LA r
L] will be deducted.

| |
Ul m (1) You have to answer on the

(1) Gr3 2qal %2 =ady Grnqe‘l: OMR Sheet is given separately to
(OMR SHEET) 21Vl 8.

G AL Geleel WHIEL AL 8.
oud-L welidl 4l 4Rl »lave 8 ?
(1) AER w24

(2) wele 2l

(3) Yenag sl

(4) [-dleu oud

Guiadl (Answer Sheet) i

0, 0O

GUA5d wA-l AR B (2)
el '(2)'4 ada 4ig (encode) 5@
(5) »u weyfRsidi 59 % avald -4l

) v yel ad usyRust ¥ Guradl
wisfdasd ya Al 2al.

(7) s wna wulet 120 Bk 8.
(8) Gurradlui GdA aedl 3 siol Adl-la

you. For example

Who was the known as Father of
Nation of India ?

(1) Sardar Patel

(2) Mahatma Gandhi

(3) Subhashchandra Bose

(1) Vinoba Bhave

In OMR answer sheet -

OO®®

The true answer is '(2)'. Hence circle
of '(2)' 1s darkened (encoded).

(5) Don't write anything on the test
booklet

(6) Hand over Test Booklet and OMR
answer sheet to the supervisor,
after examination is over.

8.
8.

(M Time limit for this test i1s 120
minutes.

(8) Use blue or black inked ballpoint
pen for filling responses in the OMR

a0 $-2 Urell syt 8. vy aidl, . Answer Sheet. Any other ink. pen or
U 2 AR Gyl 59 usd 4. ¢ Peneil s strictly prohibited.

(9) GAealk wa suis 101-12040 Aaudla ) For questions 101-120, candidates
aiual Gavdl Ranasiell A A 215 Rl have to select one subject from

English or Gujarati or Hindi, and

wiedll s GuR sunalil 288, then answer of them.

uilai Y3 & olle wRery(Fist el OMR Guradl @l eidlaisl ud sl cie « aofvis Blsaiel 282.
AH s2ani sy wdell Rracidiel wiai aefl wlan w2 & A GAedial Neius Baami .
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(1) 48

(3) o4

4 14243+....+98+99+100 =
(1) 5050

(3) 5000

5 8, 27, 64,
(1) 81
(3) 120
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6 25 %42 x = 1575,
(1) 25 (2) 15
(3) 35 (4) 6.5

7 25% of 1200 + 35% of 1500 = % of 2000.
1200 il 25% + 1500 «il 35% = 2000 « %
(1 21 (2) 405
(3) 45 (4) 4125

8 l+l+.-]_+l —
2 3 5 6
B - 2 2
(1) 5 (2) 5
L 5 o 6
3) 6 4) 5
9 25% of 6000 = % of 3000.
6000 -l 25% = 3000 -~ %
(1) 25 (2) 45
(3) 50 @) 75
a 2 b 4 a+b
10 If E—g and 2—3 then e
@ HE o 27+ & atb _
b 5 T3 ™ Bue
8 5
(1) 5 (2) 1
4 2
3) = 4) 5
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12

13

14

15

Which of the following fractions is the smallest ?

Al siyeissidl sal »iyels el Al & ?

g 11 12

7
57107 157 15

iy =
)5

11

(3) 15

105 %3000 x 150
21x3x25

(1) 15000

(3) 20000

1.5x7.5x3.5
25x07

(1) 225

(3) 0.225

If POWER = OPVFQ, then WATER =

(2)

(4)

% POWER = OPVFQ, dl WATER =

(1) VBSDS
(3) VBVFQ

2000

(nH =
G) =
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1000

(2)
4

(2)
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16 What is the product of three consecutive numbers whose sum is 36 ?
el Al 36 At ddl el sBis vl oRusR dedl wy ?
(1) 1e6l6 (2) 1236

(3) 1716 (4) 1536

17 If 8*2=41, 4*6 =23 and 6*8 =34. then 6*4 =
A 8*2 =41, 4*6 =23 2 6*8 =34, dl 6%4 =
(1) 16 2) 32
(3) 46 4) 34

18 P is R's brother, S is T's father, U is R's mother. P and T are brothers.
How is U related to S ?

(1) Sister (2) Sister-in-law
(3) Niece (4) Wife

PARAMSS, SATARUSD, UaA R L1t 8, P 23 T oyl
8. dl Ul S -l il ey g e ?

(1) o~ 2) il

3) oAl (4) ucl
[9 2|n =

(1) 1024 (2) 256

(3) 20 4) 512

20 To earn a profit of 15% at what price should a product costing Rs.
800 be sold ?

3. 8001 axg 15% <8l Aaaal edl 3w qudl AsA ?
(1) Rs. 900 (2) Rs. 815
(3) Rs. 920 (4) Rs. 820
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23

24

25

Who would be the possible chair person of University court (senet)
meeting ”

(1)  Chancellor (2)  Vice-chancellor

(3) Pro-Vice chancellor (4) (1), (2) and (3) all

RaRidl g2 (A-2) weu Aol A2 wd+ fel a9 us 7

(1) galulq (2) gauld

(3) Gugauld (4) (1), (2) 2= (3) o4l

Who would be the first rival of self financed college teacher disput with
management 7

(1) Managing Trustee (2) Registrar

(3) Vice Chancellor (4) Pro-Vice chancellor

q-[Melz S1d%1 Riais-l dznas {3 1A e w2y wlael se €
ay ?

(1) Al 29l 2) Wrzr

(3) sauld (4) Gugaula

Arrange (1) Act (2) Rules (3) Ordinances (4) Statute in down word power.
(1) @52 (2) 3@ (3) 2UB4A 241 (4) WA Al Bddl s34 2sal.
(1) (2), @), 3), (1) 2y (1), 4. 3), (2)
(3) (2), (1), 3), 4) 4) (1), (2), (4). 3)

Which of the following sent recommendation of affiliation of college to
Exicutive Council (Syndicate)

(1) Board of study

(2) University Court (Senet)

(3) Accademic council

(4) Board of University Teaching and Research

QAidl S 514% Asedl camel ABBYRa 516R (RiF32)A
Wsald 8 7

(1) o8 »{is 4

2) yHaRd 92 [@A2)

() AR5 s6RAa

4) o8 llg yMaRE AR A= Jad

Who of the following gives the equivalance certificate to the foreign degree
examination ?

(1) Registrar

(2) Association of Indian Universities

(3) Ministry of Human Resource Development

(4) Vice Chancellor

el fer @l Rl udlaun aMsddid wHRNAL 20l B ?
(1) xR

2) RAa s SR YRl

(3) ™ A RS Hnay

(4) ASA AAER

THRE15_A | Page 6
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27

28

29

30

Who decide the examination fees of courses of University ?

(1) Registrar (2) Controllor of examination
(3) Vice-chancellor (4) None of (1), (2) and (3)
YHaRA SRR udlan 4l Qe s8] 52 B ?

(1) R

(2) wla ~aums
(3) AU ATAER
@) (1), (2) 21 (3) 4idl 25 o «d]

Who decide the remuneration rate of examiners of University ?
(1) Executive Council (Syndicate) (2) Vice-chancellor

(3) Chancellor (4) Government
YHAREAL ulabil Ysi- 62 8L s8] 53 8 ?

(1) syl si6lRua (BuR32) 2) wsa AR

(3) wAerR (4) IR

What is the type of membership of Vice-chancellor in Executive Council
(syndicate) ?

(1) Ex-officio (2) Permanent

(3) Invitee (4) None of (1), (2) and (3)
slEnsyled sGMRQAHT USYH AAGR] AU Ue 54 UsiRY, O 7

(1)  As-0BRI

2) suMl

(3) wilad

(4) (1), (2) @1 (3) HiEll 25 ya 4.

Who has the power to inspect the State University ?
(1) State Government

(2) Governor

(3) Both (1) and (2)

(4) None of (1), (2) and (3)

2 YMaRid S-qaq s 2AlSR A & ?

(1) AN AR

(2) AR

(3) (1) 21 (2) ¢

4) (1), (2) 21 (3) %idl s yer «dl

What certificate is compulsory for the admission of the students of other
university ?

(1) Transfer certificate (2) Degree certificate

(3) Migration certificate (4) None of (1), (2) and (3)

iy YAl Renel- wda w2 s wira €id s 8 ?

(1) arue 83

2) Rl udls13e

(3) udAu udgl3e

4) (1), (2) »4 (3) idl s yRL Al

THREIS_A | Page 7



31  Who plays the key role in policy making of University ?

(1) Vice-chancellor (2) Deans

(3) Controllor of Examination  (4) Registrar
YRl Al Ruiemi fer adlzy o &z 8 7
(1) sauld 2) A«

(3) uila s (4)  sauluq

32 Plan Grant of University is -
(1) Maintanance grant (2) Development grant
(3) Contingency grant (4) None of (1), (2) and (3)
YMAREHl e e 22q -
(1) [Moua e
(2) s w-e
(3) sl w-e
(4) (1), (2) 27 (3) %Al aAs yel 4l

33  Which body of University confer degree by resolution ?
(1) Board of Study
(2) Accademic Council
(3) Faculty
(4) None of (1), (2) and (3)
yMaRidld £4 Adnism sua ydR s34 RAl Anad 2 8 ?
(1) ol »iis 224
(2) w5 516y
(3) Fsedl
(4) (1), (2) @ (3) Hidl s yeL ¢l

34 Which body of University has no role in permission of syllabus of
university ?

(1) Executive Council (2) Finance Committee
(3) Accademic Council (4) Board of Study
YaRl-L suL Adeisa-dl YRl seqrsH HoR uviaHi oBs 4] ?
(1) ¥Epsyla 564 (2)  -ueusly Bk
() uRMs sGRa @) ol s wi»
35 What type of examination is not relevant to CBCS system ?
(1) Yearly (2) Semester
(3) Trimester (4) None of (1), (2) and (3)
Aol An. uglt wd sur wsRAl uilan GRA <ol ?
(1) alls
(2) AAld
(3) [FAld

@) (1), (2) 2 (3) Hidl 215 yeL <l

THREIS A ] Page 8



36  Who 1s the main administrative officer of University ?

(1) Chancellor (2) Registrar
(3) Pro-vice chancellor (4)  Vice-chancellor
YR oy adladl sl S & 7
() senlayld (2) gauluq
(3)  Gugaul 4) saula
37  Who decide the service conditions of the State Government College
Teachers ?
(1) UGC (2) MHRD
(3) State Government (4) Governor
UL AR Q%1 2 Aai-l 2l AR s8] 3 ] ?
() y.2 .. (2) A AR
(3) AR AR 4) Aa-d

38 Who is eligible for paternity leave ?

(1) Female to be mother (2) Mother of new bornchild
(3) Male to be father (4) Father of new born child
feL 4eldl e A & ?

(1) Ml otz = (2)  di el oasl Yl
(3) [l e+ y3u (4) A FHal ouasH [dl

39  Which of the following is not regulatory agency ?

(1) AICTE (2) NCTE

(3) MCI (4) NAAC
AAunidfl 58 @ FasAss ] ?

(1) .28..4.96. (2) .4.4.9.
(3) . A.2us. 4) Al

40 Which of the following institute is only for College Teacher Training ?

(1) NTE (2) GCERT

(3) ASE (4) DIET
AAanizl 56 den WA s14% Rl adly w2 8 ?
(1) »usd.»ud.2.9. 2) 2.Al.9.2x1R.2.
(3) ¥y Al @) Q.2u8.9.4.

THREIS A | Page 9
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42

43

44

45

Which of the following programms is used to start the computer ?

(1) MS Word (2) MS Excel

(3)  Windows Operating System (4) MS. PowerPoint
54234 Al sl il s Wl 32 w7

(1) MS Word (2) MS Excel

(3)  Windows Operating System (4) MS PowerPoint

Which of the following is NOT an operating system ?

(1) DOS (2)  Outlook
(3) Windows (4) Unix
il 40 Wium operating Rizey ol ?
(1) DOS (2)  Outlook
(3) Windows (4) Unix

Deleted files/folders are stored in

(1) My Computer (2) Control Panel

(3) Recycle Bin (4) Recovery Bin
s42340Y| deleted 53d file @A folder s4i A >ud & ?
(1) My Computer (2) Control Panel
(3) Recycle Bin (4) Recovery Bin

Which of the following programs is used for writing letters, reports or

memos ?

(1) Paint Brush (2) MS Excel

(3) MS PowerPoint (4) MS Word

A-unil sl WAH YA, e YA AU QuAl M2 AN wsy ?
(1) Paint Brush (2) MS Excel

(3) MS PowerPoint (4) MS Word

Which information is kept in the data file for Mail Merge ?

(1) The information that changes for every letter

(2) The static information that does not change for every letter

(3) Both (1) and (2)

(4) None of these

Ava HFll data filedi 58 (@3l Al »d & ?

(1) % sulsdl seadl €y d 2) % wdl deaqdl - €y d
(G) [sed (1) @A (2) ol (4)  wula U8l s ye «dl

THREIS A | Page 10
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48

49

Which of the following software should be used to keep track of monthly

expenses under different heads and see the totals and graphs at the end
of the month ?

(1) MS Word (2) MS Excel
(3) MS PowerPoint (4) MS Windows

WRLs 9 vl el Yel headdi [Baol vl 2 {8 2id R4 214
Als ANl 54 software ARy AV 7

(1) MS Word (2) MS Excel
(3) MS PowerPoint (4) MS Windows
The smallest unit for storing data in MS Excel is

(1) Box (2) Cell

(3) Address (4) Table

MS Excel Hl 2l AAs 4l ¥2 GUARML Adldl il 253
58 0.

(1) s 2) A4
(B) 23 @) o4

In your departmental meeting you want to present your ideas clearly,
systematically and in effective manner. Which software will you use ?
(1) MS Word (2) MS Excel

(3) MS PowerPoint (4) MS Windows

ML department-ll H{1al qil BARlA A, si6e 21 2usds A
RY SRl £ software AU 7

(1) MS Word (2) MS Excel
(3) MS PowerPoint (4) MS Windows

What 1s the full form of TCP/IP ?

(1) Transmission Control Protocol/Internet Protocol
(2) Transfer Control Protocol/Internet Protocol

(3) Transmission Control Practice/Internet Protocol
(4) Trans Communication Protocol/Internet Protocol
TCP/IP < &y 1 ¢ & 7

(1) Transmission Control Protocol/Internet Protocol
(2) Transfer Control Protocol/Internet Protocol

(3) Transmission Control Practice/Internet Protocol
(4) Trans Communication protocol/Internet Protocol

What is abc_123@in.com ?

abc_123@in.com g & ?

(1) IP address (2) TCP address
(3) URL (4) E mail id

THREIS A | Page 11



54

In which software would you find Contacts and address book ?
Contacts 24+t address book %1 softwaredl »d & 7

(1) MS Outlook (2) MS Word

(3) MS Excel (4)  MS PowerPoint

One needs to perform number of tasks when setting up a new office. One
has to keep track of schedule and expenses also. Which software would
you use to manage these things nicely ?

Al >l wg s qell oY) tasks 52l W3 B, schedule A wRle 2y
WA W3 B il off A A manage 52al 54 software 41yl ?

(1) MS Word (2) MS Excel
(3) MS PowerPoint (4) MS Project

In which software would you come across words like task. resource. Gantt
chart, milestones etc ?

Task, resource, Gantt chart, milestones Q3 266l %41 softwaredi 2Ud 97
(1) MS Word (2) MS Excel
(3) MS PowerPoint (4) MS Project

Which one is the smallest network out of following four ?
ARAAHil AHD -] network 5 & ?

(1) MAN (2) WAN

(3) LAN (4) Internet

Copying a file from a remote computer to your desktop is called

(1) Uploading (2) Downloading

(3) Search (4) None of these

REU s udl Wttt s2edl filell wisd au 5147 g 53 B ?
(1) 2y didla (2)  AG dlda

3) ud 4) 2Ud A5 yo «d[.

THREIS A | Fage 12



356 Every web page is given a unique address What is it called ?

(el £35 ol eadld%=l »uuadi 2ddl RS A s4l el
2ol »d 8 ?
(1) URL (2) W3C

(3) WwWw (4) None of these

57 Gujarat Government's VPN is known as
A%AL AR o-ldg, VPN sl uHel losuy & 7
(1) LAN (2) WAN

(3) GSWAN (4) MAN

58  Which of the following is NOT a storage device ?
AA-uniefl 84 w4t (device) data waad 2 <l il asig ?
(1) Pendrive (2) CD

(3) Floppy (4) Printer

59 A computer program that spreads on its own and damages a computer is

called

Waldl otd 33T 21 SR qst sadl a8,
(1) Browser (2) Operating System

(3) Firewall (4) Virus

60 Which of the following software will you use to prepare a nice
graphic, save it and make it a wall paper ?

25 e graphic oi-udl, save s3 21 R$AW W wall paper oi-uaal 54
software aual ?

(1) Paint (2) MS Word

(3) MS Excel (4) MS PowerPoint

THREIS A | Page 13



61  The members of Lok Sabha hold office for a term of

(1) 4 years (2) 5 vyears

(3) 6 vears (4) 3 :\'ears
AsUGL AR g yed 2 B 4A B,
(1) 4 ad (2) 5 ay

(3) oav 4 3ad

62  In which country commonwealth games were held in 2010 2

(1) India (2) Canada
(C) Malaysia (4) Australia
201041 S13de 33y AL 2ami Dons el ?

(1) ®Rd (2) 314

(3) waAlwu (4) el

63  Who is the current Chief Election Commissioner of India ?

(1) Dr. Nasim Zaidi (2) H. S. Brahma
(3) V. S Sampath (4) S Y Quraishi
SRcl L el oy el sPa-r s e ?

(1) 8. -Rx 3 2) WA, 96l
(3) dl.xy. duy 4) .. 52l

64 Who is the current Lok Sabha Speaker ?

(1) T. K Viswanathan (2) Arvind Panagariya

(3) Mrs Sumitra Mahajan (D) Mohammad Hamid Ansari
AL dlsueiii s seL d ?

(1) &% Ra-u- (2) de waARa

(3)  ludl Yo s (4) e elfie sl

65 What is full form of DIY on social media ?

(1) Do it year-on-year (2) Does it yours
(3) Don't incur yourself (4) Do it yourself
AR5 {IR wR DIY yelazu g8 7

(1) Do it year-on-year (2) Does it yours
(3) Don't incur yourself (4) Do it yourself
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66

Subramanian Swamy belongs to which State in India ?

(1)  Andhra Pradesh (2) Tamil Nadu
(3) Kerala (4) Karnataka
JoHeAH | R AL 5L AU D 7
(1) 24 wew 2) ala-ug
(3) %R 4) sel2s
67  Who wrote the famous book - 'We the people”?
(I) T N.Kaul (2) J R D. Tata
(3) Khushwant Singh (4) Nani Palkhivala
UbUId Y 'We the people' 5181 @vy & ?
(1) 2. 2. fg (2) %. xR, . 2L
(3) vuddRis 4)  udl wavlaen
68  Which of the following books has been written by Vikram Seth ?
(1) My God Died Young (2) Islamic Bomb
(3) Look Back in Anger (4) A Suitable Boy
Al 53 yads Risy As s @uiami 202 S ?
(1) = 203 ads A2 (2) SRals oo
(3) 45 65 S AR (4) 2 yeud oy
69 Who wrote the poem "Jatayu" ?
(1) Sitanshu Yashaschandra (2) Priyakant Maniar
(3) Harindra Dave (4) Umashankar Joshi
“or21y” sludl sleL avll ?
(1) [Rudiy 2aRis (2) Busia wRuR
(3) edg ed (4) Gauais vl
70  Where was India's first Science City inaugurated ?
(1) New Delhi (2) Kolkata
(3) Mumbai (4) Pune
oyl aduay A= A sui 2adl 8 ?
() -y kedl (2) Sasidl
3) Has @) vl
THRE15 A | Page 15



71

72

73

74

8

Melting point of ice can be reduced by -

(1) Water (2) Milk
(3) Curd (4)  Salt
4L Al 05 Ad-Ais {9 sA1Mi 11 B 7
(H  well (2) <N
(3) edl 4) g

Spacecraft Luna 1, Luna 2 and Luna 3 explored which astronomical object
for the first time ?

(1) Moon (2) Mars

(3) Jupiter (4) Mercury

HATla e gril-1, G2 2 gei-3 A 565 wollollu argd naMaiR »i-ave
8q ?

(1) A=l (2) ¥am As

(3) R A (4) o4 A

Who played the character of the mother of Dimple Kapadia in the movie
"Rudali" directed by Kalpana Lajmi ?

(1) Rakhi (2) Rekha

(3) Asha Parekh (4) Wahida Rehman

seurit Al MERud ey ‘3eiel’i Raa siulRui sl oyfbis S8 53
sdl ?

(1) 2wl (2) wu

(3) A wRA (4) adlel WA

Which is the oldest stock exchange in Asia ?

(1) Tokyo Stock Exchange (2) Hong Kong Stock Exchange
(3) Shanghai Stock Exchange (4) Bombay Stock Exchange
AR Alel g €5 AsA- 54 D ?

(1) 254l €5 A5uA (2) SlBsdL RS ALAAY
(G) WS W5 suA-y (4) o8 s AsAA-
What is the nickname of Labhshankar Thakar ?

(1) Sunderam (2) Sehen

(3) B K Thakore (4) Punarvasu

ALMALSR b5+ GU-A RuAl.

(1) Yey (2) Ae-l

(3) o.5. 8L5R ) yrdy
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76  Who was the inventor of telephone ?

(1) Alexander Graham Bell (2) Thomas Alva Edison
(3) James Watt (4) Charles Darwin
g1l 2y 9181 53] el ?

(1) AdsBis As Ad (2) 4 leal AURAA
(3) ¥ de 4) Rl ad-

77 Ahuman body has how many bones ?
MBI AR Seai sissi Yy B 7
(1) 108 (2) 196
(3) 206 4) 336

78 Who discovered that the Earth moves around the Sun ?

(1) Newton (2) Dalton

(3) Copernicus (4) Einstein
S AAHE d 0 e 3 yedl Y-l yReneu 53 8 ?
(1) -ye-i (2) e

(3) suArxsu (4) wd=2aASHA

79  What is the full form of http ?
(1) Hyper Text Transfer Protocol (2) Hyper Transfer Text Protocol
(3)  High Transfer of Text Programme (4)  Height of Text in Total Part
httpl Y3 4O 7
(1) S1HUR 2522 2uS HlAlSld  (2) SR U8R 22 WAba
(3) eI 2-us ¥il§ &5 WA (4) e1de s 22§+ dA2e wid

80 Online voting for the first time was provided by which State in India ?

(1) Gujarat (2) Maharashtra

(3) Goa (4) Manipur

el AL YL GUasy S2AAUY MIRd] MU A 5 B ?
(1) did (2) usIRAY

3) 2l @) HRyR
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81 Identify the part of speech of the underlined word :
Rajesh wanted me to help his friend
(1) noun (2) wverb (3) adjective (4) adverb

82  Which of the following sentences is incorrect ?
(1) It is with the reference to your letter No: 126, dated 15-11-2015.
(2)  This is with the reference referred above
(3)  We feel sorry to inform you that your request cannot be accepted.
(4) None of these three

83  If date is written in MM/DD/YYYYY it means it is __format of writing
the date
(1) US (2) UK (3) Indian (4) Pakistani
84  Which of the following is verb ?
(1) cupboard (2) bleed (3) sweater (4) shirt
85 Complete the following sentence :
He asked me

(1) why I could not reach office in time.
(2) that I could not reach office in time.
(3) why could I not reach office in time.
(4) I could not reach office in time.

86 If someone writes a letter to Municipal Commissioner, it is known as

letter.
(1) informal (2) Inter office correspondence
(3) formal-informal (4) formal
87  Which is the correct spelling of the word given below ?
(1) etiquette (2) etigette
(3) aetiquete (4) None of these
88  What is the meaning of Cc written at the end of letter ?
(1) Colour copy (2) Carbon copy
(3) Copy copy (4) Copy cited
89  Which is the correct style of writing inside address ?
(1) To, (2) To,
General Manager, General Manager,
XYZ Company Ltd., XYZ Company Ltd,
Sardar Patel Road, Sardar Patel Road,
Ahmedabad: 380 021 Ahmedabad: 380 021
(3) To, 4) To,
General Manager General Manager,
XYZ Company Ltd., XYZ Company Ltd.,
Sardar Patel Road Sardar Patel Road
Ahmedabad: 380 021 Ahmedabad: 380 021
90  Find the odd out :
(1) man : woman (2) bullock: cow
(3) uger . tigress (4) cat kitten
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91  Which of the following sentences is correct ?
(1) Rama says to Ramila that work is worship
(2) Rama tells Ramila that work is worship.
(3)  Rama said Ramila that work is worship.
(4)  Rama said to Ramila that work is worship.

92  Find the odd out -

(1) positive . negative (2) true  false

(3) vices : virtues (4) honest : dishonest
93  The police had to use force to __ the noting mob and to establish law

and order in the area.

(1) control (2) provoke

(3) outnumber (4) beat
94  Mount Everest is ___tallest mountain in the world

(1) a (2) an

(3) the (4) None of these three
95  The telephone __ when I reached home.

(1) was ringing (2) 1s ringing

(3) rings (4) ring

96  Which of the following sentences is incorrect ?
(1)  The documents are attached herewith for your consideration.
(2) The documents is attached with this letter.
(3) The documents are attached herewith for your perusal.
(4) The documents are attached herewith.

97 This is the place we met with an accident.

(1)  which (2) that

(3) when (4) where
98 The child was asked solve the sum.

(1) to (2) that

@) if (4)  whether
99  There is no room available it is holiday

(1) because (2) as

(3) why (4) asif

100 Let the voice _ :
(1) tochange (2) change
(3) is changed (4) be changed
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Who was the known as Father of
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(1) Sardar Patel
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1 Which is the very first university of the world ?
(1) Taxashila (2) Cambridge
(3) Oxford (4) Harward (Harvard)

2 Which of the states has no coastal area of Bay of Bangal ?
(1) Orissa (2) West Bengal
(3) Andhra Pradesh (4) Jharkhand

3 In which city Howrah Bridge is located ?
(1) Kolkata (2) Bombay
(3) Delhi (4) Ahmedabad

4  In which District the Sun Temple Modhera is located ?
(1) Patan (2) Surendranagar
(3) Ahmedabad (4) Mehsana

5 In which District Dholavira is located ?
(1) Ahmedabad (2) Bhavnagar
(3) Kachchh (4) Anand

6  Which digit is the proper digit in blank space of the following series ?

4,2, 9,3, 16,
(1) s 2 6
(3) 25 @) 4

7 Which choice is proper for the blank space ?

16, 22, 29, 37, o
(1) 41, 46 (2) 42, 48
(3) 44, 48 (4) 46, 56

8 Which is not matching to the group ?
(1) Horse car (2) Camel car
(3) Cycle (4) Motor cycle

9  On which date Gujarat Day is celebrated ?
(1) 5% September (2) 5t May
(3) 1%t May @) 26" January

10 In which year was Gujarat University established ?
(1) 1949 (2) 1950
(3) 1947 (4) 1960
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11 Which date has been declared as the International Yoga day ?
(1) 215 June, 1960 (2) 21% June, 2015
(3) 21% June, 1950 (4) 215 June, 1947

12 In which state is the temple Jagannath Puri situated ?
(1) Orissa (2) Karnataka
(3) Kerala (4) Bihar

13 Who of the following was not a freedom fighter ?
(1) Sardar Patel (2) Gandhiji
(3) Pannalal Patel (4) Pandit Jawaharlal

14 In which city Tana-Riri temple is situated ?
(1) Vadodara (2) Vapi
(3) Valsad (4) Vadnagar

1S Which of the following is not matching to the group ?
(1) Sri Lanka (2) Bangladesh
(3) China (4) Pakistan

16 Which of the following is not matching to the group ?
(1) Kandala (2) Jakhau
(3) Mundra (4) Alang

17  Which of the following is not matching to the group ?
(1) Mount Abu (2) Girnar
(3) Pavagadh (4) Palitana

18 Which is the birth place of Gautam Buddha ?
(1) Lumbini (2) Kushinara
(3) Bodhgaya (4) Magadh

19 Whose birth date also falls on 274 October ?
(1) APJ. Abdul Kalam (2) Narendra Modi
(3) Lalbahadur Shastri (4) Morari Desai

20 Who has appointed Mahatma Gandhi as his advocate in South Affica ?
(1) Maulana Azad (2) Khan Abdul Gafar Khan

(3) Sheth Abdulla (4) Mohmad Shaikh
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21

22

23

24

25

26

27

28

29

30

Who is the main author of the book ‘Mara Sapnanu Bharat’ ?
(1) Chetan Bhagat (2) Khushwant Singh
(3) Gunavant Shah (4) Dr. APJ. Abdul Kalam

Who wrote the book ‘How to Win Friends and Influence People’ ?
(1) Dale Carnegie (2) Robinson
(3) A. Sivathanu Pillai (4) Rechard Bac

Who wrote the Autobiography ‘Satyana Prayogo’ ?
(1) Sardar Patel (2) Sister Nivedita
(3) Mahatma Gandhi (4) Swami Sachchidanand

Who wrote the Novel ‘Manvini Bhavai’ ?
(1)  Umashankar Joshi (2) Niranjan Bhagat
(3) Pannalal Patel (4) Meghani

Who is the present Cabinet Minister of education of Gujarat State ?
(I) Smt. Vasuben Trivedi (2) Shri Bhupendrasinh Chudasama
(3) Smt. Anandiben Patel ~ (4) Shri Ramanlal Vora

Who is the first female Chief Minister of Gujarat State ?
(1) Smt. Vasuben Patel (2) Smt. Smruti Irani
(3) Smt. Sushma Swaraj (4) Smt. Anandiben Patel

Who is the present Governor of Gujarat State ?
(1) Shri Vajubhai Vala (2) Shri O. P. Kohli
(3) Shri Kalyansingh (4) Shri Nitinkumar

What is the year of creation of Bangladesh ?
(1) 1947 (2) 1950
(3) 1960 4) 1971

What of the following called as the first human right charter of the world ?
(1) Megna Carta (2) Atam Vinze Pankh
(3) Power Shift (4) Unto this last

Who wrote the Gujarati poem ‘Gramya Mata’ ?
(1) Umashankar (2) Meghani
(3) Kalapi (4) Ravji Patel
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31 87 +99 =10+ 2
(1) 176
(3) 175

32 7 +99 =88 + 22
(1) 10
3) 11

33 2 - 10 = 200 - 22

(1) 112
(3) 100

34 8- 2 =10-20
(1) 18
(3) 15

35 15~ 2 =105

(1) o0
3) 9

36 —_x—x—= 7

37

38 22% of 200 is
(1) 11
(3) 2.2

39 56.2 -453 =_7
(1) 10.1
(3) 10.9

40 0.8 x 005= 2
(1) .04
() .004
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46 2048, 1024, 512, 2
(1) 256 )
(3) 258 (4)

47 3,9, 27, 81, 7
(1) 246 )
3) 247 4)

48 2, 5,9, 14, 20, 2
(1 27 ()
(3) 28 @)

49 5, 11, 23, 47, 9

(1) 76 ()
(3) 95 “)

M3, W15, 20, 28, 30, 35,40, ¥

(1) 45 @)
(3) 28 (4)

51 6:30 ::18: 72
(1) 80 (2)
(3) 82 4)

52 XPB:LCZ :: WOA:KB_ _
1Y ‘ (2)
(G) A “)

53 FATHER : MOTHER :: HUSBAND :

(1) WIFE (2)
(3) MOTHER-IN-LAW 4)
SRY15_A] Page 8
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54

56

57

58

59

60

IRON:Fe :: GOLD:
(1) Ag 2) Gl
(3) Au 4) Ci

Oxygen : O, :: Ozone: _
(1 O 2) O,

o

(3) 04 4) 0O,

If GOD is coded as 123 and MAKE as 4567, then MOK should be coded
as :

(1) 426 2) 123
() 423 4) 476

If ZXT and CQRP are codes for the words DOG and LIKE respectively,
then ZQT is the code for the word :

(1) GOD 2) KIL
(3) DIG (4) KID

MATHEMATICS : PYTHAGORAS :: CHEMISTRY :
(1) ALBERT EINSTEIN (2) DARVIN

"~ (3) MADAM CURIE (4) RAMANUIJAN

A girl (having no brother or sister) says “He is my father's wife's grandson.”
How is he related to the girl ?

(1) Brother (2) Uncle
(3) Father (4) Son

Pointing to a person, Mitali told her sister Himali, “He is your mother's
son-in-law”. How is he related to Himali ?

(1) Husband or Jijaji (=Banevi (=Sister's Husband))
(2) Husband |

(3) Brother

(4) Son
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Select the right option : (Q. No. 61 to 70)

61

62

63

64

65

66

67

68

69

70

Three days was simply not a _— amount of time to complete
such a lot of work.

(1) Acceptable (2) Formal

(3) Despicable (4) Goad

You don't need to be a _____ to see what the problem is.

(1) Genius (2) Macrobiotic

(3) Hipster 4) Cider

Make sure you read all the —_____ carefully before setting up the
device.

(1) Instructions (2) Bishop

(3) Aloof (4) Nondescript

There are special schools for students with — disorders.

(1) Rummage (2) Mental

(3) Vehement (4) Demean

Seeing that some of their _______ have one, children ask their parents
for a mobile phone at a very early age.

(1) Repent (2) Soutane

(3) Peers 4) Vel

When the space probe landed on Mars, the first thing it did was to take

a from the Martian soil.

(1) Specimen (2) Futile

(3) Patronize (4) Pertinent

The students get amonthly _ which usually consists of a report.
(1) Assignment (2) Preclude

(3) Lethargic (4) Prowess

Half of the courses in our department were ________ There were a
variety of courses to choose from.

(1) Optional (2) Salient

(3) Discretion (4) Collusion

Children need to be taught to learn ______ at primary school,
otherwise they can't get anywhere in their school life.

(1) Independently (2) Veneer

(3) Heist (4) Errand

In most countries, schools have two
others there can be up to six.

(1) Terms (2) Contingent
(3) Feudal (4) Squander

or semesters, while in
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Select the right Synonyms : (Q. No. 71 to 75)

71 Glare
(I) Hide (2) Summon
(3) Display (4) Scowl
72 Erratic
(1) Irregular (2) Difficult
(3) Enticing (4) Frequent
73 Civil
(1)  Unkind (2) Questionable
(3) Trite (4) Public
74  Peer
(1) Connote (2) Recluse
(3) Apple (4) Fellow
75  Fiasco
(1) Happenstance (2) Disaster
(3) Ceremony (4) Festival

Choose the right option : (Q. No. 76 to 80)

76 1 want to play _____ baseball tomorrow.
(1) a (2) the
(3) None (4) an
77 Where is —___ blue pen ?
(1) a (2) the
(3) None (4) an

78 She lives in ____________ Vancouver.

(1) a (2) the

(3) None (4) an
79 Could you pass —_ salt please ?

(1) a (2) the

(3) None (4) an
80 ______ dogs are sleeping.

(1) a (2) the

(3) None (4) an
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Answer the questions below by choosing...... (Q. No. 81 to 90)

81

82

83

84

85

An advantage of giving home work is that the students -
(1) remain busy at home

(2) study at home

(3) may be checked for their progress

(4) may develop habit of self study

A teacher has serious defect is he/she -
(1) is physically handicapped

(2) belongs to low socio-economic status
(3) has weak personality

(4) has immature mental development

The purpose of basic education scheme is -

(1) universalization of primary education

(2) to vocationalise the education

(3) to fulfill basic need of persons through education

(4) to make education compulsory for all

You are teaching a topic in a class and a student asks a question not related
to the topic. You will

(1) allow him to ask unrelated quotation
(2) not allow him to ask unrelated question
(3) consider it indiscipline and punish him

(4) answer the question after the class

Essay type test questions are not reliable because -
(1) their answers are difficult

(2) their results are different

(3) this is subjective in nature

(4) their responding styles are different
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86

87

88

89

90

The essential element of the syllabus for the children who have to remain
out of school should be -

(1) Literacy competencies
(2) Life-skills
(3) Numerical competencies

(4) Vocational competencies

A teacher asks the question in the class to -
(1) keep students busy

(2) maintain discipline

(3) attract student's attention

(4) teach

When the students try to solve the questions in some different ways than
those taught by the teacher from prescribed books, then these students
should be -

(1) Discouraged to consult some other books on the subject
(2) Encouraged to consult some other books on the subject
(3) Suggested to talk with their teacher after the period

(4) Suggested to follow the class room notes in order to get good grades
in the examination

The aim of education should be -

(1) To develop vocational skills in the students
(2) To develop social awareness in the students
(3) To prepare the students for examination

(4) To prepare the students for practical life

The quality of school education is exclusively depending upon -
(1) Infrastructural facilities

(2) Financial provisions

(3) International support

(4) The quality of teacher education

SRY15 A] Page 13
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93

94

95

96

97

98

99
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MR vl - @AM

(1) cd 2) Hluy

(3) ogdlls 4) GBuue

‘Yuiq’ Sq Gun 8 7

(1) Hemie Hiss (2) Gueisk sl
() -elrleld @) N Al

AAqeidl 520 3 WA & ?
(1) wsldtg - ddyeddl (2)  ureysu-ogdlle
(3) €Msa-i-dg 4) ~{el-Guue

A Akl Slu N8 wslfud sl B 7
(1) 2Ad Alsc is1el (2) youdl Al ulkne
G) Yud [Hauls (4) PR Wk

9@y Mdiew Waie WEAN Fal dedld sdl’ - A 4] wdsR
e ?

(1) 2y (2) G

() Gl 4) 3u%

‘Bos dladll dos’ euasid AASHL sl S@ S ?
(1) sawl (2) dgsid oall
(3) e &q (4) usie eq

oleyge edsl sualldlAl AAsd -ux L.
(1) AW (2) oRIsIRL
(3) yalaw @) Wk

MM - woerdl ARN wuly M),

(1) &l @) add

(3) ¥l @ Wl
QAniafl sy A3 g S 7

(1)  alA--ativ (2 adsy-ay
() A-dliR @) [MBd-siel

100 ordldlw eddq w3t ™A wRUAl.

(1) Hud @) adex
G) A @)yl
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Indian Institute of Teacher Education

(A State Public University established by Government of Gujarat)

PTPT (Pre Entry Test for Prospective Teachers) -2019

- Test for programme : B.Sc. B.Ed./ B.A. B.Ed.
- Area to be covered in Test:

COMPONENT MARKS
1.General Knowledge 20
2.Communication Skill in English 20
3.Reasoning and Numerical Ability 20
4.1CT 20
5.Logical and Analytical Abilities 20
6.Creativity, Innovation & Problem 20
Solving
Total 120

Duration of the Test: 90 Minutes




CEP1 A

1 Which of the following is the largest country in the world by area?

o{lActtuiell s 2ol [ArclRell gRA glasl Al A2l 2ol B2

RUSSIA

A

B INDIA
C uUsA
D

CHINA

0\
AR
U35
Yot

2 Which of the following is called the " Land of the rising Sun ?"

ol Actimigll 52 22l 'Golcll YRyoll el sdcll B?

A INDIA
B usA

C CHINA
D JAPAN

3 Who is known as 'Black Gandhi'?

U A A3 slaL A 82

Abraham Lincoln

A

B Sardar Patel
C  Nelson Mandela
D

Nepolian

4 In which year was Bangladesh created ?

sl M olidtclg ool Ruell us?

A 1947
B 1971
C 1950
D 1990

Rd
AR st

Lot
o Ulot

UUleH ([Asol
URER U
AUl HIAL
AQA2et

ay 1947
ay 1971
ad 1950
ay 1990

5 Which is the smallest nighbouring country of India ?

ellRcloll AL oliell uslell 2ot s20 82

Bhutan

A

B  Bangladesh
C  Nepal
D

Pakistan

@fcllot
oliolcLE 2L
AUl

UlSactlet



CEP1

A

6 Which of the following is the longest epic in the world?

7 Where is the Statue of Unity located ?

8 Which is a Vishwa Yoga Diwas ?

o{lActimiell 52) Qaui el ciog Halsica B?

O 0o @™ >

R g YE2l sl wdd B2
A Indore
B  Amarkantak
C Bheda Ghat
D Near Sardar Sarovar

Gita
Ramayan
Mahabharat
Shakuntal

@Qa 2ot Bau s &2

A
B
C
D

15 August
26 January
21June

5 June

ol
RAHLRAGL
HlelRA
WsA

BER

WUSE2S

astule

URER AR U

15 AUPR2
26 %lo3(3]
21 %ol

5 9ol

9 Rani ki Vav, Patan is constructed as a memorial of whom?

10

ARS8 cllel, werl sloll e Hl citletdl AAd 8?

O 0o ®w >

In which year Gujarat Vidyapith was established ?

oA [Qeudlssll 2euctl st adui ag sdl?

A
B
C
D

Ranmal Rao
Munj
Ra Khengar

Bhimdev Solanki

1949
1920
1974
2010

0HA A
Yoy

A oUR
ellug o Acsl

1949
1920
1974
2010
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11 From which Veda Indian music is originated ?

el A sa deuiell Ggad &2

A RigVeda BAE

B  SamaVeda AHAE
C  AtharvaVeda waudae
D  vajurVeda ade

12 How many spokes are there in the wheel of National Indian Flag ?

AR ol AR ealall UASHL Sl ARl B?

A Four AR
B  Eight UL
C  Twenty Two AL
D  Twenty Four Al

13 From which Upnishada the maxim ' Satyameve Jayate' in National Emblem of India is taken?

AlRcloll AR AN A YA s GulineHigll Aai wad 8?

A |shavasya Upnishad gallcrRlUAlN Y
B Taitiriya Upnishad dRRa Gulne
C  Mundak Upnishad ysslulAne

D  Katha Upnishad selulane

14 Who is the first woman Chief Minister of Gujarat ?

afesAcetl yuH HBe Yyl sl B2

A Vibhavari Dave (Qeuall e

B  Anandiben Patel leielAeot Ut
C  Aruna Desai V30U UL

D  Pushpaben Mehta Ysulolet Redll

15 Who is the first Gujarati Governer of Reserve Bank of India ?

Rad ds g sledaulell YA Al dlctolR 5oL B?

A Urjit Patel GlFd w2t

B H.M.Patel AAAH. Ut
C |.G.Patel ULES.%Y. U
D  sardar Patel UER Ued
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16 Whish is the existing oldest city in Gujarat State?
oAl [Qatutet (salcl) Well o] 2SR 53] B?

A
B
C
D

17 Who was the founder of Arya Samaj?

R AHL el 22ULUS 53l &cll?

O 0o ®w >

18 Kochrab Ashram is also known as....

slAGL UK oll ollH el uQL v 8.

A
B
C
D

A

Jamnagar
Surendranagar
Visnagar

Vadnagar

Sachchidanand

Dayanand Saraswati

Dalpatram

Durgaram

Sabarmati Ashram

Sanyas Ashram
Satyagrah Ashram

Sevashram

o HolO1R
YRosel1R
[QuetorR
cASelolR

URAE Ll
glole ARl
EAUARIH
gollrn

AGRHAL U8
UcALRUUH
URUILS WIH
A

19 Who is the brand ambassador of Gujarat Tourism Department

%82 Yol [QoLHell olis AGASR SlQL B?

O 0o ®w >

20 By what other name river Narmada is known?

el o€l ol sAL AAtH Q1A B2

A
B
C
D

Teji Bachchan

Aishwarya Bachchan

Jaya Bachchan

Amitabh Bachchan

Himalay Kanya

Amarkantak

Maikal Kanya

Amrit Kanya

A% olRUsl
A2l o1t
o2l &L RUol
UM Al HRLst

R se2ll
WHRSE2S
HsA scl
WY ol



CEP1

21

A

| was amazed

(No Gujarati Version)

O 0o ® >

with
at
by

to

22 He is caught

23

24

25

(No Gujarati Version)

O 0o ®w >

to
by
of

with

You must say sorry

(No Gujarati Version)

O 0o ® >

with
to
at

for

He often boasts

(No Gujarati Version)

O 0o @ >

about
of
at

with

his skills.

a serious illness.

him for your bad behaviour.

his new toys.

The schools were competing

(No Gujarati Version)

O 0o @ >

at
with
of

to

each other for scoring the highest.
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26 Names for persons, places, things, qualities, feelings, concepts, activities and measures are

(No Gujarati Version)

A verbs
B  adjectives
C  nouns
D  pronouns

27 Words that substitute for noun are
(No Gujarati Version)
adverbs

adjectives

interjections

O 0o w >

pronouns

28 The part of speech that answers the question "What kind?" and "How many?" is a/an

(No Gujarati Version)

A adverb

B adjective
C  preposition
D  conjuction

29 Words such as slowly, very and tomorrow that answer the questions "How?" and "When?" are

(No Gujarati Version)

A adverbs
B  adjectives
C  nouns

D  conjuction

30 I, you, they, hers and he are the examples of

(No Gujarati Version)

A pronouns
B nouns

C  adverbs
D  adjectives
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31 Wow, well, and oops are examples of
(No Gujarati Version)

pronouns

prepositions

interjections

O 0o ® >

adjectives

32 And, or, nor and but are
(No Gujarati Version)

adverbs

prepositions

interjections

O 0o ®w >

conjuctions

33 Words such as by, in, and of that join nouns or pronoun objects to other words in sentences are

(No Gujarati Version)

A adverbs
B  prepositions
C  conjuctions
D  adjectives
34 He has seen many in life.

(No Gujarati Version)

A crisis
B crisises
C  crises
D  none of above
35 The bad news quickly.

(No Gujarati Version)

A spread

B  isspreding
C  spreads

D

are spreading
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36 The brave prays.

(No Gujarati Version)

A deserves
B  deserving
C  deserve
D  deserved
37 The dog swam theriver.

(No Gujarati Version)

A of
B into
C  across
D  about
38 The number of the candidates _______ very large.

(No Gujarati Version)

A s
B are
C  were
D  have been
39 My father joined the Army because he his country.

(No Gujarati Version)

A love
B loved
C loved
D isloving
40 Wild animals often in caves.

(No Gujarati Version)

A live

B lives

C  isliving
D

have been living
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41 Which of the following is not a search engine?

ol Actimiell 53f U WAoot olell?
A Google e]bllcl
B Windows (QoS\3
C  Yahoo A&
D  Ultavista ucelldrel

42 What is full form of PDF?

Ulslalge] Y3 olint 9 82
A Printed Document Format [Qe2s xRz sl
B Public Document Format uleAs Slsyee Slile
C Portable Document Format WEHA Qs'egﬂoe sl'fta
D Published Document Format yocles stgﬂae Qfla

43 Which of the following is a social network system?

(LAl 585 AHlBs Aectd yrucl 82

A WhatsApp Al AU

B ios i0S (ALES. A AU
C  Android AWoRlESs

D  Windows QoS

44 What is full form of Internet?
Boeal2a] LY ol 9 B

A International Network Bo2 a2l A2l
B Interconnected Networks Bo2R5al5eS aA2alh
C  Internal Network Bo2 0l A2ab

D  Intra-Network o2l el

45 Which key combination is used to close an opened application in windows?

518 yeell Acll3ateta ol sl (AU 53 Sl-slslla2tet cuRjna B2

A Alt+F8 Alt+F8
B cCtrl+FX Ctrl+FX
C  Alt+F4 Alt+F4
D  shift+P Shift+P
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46 If some numbers are given in the cells from A23 to A46 in Excel sheet, which of the following
function should be used to calculate Summation of given data?

AsAco(l Aleui A23 &l Ag6 Yellotl AGUHL AYs JvAll UMl AUAA B Aol Uclol
alltall M2 o{lAsuuiell s3] (AR ctuatul wial?

A =SUM(A23:A46) =SUM(A23:A46)

B sum(A23:A46) sum(A23:A46)

C =summation(A23:A46) =summation(A23:A46)
D  =avg(A23:A46) =avg(A23:A46)

47 How many rows are there in Excel 2010?

Excel 2010 i 32l sA0 (Rows) sla 82

A 16384 16384
B 16484 16484
C 1048576 1048576
D 65536 65536

48 Which of the following is a word processor?

ol Aot uiell 20€ UlBs (word processer) 53] 872

A MS Excel AHAY AsAA
B MSWord AHAY A
C  PowerPoint ylaRUW o2
D  MSAccess VHAY AsAU

49 What does www stand for?

www 3led 9 ?

A world wide web acs algs Aot
B world with web acs la au
C  world with word acs dla ad
D world wide word e s ol

50 What does ATM stand for?

ATM A2d 9j?

A Automated Tailor Machine A_IN2S 28AR H2llot

B Automated Transaction Machine N ERYERS Qlcﬁs%lcl 1l
C  Automated Trailer Machine MBI EREIYCERTT] ]

D  Automated Teller Machine A_AA2S 2R Hallat
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51 What is the smallest storage unit in the context of computer?

§112)2 01l AECIHL AU&all allallHl olloll AsH s B?

O 0o ® >

52 Which are both input and output devices?

8oye el lB2Ye slal Uslell Altsll sl B?

O 0o ®w >

Character
Byte
Picture

Bit

Pen Drive-Memory Card
Pen Drive-Mouse
Pen Drive-Key-Board

Memory Card-Key Board

53 What does 1kb stand for?

1KB Aed g ?

A
B
C
D

One Kilo Bit
One Kilo Bytes
1024 Bytes
1000 Bits

54 What is Keyboard?

Keyboard 9| 8?

O 0o @ >

Browser
Icon
Hardware

ISP

55 What is full form of GUI?

GUIo] Y] oM 9 8?

A
B
C
D

Graphical User Interface
Graphical User Internet
General User Interface

Graphical United Interface

552
olLge
RESE
olle

Yol LFL-NAIL 518
Yot SLefal-HIGAU
ot glefer-gl-els
A3 s18-5lells

dot (3 olle
cot (5 clsed
1024 oll8e
1000 o{let

GlBBR
WY 5ol
sléar
wlSAAUL

U35 YR BoBU
AEsct YRR o2
AR YNBR BRI
Asct Yollfes Bo2¥U
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56 Who is known as father of SMS?

AUAH APl Wols A3 sl v 8?2

A Thomas Kurian AHA Ruet
B AnujGupta Ui el
C  Samir Bhatiya AR eulRau
D  Matti Makkonen Al Asotlol

57 Which of the following is true?

o(lAotuiell 9 WY B2
A 1 MB-=1024Bytes 1 MB = 1024 Bytes
B 1MB=1000KB 1 MB = 1000 KB
C 1MB=210KB 1 MB =210 KB
D 1KB =210 MB 1 KB =210 MB

58 -Ppix is an extention of

.pptx A aj Vedotlal B.

A MSWord MS Word

B MS Excel MS Excel

C  MSPower Point MS Power Point
D  MSAccess MS Access

59 Which of the following command is used to save the same file with another name?

A5 % gl8ctal oflost ollN A sl HI2 sAL sHISe GUAIL Al B?

A SaveAs Save As
B Save Save

C  Copy Copy

D Paste Paste

60 Who is associated with Facebook?

510l Facebook A1 SlslAd 8?2

A Mark Zuckerberg HL5 950101
B  Jeff Bezos R% ARU

C  Elon Musk At Hs
D  Tim Cook M 55
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61 The sum of all the numbers from 1to 9is

1 Aol 9 YYlofl Avaullell A 8.

A 40 40
B 45 45
C 55 55
D 60 60

62 How does half of one percent represnted in decimal?

As 2sloll Aslal eaHl 3l A ealaia?

A 0.5 0.05
B  0.005 0.005
C 002 0.02
D 02 0.2

63 Difference between HCF and LCM of 18,30 and 42 is

18,30, 3l 42 AvAllloll AU el ANl dslelcd ],
A 6 6
B 624 624
C 630 630
D 636 636

64 18% of 1000+40% of 500=

1000<Ul 18% + 500 <ll 40% =

A 330 380
B 300 300
C 375 375
D 400 400

65 If 7 spider takes 7 days to make 7 webs ,then how much time will 1 spier take to make 1 web?

ol Alct A=A ALt AL Al [RadHl olotld Al As sA(C2UA As o4 cotlcldl decl Rau

Adl?
A 1 1
B 7 7
C 35 3.5
D 49 49
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66 Difference between age of of A and B is 16 years. Before 6 years age of elder one was 3 times the
age of younger one. What is the present age of younger one?

A 3l Boll GHRol dslad 15 dN B. 8 N Udcll Hlelell GHR ellotloll BHR sl 2wl atell
ecll. l allotiell sletoll GUR g 8la?

A 12 years 12 o™l
B  18years 18 oy
C  14vyears 14 oy
D  16vyears 16 oy

67 Average of 6 numbers is 30. If number 20 is replaced by 50, what is new average?

s AuAlRAle(l UAUZL 30 B, %1 A5 AuAl 20 ol GLEA 50 AcllHl AU Al ol AAUI Fecll awa?

A 2 20
B 25 25
C 35 35
D 40 40

68 A sum of money at simple interest amounts to Rs. 815 in 3 years and to Rs. 854 in 4 years. The sum
is

SlE 5Ma] 3 il AE cAls 3. cAU AU B Aal ¥ Al 3. cuy sl dl A sU 582

A Rs 650 Rs 650
B Rs 690 Rs 690
C Rs 698 Rs 698
D Rs700 Rs 700

69 In an analog clock at 12 hours and 30 minutes, How much degree angle will be formed?

siel atoll uldaucul 1R ses ot 30 Ale clotdl, A siel cRA 32l vl yell RAQ?

A 165 165
B 160 160
C 180 180
D 170 170

70 The cost price of 20 articles is the same as the selling price of x articles. If the profit is 25%, then
the value of x is:

20 clrq3lle(l UsdR (EHc A x crglle(l AuRl (EUd dR6R L, % oll 25% &l dl xell

(Eud 852
A 15 15
B 16 16
C 18 18
D 25 25
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71 It was Sunday on Jan 1, 2006. What was the day of the week Jan 1, 2010?

ol 1-%103). 2005 A AAclR dlal dl 1-%0f. 2090 A s (Ead saAu?

A sunday JEETE
B saturday aAarR
C  Friday ysalr

D  wednesday ol

72 Ramesh is looking forward to the North West. He rotates clockwise 90°. Then he moves around
180° in the anti-clockwise direction. Again he moves 90° in the same direction. Now, what
direction will it be?

A GiR UEAH dRs 18l vl Qlell B. A ulSane(l (2auni 90° 52 B. a ugdl wldainet
sieloll Qe (auni 180° 52 B. w (2 aumi $31ll 90° $2 B. 84, Aof 18l s¢5 (2 2uni 622

A South e(alal

B  West (DLt

C  South-West e(@a-uln

D  South-East E@QL—LLCi

73 If an amount is doubled in ten years it will be trippled in years by calculating with simple

interest.
ol ULEL cl® s 25U € cliul sl awat Al a Ui 2L ol at.

A 12 12

B 15 15

C 13 18

D 20 20

74 In the series of 8, 25, 49, 36 which number differs from the other three?

8, 25, 49, 36 ol ARHL 5¢ Avall VA AR HEl U B2

A 49 49
B 25 25
cC 3 8

D 36 36

75 The sum of first five prime numbers is:

yad Ui aQeues dvAllell qanl:

A 11 11
B 13 18
C 26 26
D 28 28
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76 (112+5x5)="?

(112+5x5)=?

A 12 122
B 130 130
C 137 137
D 140 140

77 If the English capital letters were seen in the mirror, how many letters appear the same?

WIAHL ()% 3Q2ct R Al A F2EL WER A s YRUL Eulld B?

A 10 10
B 11 11
cC 1 12
D 13 13

78 BDAC:FHEG::NPMO:

BDAC:FHEG::NPMO:

A RQTS RQTS
B  TRQS TRQS
C ams QTRS
D RTQS RTQS

79 Five students are sitting in one row. S is sitting on the right side of L. P is sitting on the left side of
L. Even sitting on the right of K. S is sitting on the left side of Q. Who is the first from the left in this
row?

Wi Qenelz As slRHL AL B. s A Loll ¥HR oty AS B. pA Loll stell oty dau
Ke(l ermill ot A8l 8. sA Qell stefl ety ASl V.l slRUL stell ciarell UdAl slaL B2

A K K
B L L
C r P
D s S

80 Cow:Calf::Dog:
UL ClEIRS:: §cd3:

A cColt agds

B  Mule WRRAUR
C  Puppy (83
D  Foal et
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81 Bhild : Father :: Book:

s : Qdl ::Yds :

A reader alus
B library YetsldAd
C  book fair Ycls Aol
D writer Aus

82 On weekend Mr. Shah spends many hours working in his vegetable and flower gardens. Mrs. Shah
spends her free time reading and listening to classical music. Both Mr. Shah and Mrs Shah like to
cook. So.....

sl Ad sl 2we Aol gEllotl AU wseuetl sdluml scusl cudld 2 8. slludl
e Anoll staRnalell UM cidat dues wlla Ad(ld Uletnanl cudld s? 8. sl wa sludl
LS oiaal RAY slettetcll AR B. dl.....

A Mr. Shah enjoys planting and growing s{l e WsEL) cllalal e GIUsclHl
vegetables. ol WA B.

B Mr. Shah does not like classical music. s{l 2usal 2wl ol dHd el
Mrs. Shah cooks the vegetables that Mr. s{l 2ud Goudcl auseu sl aus i B.
Shah grows.

D Mrs. Shah enjoys reading nineteenth sl LS ?UD.OLQ[I%{L[I UElo(l olacdsall
century novels. cllUCAHL vlole WA B.

83 Brom any side you count you stands 11th than total number of persons standing in th row?

816 Ul clyl owaelte] Al A dAHRL 1 117 flal ol L SAOHL A Fe el MR 631?

A 11 11
B 24 24
cC 22
D 21 21

84 Erom the following four options which does not suit the rest?

o{lAotl AR @scllHidll s @Qseu olududl 12

A cat @cusl
B dog §3
C  snake U
D cow B
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85 From the following four options which does not suit the rest?

o(lAeotl AR @scuidll s @Qseu olududl «1l?

A Jawyer aldct

B  engineer Ao (a2lR
C  doctor SlseR

D  servent ENEE:

86 Museum is related to Curator, in the same way Jail is related to.........

RBaun e WA Ael@d 8, A Ad Be........... A Aol d B.

A Manager DA%
B teacher Qets
C  Jailor BAR

D  warden SR

87 Red Fort : Delhi :: Tajmahel :

Al (3ecl : (Bcdl :: dlwmdd :

A Bgra RRALILL

B Ranpur BslelY
C  Hariyana I EDE
D Punjab RAUesLol

88 According to English dictionary which word will come last?

3 (Satetdl YyHId DAl 2oE A AULA?

A Brustration Brustration
B Brugality Brugality
C Bruit Fruit

D Erump Erump

89 Gujarat : Gandhinagar :: Mizoram:
Jl%RUcl SolHletoR i MR

A Agartal AAIR ACL
B Rizol BRARAAA
C  Bhilong BlcloL
D Eoheema ASdHL
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90 If A=+, B=-,C=x, D=+ then18C14A6B16D4=

%l A=+, B=-,C=x, D=+l 18C14A6B16D4=

A B3 B3

B @54 254
C 288 288
D m208 m208

91 Find out the missing number in the series 2,3,5,7,11,...,17

2,3,5,7,11,......... 17 QL1 wedl s wrudl.

A 12 12
B 13 13
C 14 14
D 15 15

92 According to English dictionary which word will come first?

2% (Batetdl yridl yaun 2oe sl wUA?

A Eow Eow
B Buck Buck
C Eaw Eaw
D Loyal Loyal

93 To make 2 pieces of a bamboo stick it takes five minutes then how long time it will take to make 4
pieces?

%8l S18 clidell 25Slell A gssL scll Sl Al 5 A2 Al Al 4gssL sl Sl Al 32l uHA

AL?
A 30 minutes 70 AlAe
B @2 minutes m2 RAle
C @5 minutes ms A2
D 20 minutes mo M2

94 If ‘SMART’ word is given the sign of 24678 then what is the sign of ‘RAT’?

%l ‘SMART GER 24678 ofl A sll BUULL | ‘RAT 2GEA $8 Asll AUULA?

A mse B86
B @68 @68
C 768 768
D B24 B24
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95 If ‘MIRAJ’ word is given the sign of 34567 then what is the sign of ‘RAJIM’?

%l ‘MIRAY 2A0Ea 34567 ofl sl AU Al ‘RAJIM’ AGERA S8 sl AUULA?

86743
86734
#6543

O 0o ® >

@A3567

86743
B6734
#6543
#3567

One tree in a row is 7th from the left and 14th from the right so how many total trees are there in

the row?

oAl As gat gANHL Lol siyell 73f wa xRl syl 143 8, A gAML §A el gall §2?

@8
@9
@20

O 0o w >

21

97 Teeeth: Chew::

Elct : ALAq ::
A Brain : Think
B  Sweater: Heat
C  Food: Taste
D  Eye:Flicker

98 Root : Stem:: Branch .................

Ho: Ul§2 PR |
A  Wood
B Leaf
C Tree
D  Fertiliser

99 Moon: Satellite :: Earth : ...............

Ag : GULs = yedl ...,

Sun
Planet

Solar System

O 0o w >

Asteroid

@8
@9
@0
21

1ol : [Qurq
2R :oRHl
WIS : RalE
W : §8q

ALSS
uleg
RS

WIAR

Y
SIES
YlHsa
YaH dé
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aSano: umat: wlleR

A Heat STEM (|

B Energy Gt

C  Readiation (32000t

D  Temprature AlUHLet
101 -(5-7x3)

-(5-7x3)

A a7 a7

B a8 18

C @5 5

D @6 16

102 Manoj is 10th from up and 3rd from down. How many boys to be added to make the total number
of 20 students?

Hollowoll sH GURYL 1010 A o1 &l 3% B, Bl UMl S2Cll BlsA GRRa US Bl
©lsABo{l A2l 20 ALL?

N
o)

O 0o @™ »
B =
B =@

o)

103 Year : Month :: Week:
ay : uélell ::Ascsly :

A Hour EBCLS
B Minute (e
C  Dpay g
D  nNight AR

104 Calendar : Date :: Dictionary:
3AsR : dlRlu :: Batetdl:

A word RLOE

B Pin code Aot 5S

C Letter BAER

D Sentence structure BEULSUL R Uall
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A

105 Which of the following does not match the rest three?

o(lAttHil 520 20€ oltSletl QL AGELYL AU A US B?

O 0o ® >

106 How many sides are there in triangle?

Aslatell 32cll ool Slat B2

O 0o ®w >

107 Which types of angles a Square has?
ALRUoAL HRUAL s2UL Ysiell sl B?

A
B
C
D

Barrot
Potato
fomato

Ginger
2
3
4
5

Acute Angle
Obtuse Angle
Right Angle

None

BN
@42lal
RIS
BALE

v b~ W N

AYSQL
SRR
512510l
AsuQl oi(s

108 Which of the following does not match the rest three?

o(lActtHill s AcE cALSletl ARl ALYl AL US B2

O 0o @ >

109 A, CD, FGH,

O 0o w >

Beijing
Bondon
New York

Tokyo

&, CD, FGH,

BIKL
ELMN
EKLM
EMNO

ALY
FASot
w5
L5120

BKL
ELMN
FKLM
EMNO
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110 Motor : Driver :: Aeroplane :
HleR : glAcR :: AN Aot

A Birport AU
B Runway BRel-A

C Bilot BUlACL2
D  murney BYASIL

111 Teacher : Student :: Coach:
@8{8 cQanel s\

A Blayground BAELoL
B Meam pElH

C Player BRCELSL
D Bame ARH

112 Sudha looked at a boy and said, “ He is the son of my father-in-law’s only son “, what is the
relationship of that boy with Sudha?

As OlsA AN A ol YUl 58], “ A HIRL AUl As HA Yotoll YA 8” dll 3 elsAcll Yl
A 2l Aol wa?

A Bousin AUl
B Bon Y2
C Nephew AL
D Brother ALY

113 If 'A' is taller than 'B', but 'B' is not taller than 'C' and 'D' is the tallest aff all; than who is the
shortest in all?

%1 'A"'B' $cll QLA B U 'B''C’ 5cll QLA ol Aal ‘D' AU QLA B A W oA slaL B?

A A A
B B B
C c C
D D D
114 Who is Governor of Madhya Pradesh?
HEAYE el AXUAULA S0 B?
A Anandiben Patel leielAet U
B  VajubhaiVala el alol
C  KiranBedi (320 AEl
D Smrutilrani WA SAell
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115 Where the Wild Ass are inhabitated?

YSHRoj Rlaiurelet sal 8?

A sundervan JeRclat
B  Girforest IR %o
C  Jaldapara % CELULRL
D  Ghorada IIEN

116 Which is not the prime number of the following?

o(lAottuiell 585 vl lQews o12ll?

O 0o ®w >

A W N

2
3
4

117 A day before yesterday is Saturday, which is the day after tomorrow?

g sl oLl R ad 2@ ark A adadlsid uglal Eau s0?

A Tuesday Hlnalr
B Wednesday ol
C  Thursday 3R
D  Friday ysalR

118 Which word cannot be formed from the word 'ENCYCLOPEDIA'?

ENCYCLOPEDIA' 216€ H{ | $20 AGE of 6lal?

A CYCLE CYCLE
B PENCIL PENCIL
C DIAL DIAL

D  YOKE YOKE

119 Which is the 15th letter from right side of English alphabets?
291 HougRHl 1l uen youar sAl?

A K

B 0 0]
C L L
D I |
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120 On which bank of the river Surat is situated?

Yrd 56 ol€loll Boll? aA B?

A Narmada aHel

B Tapi Al

C  Daman Ganga gHBL oL
D

Dhadhar elar
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Indian Institute of Teacher Education

(A State Public University established by Government of Gujarat)

PET (Profession Entrance Test) -2019

- Test for programme : B.Sc. B.Ed./ B.A. B.Ed.
- Area to be covered in Test:

COMPONENT MARKS
Teaching Aptitude 80
(In relation to Classroom Interaction,
Teacher-Student Relations, School
Environment and Scoiety)
Total 80
Duration of the Test: 60 Minutes
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If you ask a question based on the content
to some student in the classroom and he
gives partially correct response, what will
you do?

oA dd adlvisHi st Renelld Bvaazd, 2usiRa
S16 WA YO Sl 2 d 21341 AL Gk 20U ),

dl d¥ 9 sa?

() You will tell another student to give full | (@)  oflog [enell Y21 Gaz 24, PRIV
answer.
) N Y ¢ \
(b) You will ask small and easy (b) d-l sz\ctzs \1&5 ol HIS Il A
supplementary questions to lead the ARA YR s WAL Yol
same student to the correct answer (€) ol 22l i ‘“Lil Gaz ) 29l 9l 1HA
(c) You yourself will give full and correct “ 61913,
answer, so that time will not be wasted. s , N
_ _ _ (d) dryrasiiel GR wHa sdal.
(d) You will tell him to find the answer
from the textbook.
What is full form of NCERT? NCERT =} Y3 U™ 9| 9?
(a) National Council for Elementary | 3y National Council for Elementary
Research and Training. Research and Training.
(b) National Council for Educational | (h) National Council for Educational
Research and Technology. Research and Technology.
(c) National Committee for Educational | (c) National Committee for Educational
Research and Training. Research and Training.
(d) National Council for Educational | (d) National Council for Educational

Research and Training.

Research and Training.

Which of the following subjects need
maximum illustrations to be used while
teaching?

(@ Maths and History
(b) Maths and grammar
(c) Poetry and Science

(d) Poetry and Grammar

QA-unidl sur [yaid 2eaun sdl aud
QUL Ay, GELSRUAL GUAIAL Sl AL ?

(a)
(b) ABLA 2 MLsR0L

AR 24 A

(€) sldl 2 [stiA
(d)  slAdL 2 ALsR0L

Before discussing a new point of any
subject, what should a teacher do?

(a)

He should present a story related to that

point.

(b) He should present a picture related to
that point.

(¢) He should check how many students
have information about that point.

(d) He should check how much pre-

knowledge the students have about that
point.

516 el Ryl Aan yaidl 2l a0 uda

aelvisui Riad 9 s oA ?

() d Hea A ANAdl s adl % KA
Ass.

(b)  d¥elL AL AN 56 RioL 29 539, At

©) 3edl el d 3el [ R 91d &

Al dwi sl A5

d HatrL isedHi Renl wA sed ydsiqt
€9 drll dutt sl 2.

(d)
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What should a teacher do first after
entering the classroom?

(@)
(b)

He should wipe the blackboard.

He should write the subject and unit on
black board after wiping it.

(©)

The teacher should glance at all the
students and stand for a few moments.

He should check the homework of the
students.

(d)

Qolvigul slua au sie Dias aduan 9 s:q
ALH?

(@) ATs 565 ALS R AL,

(b)  Als 55 A5 534 d-ll GU didlv, [Awa
247} [Nl uicll A5,

) ot % Qehellal R s AR At Aldl
&1Ll 112 Hirt ) Glodl e, A,

(d) Renellti Qe s durid, s

What will you do, if any student is
sleeping in the classroom when you are
teaching?

(@ You will wake him up and by knowing
the reason of his sleep you will give
proper advice and will continue your

teaching work.

(b)

You will tell him not to sleep in the
classroom and continue.

(©)

You will tell him to go out of the
classroom.

(d)

You will inform his/her guardians
about the same.

A¥ U 53 28U 91 d uHA A i Rendl
aElvisui Gell a0 8, d¥ 9 597

(@) d-l 2w Gual e, siRelL ARl ds
219, AL ML 247 BN 51 A1,
AV

(b)  A-l aolvigui Gl AL wisall 24 uldied
Bl 51 21, AL,

(©) At aofvigHis) leR e sdall.

(d)  drt el 24 oueid el sl

By teaching which of the following
subjects, the imagination power of the
students can be developed?

s [Qran Raa gl Qeaell>udl seau
ABari Bisiu 59 asu 8?

(@) Language (@) o

(b) Maths (b) aRd

(c) Science (c) [su-

(d) History @) R

By teaching which of the following | sy [va-u R gt Qi d$ aBqa

subjects, the reasoning ability and
decision power of the students can be
developed?

(@ Language
(b) Maths

(c) Civics

(d) History

247 [l ABdnl ay [sia sA as d?

(@) e

(b) alRid

() RS Wt
(d)  olde
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9 | Why should homework be given to the Renefl2iq ou e OL@,;,M 21U A2 ?

students?
h NN N up 3

(@ So that they will remain studious at (@ %l Reellol e ol waL Aot 2.

home. (b) el Qenellotimi e st 2 gRinl
(b) So that their habit of self-study can be s .

developed. N - \ .

P o _ S (©) %l adfvigmi slluid) suotdid gél sl ug

(c) So that drilling of the units learned in W

the classroom can be done. '\ .
(d) For all the reasons mentioned above. (d)  GHRisc crunt sReuel.

10 | In spite of your repeated warning, if a AW AU 53 280 91 d aHA 51 Bl dA
student is doing work of other subject AL uL3al 9l 2 [Avas sid 59 260 8. A
when you are teaching in a class room, B A3 adl 81 52907
what will you do as a teacher? RAS dzls dH 3 sl
(@)  You will ignore him. () Al uR e <] Ul
(b)  You will continue teaching only after | (h) d-j d s oig sANA @Ldl-i YA,

making him stop his work. 290
c You will get him out of the class. N \
© _ J _ () drl adlvigl ereiR 516l 3sal.
(d)  You will snatch his notebook and . \ . ooy
continue teaching. (d) d-l -teoys vl Yeds el Ul
AU 514 5.
11 | What should a teacher do to make the Uldis] 2nun 51 uUE s 12 Rz 9

teaching interesting?

(@  He should correlate the content with
practical life.

(b) He should tell jokes in between.

(c)  He should make the students write all
exam oriented points.

(d) He should present the points in ‘easy

to difficult’ order.

5 NS ?

(@) EMUcAAL el AdeIRs @a-t 018

26l 2N, sl AL,

AU MU A2 423, AL A
ouddl At

(b)

AN s P ulsnasl qum
YELAL duiladl AL,

(©)

AN 5Britl $HHL HaLAHL 9@t 5
AL,

(d)
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12

What should a teacher do to make the
teaching more effective?

(@ He should discuss with other co-
teachers.

(b)  He should read the books related to
teaching skills.

(c) He should do self-evaluation of his
teaching work after each period.

(d) He should study the subject matter
deeply.

Uldidl 220U SR Ay, SRA$IRS si-ladl
12 a3 9 52d ALA?

(a)
(b)

(©)

(d)

Ylclirl U8 UL A1 22l s A,

AN SlAAL AL ASOUAEAL YR Sidl
ARAIA 5L AL,

iU 54l gl 82 cuid Uil Bl
1, 20 Yt 52 Ass.

[FMucdrl Hei-l Glseyds e
KAl AL,

13

If any student asks a question related to
the point that you are teaching and you
do not know the answer of the same, what
will you do?

(@  Bydeclaring your ignorance regarding
the answer, you will ask other students
to answer that question.

(b)  Without declaring your ignorance
regarding the answer, you will ask
other students to answer that question.

(c) Bydeclaring your ignorance regarding
the answer, you will ask the same
student to answer that question.

(d) Without declaring your ignorance
regarding the answer, you will ask the
same student to answer that question.

AW ¥ HEI, 2R 5 53 260 91 d-l 0l

(a)

(b)

(©)

(d)

AsouAAL si8 sl us [Qenell=d yeoul 3
¥l GriR dun el 2Usdl, dN 9| 5217

A UBL Gz Aeol Uldisl 2istisdl 28R
s Al GdR AL {12 -y [l
seall.

A UAL GR e Uldi-dl 2istirtdl e

sul AR ddll Gudx ML M2 Y
Qenella sl

A WAL GR e Uldi-dl 2istirdl e
30 A [elellA o Al GriR Al sdall.

A UAL Gz Aeol Uldi-l 2istisdl 28R
sl 1R % o [elellA % dtl Grir 2Amudly
PRENN
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14

Average and weak students feel
inferiority complex because some clever
students always give answer to your
guestions in the class room, what will you
do?

(@  You will tell the average and weak
students to listen to the correct

answers carefully.

(b)  After getting correct answer from
clever students, you will continue your

teaching

(c)  After asking the question, you will
motivate the average and weak

students to give the answer.

(d  You will appreciate clever students
before asking the questions and tell
them to let average and weak students

give the answers, first.

AMIRL Al 235 SiRR Bedl2al o dau

AR YA uAiHL G 20l & 8 ddl a3 24

Anon Rendlat agapid]l sqed 9, ad 9
N\

sa?

(a)  ~Lolou il 1312 Bl 2Lsioidl A8
Gl Ai™HAAL-, sl

(b) MRl Welrll GaiR Holl ud l2ed a3
AN 12 2100 QLR

©) Ul yegul uedl AR [l GaR
244 H12 URA 5241l

(d)  uel yeoul udal clRUR  Qenelaieu

quital s394 dHA 2 [enliA G
AL HI2HL s 24l sSall.

15

By discussing about great personalities,
who have given revolutionary
contribution in your subject, which of the
following objectives can be fulfilled?

(@  To make the students take interest in
the subject.

(b) To increase the creativity of the
students.

(c) To develop sense of appreciation
among the students towards those
great personalities.

(d) To motivate the students to be great

person.

ARl [Bvanl st s s iR wusiyas
[Ggl aal s2all DA-unidl sul 8q Rig sA
as 87

@) Evy ucl Reellainl 2 A9d sl
gdl.

()  Renellatid) agslladl aadl asia 6.

) Ceneliinl i d Henygul Ul se+ll
AL B sautadnl &,

(d) Gendl>iid Heyzd oddl =2 URd

-l &,
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16

What of the following the teacher should
do to make the weak students learn?

(@) By appreciating the special qualities
of such students, teacher should guide

them properly to learn.

(b)  They should be explained about the
importance of education in life.
(c)  They should be motivated for learning
by giving examples of clever students.
(d) They should be given tips to correct

the mistakes that they have committed
in the examination.

Ao Rendl2id sieauq sa0 12 URA sau
12 a3 9 52d ALA?

@) du-l @GRre ol il s due
AU Sl HI2 UoU H1lsel g,
Ass.

(b) ddd aHl Reer] uet unead
Ass.

©) elRur el Gererel 2l dust
AU 5L HI2 URA Sl AL,

(d)  ulaumi dxsl s3ell ael 515 A YuR d-il

Q9 dH HR L 2] s

17

Which of the following objectives can be
fulfilled by insisting that the students
always come in school with required
notebooks and books?

(@  To make them regular in school.

(b)  To develop their positive attitude.

(c) To develop their sense of
responsibility.

(d To develop their sense of

responsibility and self-confidence.

o3 Yadsl uA 2o 0 o [adlai
ouML AU, d BUsLd UR AR 2l sul &q
Rug i 87

(@)
(b)

Renellaia Rafid s3 as .

AL SSRIAHS adRl-Al [isid s30 asu

N

9.

AHAIHL 2UoelRAl Gl s 30
ASY 69,

(©)

dv-dl  ouotelRlHAl eladl A

2LAESAAL Q51 530 A5 .

(d)

18

Why the students should be indulged in
group activity?

(@)  For their social development.

(b) For making them interact with one
another.

(c) To assign each of them proper task by
keeping in mind their individual
differences.

(d)  For all the reasons mentioned above.

Reneflatid MBS sinl w w2 Adr
ALA?

() Al AR [l S L.

(b) Al YRR dRBU 50 555 A d
CIER

) ol Reaellaidl efdod (e
el AV £ 5 w0y, 51 Al sl

(d)  GuRlS A siReudl.
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19

Which of the following objectives cannot
be realised by making the students
participate in ‘Seminar’?

@) To make them be present in the
school regularly.

(b) To make them interact with one
another.

(c) To do their social development.

(d) To develop their self-confidence.

Fendlotl A3 a4 Al (Seminar)
sl DAl sul 8, Rug sl i ?

(@) A woumi RABd A sler Avictl
gdl.

Auell a2l U AidBUL SRAddlFl
gdl.

AL AHURKS [s120 5L S,

(b)

(©)

(d)  durl Al [BsR Redl e,

20

On what of the following the teacher
should emphasize to motivate the students
to use school library?

(@  Teacher should explain the students
about the utility of library.

(b)  Students should be informed about
new books brought in library.

(c) They should be taken to the library
once in a week.

(d) They should be given information

about the reference books in which
supplementary information related to
their subject is given.

[enellaal uon Y siauql Guaiol s w2
URA a4 12 Qa3 N2 oeuda susidiniall
515 GUBLA UR A, MR Y5al ALA?

@) dxd yasiaudl GuaiBidl amenadl
Ass.

AHA YR sleddl 2UddlL Adl Yadsl [l
Rl Al 2Ass.

(b)

AtdleHl 215 duid dHe YR siauul s
%L AL,

(©)

Al Al MR Al AL 5 duell
e @oidl Yrs Mudl Wdsiau-l s
2dee] YacsiHigll Holl 2e4l.

(d)

21

What the teacher should do to teach the
students moral values?

(@  Students should be given information
about moral values.

(b)  Teacher should give them information
about moral values and he/she should
follow them too.

(c)  He/she should follow moral values.

(d)  Teacher should tell the life stories of

great persons to the students.

Renllatid Als 3y Rae 2uua w2
a3 9} s A2 ?

(@)
(b)

A s Hedl [l Rl 2uud) st

Qe dxe Alds yel [al sRdl 2uud
Assul i uld el d-ll GuR xMe el
Ass.

(c) uid Alds yeul wiar 9 A5

(d) dxd wenyadl  wadsu  Asonadl

AL,
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If a student of your school and class comes
to you to take private tuition of your
subject, what will you do as a teacher?

(@)

You will call him for tuition at lesser
fees.

(b)
(©)

You will provide him free tuition.

You will make your teaching so much
effective that students will not need
tuition.

(d)  You will do diagnosis and remedial
work so that learning related
weaknesses of the students can be

eradicated.

\ N\ A\ \ N\
oA ddiEl WUl A dRl Byadl daxiRl
aduirt [endl asul wA vl 2yq vaa
12 204 B, dl dH 9| s2?

(@)
(b)
(©)

el 4l sl d-f 2yt Aall.
UsdHi d-f 242t Al
dd dMIRL AWM VRd RARSIRS

otrlagll 3 sies el [Eelellal 2uast uiaall
%R % L U3,

d¥ WOUHL FElr LS 2 GUARLAS 14
ol %l Qeallidl  wieauq ol
AL ER 53] ASIA.

(d)

23

What of the following cannot be done
through E-mail in terms of teaching
learning process?

(a)
(b)
(©)

Sending assignment to the students.
Checking writing skill of the students.

Solving subject related problems of the
students.

(d) Leading the students to on-line

education.

U vad wBuwru A aenaal
smidl s 51 W2 E-mail L Gualol 48
Asal 1l ?

(a) [Renelltin 2eeua Hidel wsl wisdl asi

N

€9.

(b) [eleflatinl dvirt sigeudl dui 2 4b 9,

©) Renel2Al [EMucae el xR0

B5e Ul WS €9,

Qenelzia 2Acs Baer ud »AAR
s asiu .

(d)

24

Which of the following activities the
teacher should not do while reading a
lesson?

(@ Inbetween glance at the students

(b) Walk around little-little

(c) Pause for a moment in between

(d) Read whole lesson by standing at the

same place

wed sl auid Ras DA-uaidl s
ug - sl AsA?

(a) a2 a22 [eell2al uR ~AoR il e,
(b) 2l ld 2dddl 2dddl AR 5
(€) <Al AR s &Rl W2 [RIM Adl

(d) s % WU Gl W] 2A[ARA AU SRl
ERE)
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25

When should a teacher not to ask the
question?

(@ Until glancing at all the students.

(b) Before bringing the attention of the
students at himself/herself.

(c) Until all the students do not get ready
to answer.

(d)  Until s/he completes discussion.

Qa3 aclvisui sui el ws-l L yeoau A2 ?

@) iyl d amim [eellal uR AR -l d

Adl.

opal Yl A i Beliellalsg it el
611% skad L 53 .

(b)

ol el d 1M REelotl G 2l 12
AUIR - el

(©)

(d) ol Yl Raes wiail Al yd 4 s 4.

26

Which of the following situations is
improper for ideal questioning technique?

(a)

The teacher himself/herself repeats the
same questions more than once.

(b) Teacher makes other students repeat
the answer which is given by some

student.

(c) Teacher asks questions to such
students who take more time to

answer.

(d) Teacher provides opportunity to the
students to think after putting

questions in the class.

Qi 56 WRRaR 2us9l uzind wlB
2 Yoy 4 ?

(@) Ras uid 215 o U sl ay avid
YrRld A 52,

[lais sies Qe 2al 01241 Grrey wivd
iehell2al Wi yriRicde 5219,

(b)

Ruats 2l Qenedla ws ye9 % G 2iual
W2 Ay UMY Adl el

(©)

uH yeoul uedl aldl anl w2 Qendlia
[QanRan wel ds ).

(d)

27

Due to some inevitable circumstances, if
school administration asks you to teach
other than your subject, what you will do?

(@ You will tell them politely that you
cannot justify that subject properly so

assign that task to another teacher.

(b) You will go in class in the period of
that subject and by reading from the

books you will complete that work.

() Youwill accept that task as a challenge
and with proper preparation teach that

subject.

(d) You ask to give some time and when
you will have full confidence on
yourself then only you will teach that

subject.

A s vl AN 1R dw3 won-
uA ARl [Ava Rawnl [yad sinun
s a1 58 dl d¥ 9 807

(@) AW A Al 0 S8l 3 % o [ANa dn
Yoy =1y i) 25l Ay el Azl olloa siss
Qa5 A st AU 2414

ddl d Guadl diul aovuisi 2l i
sy sHigdl ail izl didid sl yel
5.

(b)

ddl d EMan ussR a3d dlsRal v
oy Ayl sAA d [ st s
529l

(©)

¥ 2Ll AHA HIRLL 2 2R dMAL dHIR)
A UR o [AMY cqeuac Ml Qs Bl1gl
AR % B 59

(d)
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28

What is final and highest objective of
asking questions in classroom?

(@ Increasing critical awareness of the
students.

(b) Keeping the students active in
classroom.

(c) Checking the knowledge of the
students.

(d) Checking understanding of the
students.

Rl sHl WL Yesat-l AN 2 GRAH 8 sul
ga?

(a)
(b)
(©)
(d)

[iehell2il Bd2a-iars AR aHiRdl.
Rieleflain cofvisni AFU vl
Rzl st dui sl

Rzl 2Me dwAdl.

29

Which of the following government
schemes has been planned to spread
education?

(a) EDUSAT
(b) EDUINSAT
(c) EDUCARE
(d) EDUCAT

Al 565 w518 wigr Ayel Ad Ras-u
AR U2 AUR sl sudl 97

(a) EDUSAT
(b) EDUINSAT
(c) EDUCARE
(d) EDUCAT

30

What does ‘to develop scientific attitude of
the students’ mean?

(@)

To increase interest of the students in
science-subject.

(b)

Teaching science subject by maximum
use of experimental method.

To make the students understand to
trust on the facts, which have been
proved by experiments only.

(©)

To make the students understand to
think logically while taking any
decision.

(d)

Qenell2uni “Asuls aqeul Qs sal”
2ed 47

(a) Rt By Qenelaiel 24 qsiRel.

(b) Mol YgRirtll HedH Gualal s394 [sust
[, e s 524

) Cenedliia wxonad sualol gl Rg addl
2l R % [Ascu sl

(d) [enellaAie AHoAad 5 sis weL Fely Al

ydal dilfs Aa QR sl

31

Which of the following objectives can be
achieved by allowing the students ask
guestions in classroom?

(@ To develop psychomotor skills of the
students.

(b) To develop the interest of the students
in the subject.

(c) To develop positive attitude of the
students in the subject.

(d) To develop sense of appreciation of the

students towards subject.

qatvigul [Qeellaia ugil ygoadl g2 suuadl
ARAunHidl sl H-a 8, Rug 29 ?

(a) Qe HUwRs Slacu-dl [Bsw
Ral.

(b) %o Gyl Renellatiql -t [s sl

€) o Eval ReellieAl e5RIMSs daRli-l
[s KRl

@d) o Byaul Qi sedl euari-l
[s KRl
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32 | Which of the following objectives can be | [Qeneflaal 3 $8AdiAl dl AUSAUHL WAL
gc_hleve_d by' making the students use saacll DA-unis sa 3q Bug adl?
idioms in their own sentences?
(a) Students acquire knowledge. () (el s und 52
(b) Students develop understanding. (b) [Eeleflotidl amosl Bisid 2y,
(c) Students apply their knowledge. () Qg StmAL GualolL £3.
(d) Students develop mental skills. (d) ReheflAiril HARs Slacll-l Fsid .
33 | Which of the following tasks is performed | qajuisul adi 22045 gt Al £}
in classroom while teaching? sl seaumi 204 7
a) Students are motivated to learn. ‘s N
@ _ , (a) [Aehedl2AiA 248t Hie URA AL g,
(b) Expected change is brought in the 3
behaviours of the students. '
(©) Knowledge of the students is| (D) Eaill»ti adii »mfd uRadw
developed. CICEIETENCRS
(d) Al of the above mentioned. (©) Qelellativtl stieiil Bist S22 2409 6.,
(d) GURLSA dHIM.
34 | What is full form of MHRD? MHRD | Y3 -l 9| 87?
(@) Ministry of Human Reformation and | (33  Ministry of Human Reformation and
Development. Development.
(b) Ministry —of Human Resource | (5) Ministry of Human Resource
Development. Development.
(c) Ministry —of Home  Resource | ¢) Ministry of Home Resource
Development. Development.
(d) Ministry — of  Human  Rights | (d) Ministry of Human  Rights
Development. Development.
35 | What is full form of CBCS? CBCS -, 43 -m 9 8?
(@ Choice Based Credit System. (a) Choice Based Credit System.
(b) Challenge Based Credit System. (b) Challenge Based Credit System.
(c) Credit Based Choice System. (c) Credit Based Choice System.
(d) Criteria Based Choice System. (d) Criteria Based Choice System.
36 | What is full form of RTE? RTE | Y3 -l 9| 97
(a) Right to Educate. (a) Right to Educate.

(b) Right to Educated.
(c) Right to Education.
(d) Right to Educating.

(b) Right to Educated.
(c) Right to Education.
(d) Rightto Educating.
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37

Why should a teacher prepare logbook?
(a)
(b)
(c)

To cover the syllabus in time.
To keep the record of his/her work.

To make the principal know what is to
be taught daily.

(d) To plan teaching strategy.

aw w2 Ra3 2Rs a (Log Book) awdl
ALA?

(a) B =AML A5 Yol 53] Asid d
Hie.

(b) Rad e stal-l e vt L.

(€) &A% Ali AN R, © Al 2l
DD R IR EER

(d) AP YSRAIAL AU S0 HI2,

38

What should a teacher not do, if he wants
to remove maladjustment of the students?

(@ To make the students try to get highest

marks in the examinations in the class.

To make the students know their
abilities and limitations.

(b)

(©)

To make the students decide their goal
according to their capacity.

(d) To make the students not to compare
themselves with other students.

A Ras Rendlai-u sugand 2 s
HAAL 81 dl DA 9] 5 AL ?

@) Reuedlia uaumi el ag, opel Hagal

Hie Herd SRl 584,

Qenela) Haleil 2 uasdiel das
HUSARUR Sl

(b)

) Geudla durdl sl AR @l 2l
A58l s, sed.
(d) Qe wididl darl sied [ el g

A 52 dll A1 ).

39

Which of the following activities will be an
obstacle in maintaining mental health of
the students?

DAl s ugh Qenflziu wnRs
a2l [ S1AUL aRiE3Y oA 97

QLA elsd?) du suad).

(@) To get the students checked medically. (@)
(b)  Renellati udlausi wam 4 dldal J2
(b) To makg tht_a students try to stand first 54,
in examination. _
(c) To provide them sex education. (@ Rl gl Ram 2,
(d) To provide them value education. () Geuelloiql en Ram 2,
40 | Whose birthday is celebrated as the | quaadi st Ban Ras Bax a3

Teacher’s Day in India?

(@ APJ Abdul Kalam
(b) Rjagopalachari
(c) Rajendraprasad

(d) Radhakrishnan

GoaalHl 24 8?

(@) LUl % eed s
(b)  AeLwR]

(C)  A%sUAL

d)  RpusAA
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Indian Institute of Teacher Education

(A State Public University established by Government of Gujarat)

PAT (Profession Aptitude Test) -2019

- Test for programme : M.Sc. M.Ed./ M.A. M.Ed.

- Area to be covered in Test:

COMPONENT MARKS
1.General Knowledge 20
2. Teaching Aptitude 20
3.Historical Preview of Education 20
4.Philosophy, Sociology, Psychology 20
in Education

5.General Pedagogy 20
6. Communication Skill 20

Total 120

Duration of the test: 90 minutes
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1 | Inwhich year did Ahmedabad get Status of sl AdHl AHeladleal des 3RSy RS £
World Heritage City? VUM e ?
a. 2017
U, 2017
b. 2007
. 2018 ol. 2007
d. 2008 5. 2018
S. 2008
2 | Whois appointed as the first Lokpal of India? | @lRdoll Y AsUWA diy Sl [@Ayscd scUH
a. Girish Patel wLcAL?
. Pinaki Ch h
b !r.\a i Chandra Ghose 2 Bllel Wt
c. Dilip D. Bhosale Rodl 2
d. Abhilasha Kumari O THalsl Hos UM
5. Rcllu Sl slu@
s. vl gHRl
3 | Which of the following animal is the major ol Asitill 53] Wil ollRell sdlcs] Yyt wisHel B?
attraction of Gir forest? w. AR R
a. Asiatic Lion
o sLell
b. Elephant )
. s. Alsl
c. Rhinoceros
d. Tiger S. A
4 In which of the following city/cities is Indian | o{lAotiuiell s2ul AR / 2ABAMUL B3t BRRY2 wLS
Institute of Management situated? A Noeoll 2UUAl S2cHl WA B?
a. Ahmedabad
U, HUHELALE
b. Bangalore Aol
c. Khozhikode o el
d. All of the above 5. B8\
S. GURell oLl
5 | Which of the following Article makes | oflAotiniell oituQell 56 sctuui Qe yaed
education a fundamental right? @SR ALY olelaml AAA B?
a.21c
. 21 ¢
b.21a
c.223 o, 21 a
d.22¢ 5.22a
S.22c
6 | Which of the following was most probablythe | aiQd A euRdul QAeunisll s 't,{[(icrn
. . o
first metal to be used in India? Ay GUALL 42 sA?
a. lron .
b. Copper . C*ﬂ@
c. Gold oL, iy
d. Silver 5 @01
s. Uil
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7 | Tropic of Cancer passes through which of the | ol Qo s2au R dlal 20 H 55 gl YAUR
following group of Indian States? 2 D2
a. Madhya Pradesh, Chhattisgarh; Manipur ’
b. Gujarat, Rajasthan, West Bengal . kué%t! t?rﬂ%l:)lé, HQ&I:R
¢. Madhya Pradesh, Manipur, Bihar ol. JI%Ucl, AL, uBH doun
d. Maharashtra, Orissa, Gujarat 5 kué%l HQQH? [aél%
S. HORY, @@R{l, I %Rl
8 | Which of the following is the highest peak of o{lAstHiell UAYA UddHIOUg] AR Qw2
Satpura Range? o Aetniell 8?4 Y,
a. Gurushikhar )
b. Dhoopgarh . 313@“’{?
c. Panchmarahi ol qualé
d. Mahendragiri 5. A4l
s. 13013
9 | Which of the following is a non-greenhouse ol AotHiel s oflt s1GU A oldl?
2
gas: 2. At
a. Methane
b. Nitrous Oxide ol alldgU AsAUBS
c. Sulphur hexa Fluoride 5. UCHR d5AUL SARUYS
d. Carbon mono oxide s, slolol eUsUES
10 | Who is appointed as Home Minister of India Al ARHL Al cloll aléq;[[ A3y s\la @Quecunl
2
recently? el D2
a. Amit Shah
b. Rajnath Singh w. A wWe
¢. Mansukh Mandoliya ol. A%wlU Rle
d. Smriti Irani 5. Holyul rsolla
s. 3 Al
11 | Whatis the full form of S.C.E.R.T.? AA AL 8. R, &L o Y3 olld 9 B.
: S.ta'te Council of Educational Research and w22 s6RA 2}-{13 a%q%%ma Bul s E@:OL
raining ] ) )
b. State Committee of Educational Research o. s$ sMR 2;&3 QW?’QMQ Rl s E@LOL
and Training 5. ®5§ sIGRA s Axydaletcd R As lolat
c. Standard Council of Educational Research s 22 s6RA ms a%?g%%tom Bual As Bual
and Training
d. State Council of Educational Research and
Teachers
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12 | According to John Dewey, school is a o8lol (3cll all 1A WL A A§ -------- A O .
|nst|tht|on. . %{U-U.@S
a. social
b. philosophical o, cllls
c. psychological 5. Holldsllls
d. technical s dsollél
13 | The function of diagnostic assessment is to @ELloUleHS H\@q’lgdoi sl %{badwj _____ o
evaluate of learner. Jj(:Eli.Sd SQCU.Oj D
a. difficulties '
b. achievement . H%};Gﬂbﬂ
c. personality ol. Al
d. interest s Sl
S. ™
14 | Which of the following method can be used (QaullAHl desRell cowll @sataal 12 (A
to inculcate the feeling of cooperation weniell s8 u\gfacﬂ GU2oL s3] 9lslal ?
among students?
a. provides books . HHQ AU
b. show movies ol. (36 ccdtadl
c. organizes a class 5 q:)‘[aj 2ol SQQ{
d. assign projects in groups . ) )
S. YUHl Ylwse siH vlug
15 | Which of the following method will you dQ QalRA a2 @Qadell ctasy @salaal =2
adopt to develop a sense of discipline among 2 weniel ss u&[a A GUaoL 52902
students? )
a. develop a rule book w. Qarad dar sl
b. give responsibilities ol. lloLelA Qucll
c. give incentive 5. Y2813 WUl
d. give punishment
s. Ut 5l
16 | The most important responsibility as a Qlets 3 Al ]-{QS(C{LLQi gl lHELI — B,
t herist
eT(C er ':‘ ;’—t - 2. (QereRA A vat Amall
a. keep students happy
b. give good marks to students ol [Qeel A Rl 8L A
c. impart good knowledge with values 5. (QareRA 2 HEU A sllat Mlucj
d. keep management happy 5. AUASA Yl vl
17 | Which of the following can be the best role Ao il 58 @i[ﬂgl @etsl we Al A 2
f teacher?
orateacher ' . Ao, BAAgR ua Hdledls
a. friend, philosopher and guide
b. friend, foe and guide ol [ﬁDL, &t Al Hledls
c. fright, philosopher and guide 5. S2, (3% wal Holedls
d. fright, foe and guide 5. 52, £9Mol WA Uleds
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18 | Which of the following can be the most AR Qs olotal 12 oA il s20 2.l
import?nt qu?lity for being a good teacher? Qs Usccloll B?
a. physical built
b. knowledge . ARRs AU
C. appearance o{, sllol
d. behavior 5 Ruld
S. cdlat
19 | Goal of teaching must be meaningful and Qatalll L udyel UA ---------- o{l 3R
ligned to th ds of
allghed to the needs o A 2NsclAA DA ASA,
a. society and learner
b. management and teachers B ALY ol U
c. society and management ol AarHe wa (Qles
d. learner and management 5 UM A Dowile
S. AULAL Aol AaAwHe
20 | In which of the following constitutional listis | o{lQ wAA cite2 Q.L@;.{gﬂ 565 Q.L@)_L[ AEEE
i I ? .
education placed yscuui WAA D 2
a. central ]
b. state . Zdla
c. concurrent ol AU
d. school s wnadl
S. Al
21 | Which of the following is the educational elbélai @&Ql QA 1986 gt o{lA wAAHL 5
structu.re proposed by National Policy of 518—[@8 ku’i %LUZLC{U-H WA D ?
educational 19867
a. 10+2+3 W 10+2+3
b. 8+4+3 oL, 8+4+3
c. 5+3+4+3 . 5434443
d. 8+2+3+2
S. 8+2+3+2
22 | Which of the following objectives of oA wheHiell yecllaur sMalet gl Yrdildd
L Mudali _
educatllorl is proposed by Mudaliar sacHl wAd @&Qloﬂ é‘i sl B2
Commission? )
a. Growth in productivity U GAULESALHL Ci@"
b. Encourage modernity o, b{lgafsdla YlRUEclol
c. Education for Leadership 5 a"l(q w2 @&lQl
d. Social and National Integration
S. AHUBs Ao AL ASls20
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23 | Who was the Chairman of University YAaRIR (el sMalet 1948-49 oll WAl SlQL
Education Commission 1948-49?
, ecll?
a. Dr. S. Radhakrishnan
b. Dr. D.S.Kothari . SL A, A(Bwtst
c. Abdul Kalam Azad o, St Sl A, 5613
d. William Bentick 5. BGEE SCM BUNLE
s. QlQam ARs
24 | Which of the following commission stated, o(lAsumill sl sMalal s6 6d 3 ‘@URctq] aucll
I;I'he :iestlny of'l?ndla is now being shaped in 5 Aol LS UsLES €§j )
er classrooms’s
a. Secondary Education Commission . Asos3l @&Ql s(atet
b. University Education Commission o, qf&q@fl @l&th s[@ 9Lt
c. Sadler Commission 5 Ascrz sMolot
d. Education Commission
s. [Qetal sMatet
25 | Which of the following is known as the o(lA WAAH sl 2 [@letatett Aot stel
. L -
Magna.Car.ta of English Education in India? R ‘MQﬂc-ﬂ D 2
a. Monitorial system
b. Wood’s Dispatch u. AWeleRlad Rren
c. Lord Stanley’s Dispatch o, s B
d. Narendradeo Committee 5 A @aldoll R
5. st s(2l
26 | Teacher training was renamed as teacher o(lAsimiell sal sl @Qets ylRletele] ol
educa'flo.n by which of the following secl A Blats @l&lQl 821 )
commission?
a. Indian Education Commission A, el @l&lel s(alot
b. University Education Commission o, g[&q[@[é{ @l&th s 2Lt
c. Secondary Education Commission 5 Asesd) @&Ql s@olot
d. Hunter Commission ]
s. 822 s(alet
27 | National Commission suggested that the Al U Y & Y0l Ulsa] oM wedlal -
term practice teaching should be replaced | 20 RS2
with the word '
a. School training . o ctellm
b. Internship ol. Sealallu
c. Practice Training 5 1;[[@[@8 alcll
d. School teaching
s. auou Qe
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28 | National Knowledge Commission envisages AL stlet UA (Asttol Aol dAsollSloll ASAHL ----
the promotion and creationof ____in ol Y2t UL Hosotoll scuotl 53 D .
science and technology ]

a. resources U AU
b. infrastructure ol Hloy
c. guides 5. UoleBlst
d. knowledge

S. gllal

29 | New educational policy recommended ol el AR v s3al [Qewtett ------------
vocationalisation of education particularly Aolssl U GElC{%{l?ﬂSQQloﬂ ALAMOL AR
for stage of education?

a. primary . utafﬂs
b. secondary ol Hlu@s
C. upper primary 5. GRUAR MA@
d. aaganwadi .
s. uioateusl

30 | Which of the following rivers is not IAEHL QoM 58 o€loll GecQW o12l?
mer.1t|oned in Rigveda? W @g
a. Sindhu
b. Narmada ol oL
c. Ganga 5. ool
d. Yamuna 5. Aol

31 | Which of the following philosophy strongly | o{lQoyuxidll s¢§ Q‘C’R‘Lﬁ wbls Qewell v
advocates religious education? @Hlﬂd Y
a. Pragmatism
b. Realist Bl RAéslrdle
c. Existentialist ol. dlrcdlAsdlale
d. Idealist 5. wRAdCLAlE

s. vedale

32 | The major drawback of caste system is | og(Q calcizaulsll yu| wiH{l------ UMl Geelal
development of society. D
a. closed )

b. changing w. e
c. dead ol. URadetalld
d. open 5. Yl

€. vjccll
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33 | Which of the following can be considered as | of|lAoii{iel Sl cllisell Q&L HIZ YU 2w
the first school for a child’s education? 33 Bavlelnd ®
a. school
b. family 3L, Wl
c. playground ol URBalr
d. peer group 5. Hclo] AElol
S. AsULsl U
34 | School is considered as ----- agency of . AHUB S50l ----- AP 33 v
socialization?
8 .
a. Formal
b. Non formal u. AuURs
c. Traditional ol WellWURS
d. modern 5. URURLILA
s. wlYlas
35 | Practical use of theories of sociology in [Qetedl wHEsRell Rgidlell QRN ReA---.
ion is ref _
educa.tlon is referred t.o as U{.@&lQLOj AL
a. Sociology of education
b. Educational sociology O{_Q&L@S HUHFARA
c. Social base of Education 5. [Qatatetl ARs w2l
d. Theoretical sociology s Aai@s AuesURL
36 | Which part of brain plays an important role HoleoAl S0 GO LAl Uﬂ@‘-ﬂ q@chLQ‘[ @j\mSl
. N
during defehse mechanism? oA D ?
a. Subconscious
b. Unconscious A U Adel
c. Conscious ol. WA dal
d. None of the above 5. Aol
s. o{lAsttuiell As Ul olel
37 | Who proposed theory of classical il Aleritulotoll Rgict SO w02
o
conditioning? 2L uLelcl
a. Pavlov
b. Kohler ol SlecR
c. Thorndike 5. AolSIBSs
d. Skinner s o2
38 | Which of the following is the correct formula | o{| Qe Hiall (ﬂ[},@;{[g Hieall U] YA 83 O.
. . o
for intelligence quotient: 2 Hlel@ls 2l - slts@s dal
a. Mental age + Chronological age
b. Chronological age + Mental age ol sletsMs cat + HelRls aa
c. (Mental age + Chronological age) x 100 5. (Hld@s a2 = sldas@s ) x100
d. (Chronological age + Mental age) x 100 S (Sth&mS a2l = Uel@s cl) x100
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39 | Which of the following is the best method to A Aol 58 uglQ ollnsell [Aslell wew
tud th of child?
stidy growth of chi sl HIZ U B ?
a. Psychoanalytic
b. Comparative AU HallldAus
c. Developmental W, dCollcHs
d. Statistical 5. QSIS
s. issisla
40 | Which of the following is true for WalgClot U2 o{lAstHiell 9 uj B?
djust t?
agjustmen . dlolal yslau
a. two-way process
b. dynamic processS ol dAellet uél?.{l
c. continuous process 5. ddd uéleu
d. all of the above s GU2oll dHIlX
41 | Pedagogyisthe studyof LAY A ol WeA B?
a. edec‘atlon W @&lQl
b. guiding students .
¢ learning style ol. (QaullRAa Hdle st vug
d. teaching method 5. lluaell Aell
s. Qe ugl
42 | Inwhich of the following thinking processes, Al (Qruelll ulBaun, AGEa] sllol 33|
knowledge of word is not needed? otoll?
a. Imaginative
b. conceptual A seusllRet
C. associative ol. ASCULHS
d. Theoretical 5. sl
s. dsilas
43 | Which of the following behaviour may be Mq@d q&glgo-u GelsRlal  walsal ML
utiIizef:l to reduce instances of inappropriate ol Aotimiell 52l cdotol GUL U o B2
behaviour? .
a. Praise v HRiL
b. Reward oL YR
c. Toignore 5 ?J{C{OlQlCi
d. Punishment
S. Uxl
44 | Special education is related with the @QRs Qeaw AR olmsl HE2 eldls
edu'cational provisions for children. RolallsSl U 2ei@d B.
a. gifted
b. backward . u(aG{l%llUﬂ
c. differently abled oL, Uedlcl
d. motivated 5. Rcaiol
s. URd
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45 | The components for developing blue print YU YI3u @Qsulcal HZoll US| 8
ae A, A2l AsH, Al ual Ysloj ai3uU
a. Topics, objectives and form of i
questions ol V2l AsH, (el wal Yslle] a3u
b. Topics, teaching and form of questions §. AU, Sl Al Ysllof W3U
C. Tea.chlng, objectives and form of s. Vel AsH, 2"1@ wUA @&lQl
questions
d. Topics, objectives and teaching
46 | Sociometry is a technique which measures AHsAREQ A dsolsl & @ wHRs
social A WA D,
a. norms
b. relationship v @.?Q-U.
c. trends ol. doiu
d. superstition 5, C{Gth
s. dulQa
47 | Which of the following method may be Usn Aa@s uglQal [@Qsuicial 12 oA
helpf%JI for developing successful educational Wil 58 usl HEEIU UL 9 B2
practices?
a. scientific w. dalllls
b. subjective ol. wlcHcell
c. objective 5. wotlaicell
d. virtual
S. djud
48 | Which of the following is used for audio a2 sllcal Lol UslA HI2 oAl
isual hing aid?
visual teaching aid? ol GUADL Ul B2 A . QAR Bl ual AR
a. Videos films and audio cassette
b. Video films and Movies LRU
c. Black board and chart ol. (A3 Gg@-ﬂ Ul 1—1\Cﬂ\')’>
d. Overhead Projector and Movies s Qs OlE wal UE
S. WARES YIBseR uA Yl
49 | Stimulus variation in Teacher Education is a Gl Udladel A slalcl ol usiRk .
f kill.
type of____sk . LRAUSL
a. Teaching
b. Microteaching Ol {&H AellUat
c. Communication s . AAUAR
d. Laboratory s. yloLeuo
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50 | Who proposed programmed instruction for YuUH dud AellsMd uti2etetl (BHiadl sla
the first time?
e first time scll?
a. Pressey
b. Skinner A, Yall
c. Pavlov ol. SlelR
d. Thorndike s wadl
. Aalsles
51 | Which of the following is true for the process | yelalol Ylsal 12 o(lA 1wl 9 AR B?
o
of com.mumcatlon. 2. Adc Yl
a. continuous process
b. continuous program oL Actet stelsu
c. intermittent process 5. u3d ’l;l[?s&ll
d. continuous plan S Udd 2ol
52 | What is the name given to the person who dtal I,R-{l@d 5012 (sl Qi ol WUl ?
its th ?
transm.ltst € message 2. Ul §2012
a. receiver
b. sender ol Yuis
c. decoder 5. Slsls?
d. interpreter S §,G{l[a?ﬂ
53 | Which of the following barrier can be NA%Al AR HRE QoM sl AU
classified.unfjer physical barrier for ARs sy 260 CD[[fgd 59 aslal D2
communication of message? i ]
a. Noise and distance A, el Ael AR
b. taboo and perception ol. (@AY WA vUE
c. expectations and prejudice 5. AR AR LLCblé
d. social settings and culture ' .
S. AHURs dlsctal wal sl
54 | Which of the following examples can be HDEENE 53 GeLsWL WACES YRll2AA d601
. T
C|aSSI.erd under nonverbal communication? ClO[[{;d 53 alsial D2
a. voice and body language
b. facial expression and statements u. @ wel wRlRs et
c. words and statements ol AdRAL slaellal Wal [AAeal
d. facial expression and body language 5 96El W PAEA
S. UBAell slaellel Aa WRRs el
55 | Letters, emails and telephone can be Y, sA8c wal (Aot ol Gelgel
classified as the examples for A3 C{O[[{sd 59 atslal D
a. components of communication ’
b. channels of communication A, Yot otl tesl
c. elements of communication o, Ucllol Aol
d. features of communication $. Yelllel el
S. Yelllol cAlal@ls Al




MMGP A

56 | Which of the following is not a o(lAstHiell 53] Yclote] slaicu otell?
commu.nication skill? 2. AL
a. chatting
b. listening ol ARt
c. writing s. AWot
d. running s €S
57 | Which of the following type of listening can telfl Aol dslelcal BaHalHl ol Auniell
help in identifying the difference between sl o 52l YsL2 HEEIU US 9 D2
the sounds?
a. comprehensive W, RUUS
b. discriminative ol Aeeuayel
c. dialogic 5 AdlE
d. empathetic
s. Uslojey(d
58 | Which of the following type of listening is HoTE Aot A uAH L €M 2et ol Astimiell st
helpful duri i lling?
elpfu durm'g guidance and counselling ol 520l YsL2 MEEIU A Y
a. therapeutic
b. empathetic B, GUAURLHS
c. evaluative «. %{éLOjG-L[a
d. all of the above 5 LLC'%llSOi
S. BURell witll
59 | Which of the following is the benefit of AWHURs AzasA g2l sq[&%%tdoﬂ $LAEL
communication through so.cial neth)rks? ol Dotiatioll %.1 2
a. Easy access to news and information
b. Worldwide connectivity U AHAR B Wilecll Qi&‘[l U sl
c. Time Saving ol (Qacadl ‘ﬁSlQl
d. Experiential Learning s a2l elaud
S. AojaAlcHs AAlel
60 | Which of the following is the correct QUL $ANAL Uliet scll HI2 oA vudcuniel
seq.uenc.e for acqu.iring Ianguage s.ki.lls? %{Rj Uo{5H 2
a. Listening, speaking, reading, writing ) ) o )
b. Listening, writing, speaking, reading v Heand, 0-{1@{(1, AlUG, Aug
c. Listening, reading, writing, speaking ol al@mcj, C'tU{Cj, OnC'tQL C{'lw‘:i
d. Reading, writing, speaking, listening 5 %{lG{ij, C{'l%lci, C'tU{QL OﬂC'th
S. didet, dwd, dletd, dieollg




Indian Institute of Teacher Education

(A State Public University established by Government of Gujarat)
TTT (Test for Teacher Trainees) -2019
- Test for programme : B.Ed.
- Area to be covered in Test:
COMPONENT MARKS
1.General Knowledge 20
2.Communication Skill in English 20
3.Reasoning and Numerical Ability 20
4. 1CT 20
5.Logical and Analytical Abilities 20
6.Creativity, Innovation & Problem 20
Solving
Total 120

Duration of the Test: 90 minutes




DIBE A

1 Who wrote the Gujarati Folk song ' Apna Malak na Mayalu Manvi..'?

"ALURU HEAsoll HauLg) Histell” oAl Alsolldoll st 51 531 B2

A Rajendra Shah AP LS
B  BabuRanpura o110 ARYRL
C  Umashankar GuHlalsR

D Hemu Gadhvi &y atedl

2 Where was Dakshinamurti Institutiion established?

e(alouy(d dzeuell euusil sell sRauul ALl sdl?

A Sanosara ARAURUL
B Shantigram allQaun
C  Ambala el
D  Ratanpur Relaly

3 Who is the first Gujarati woman winner of Asian Games Gold medal ?

Aot ANS1UUL AEs ASA Wtttz YU Al Hdeu s 82

A sarita Gaikwad AR AL auasaLs
B P.T.Usha L2l Gu

C  AshaParekh LA UWRW

D  Mallika Sarabhai HcAs AR

4 Who is the Chief Minister of Gujarat?

a8 cloll Yuniol sloL 82

A Narendra Modi ol0% HIEL
B AmitShah UM wWe
C  Vijay Rupani (AQesat 3wl
D Nitin Patel At w2t

5 Which single party won mejority in 2019 parliament election in India?

2019¢{l Alsels(l eullul 56 WA Ascu 6l ugudl Radl?

A Bhartiya Janata Party et laL otcl wél
B Indian National Congress atdla 1l sl
C  Samajwadi Party A el wdl

D

Telugu Desham Party aCjDJ, gat wdl



DIBE

A

6 Who is called the 'captain cool' of Indian Cricket Team?

Rl (332 i 8lgL Feat set dR1E o 8?

A
B
C
D

Virat Kohli
Saurav Ganguli
Kapildev

M.S. Dhoni

[@zie slecll
AR 2oyl
sQaga

AU AY Aoll

7 Which of the following Indian Airforce Pilot was released by Pakistan in 2019?

oy 2019ui ARAell sl URAARA UlBRclol glRL Y5 52AA?

O 0o ®w >

Ajit Singh
Birender Sing
Abhinandan

Subroto Mukherjee

WY dRlY
REEARE]
EEE
Yolldl HuR

8 Where is the famous Sun Temple located in the state of Gujarat?

ofesRet A>AHL URG YuleR sl wAd B2

A
B
C
D

Shamlaji
Modhera
Ambaji

Palitana

ALHAU)
e

N ATGS)
utelldew

9 Who was the Indian Army Chief during the 1971 war?

197101l Y& €M 2let ARl Aotlell dASL S1QL sll?

O 0o ®w >

10 By what per capita income increases?

ol gl HIAULELS BlasHl R AA B?

A
B
C
D

Birendra Singh
Ajit Singh
Anil Athwale

Sam Manekshaw

Trade
Economical Development
Export

Import

REEARE]

W dRlY
Ul vsaQ
AX {2

aulR

ALs (st
(st
Al



DIBE A

11 Who is called as the King of Market?

olo1R01l A% Slol sdcllHl ALA B?

A Producer Geules
B Trader autdl

C  Investor AsAUS1R
D  Consumer Ules

12 What is measured by per capita Income?

HaEls utasell Aof Hiuet Al B?

A Econimical Development (s Qs

B Daily Income tlas s

C  Personal Needs (st 33
D  Life Standard of a Person 021@01 %) clol 0

13 Which of the following is world wide issue?

ol Aot HiY] ¢ (Qarcaidl uHAL B?
A Food Issue WIRLso(l AHUL
B Terrorism Uldsale
C  Education Qe
D llliteracy BEER

14 What is the full form of RTI?

RTIo] 9 Y3 ol g 82

A Right to Information AB2 g BogH 2ol
B  Rightto Innovation A2 2 BollAdlet
C  Rightto Integrity A2 ¢ 813l
D  Rightto Emotion As2 g BsHl2et

15 Up to what age it is called Child Labour?
32l GuR Yl oo Ul sdauau?

A 17 year 17 oy
B 18year 18 o
C  21year 21 oy
D  14vyear 14 oy



DIBE

A

16 Who started Bhudan Yagnya?

GElot Ast 1A A3 sAL oA?

A
B
C
D

17 What is the benefit of libralization?

Vinoba Bhave
Acharya Kriplani
Sardar Patel
Gandhiji

Geldls0lall SLAEL 9 B?

O 0o ®w >

18 Who estabished World Trade Organization ?
(Qat Quir Aotsatell 2auett s1Q 3l sdl?

O 0o ® >

Expence Increases
Agricultural Development
Government Control on Prices

Debt Increases

USA

Europe

Member countries of United Nations

UNESCO

[Qollou eua
AR Bucuell
ARER Ud

ali el

wARA all B
sl [@Asiu

(B3l GUR URsIRa1l viga
gq all ®.

JalyA
YAU

AYscl AR Aol oA g2
Yolsl

19 Which of the following is non-traditional energy source?

o(lAottHill 520 [AotuURdLd Gt Al B?

O 0o ®w >

Petrol
Gas
Diesel

Solar Energy

pritel
e
Sl
R Gt

20 How many Lions are on the Top of Sarnath Stambh?

AURAUU 2detoll 21U GUR 32cll Rls 82

O 0o w >

Five
Two
Four

Three

uliA

AR
20



DIBE

21

22

23

24

25

A

workers went on strike.
(No Gujarati Version)
An

A
The

O 0 @™ >

No article
I and my brother look alike?
(No Gujarati Version)

Do

Does

O 0o ®w >

Are

clever he is, he is often cheated.
(No Gujarati Version)
As

Though
But

O 0o ® >

However

Butter is made milk.
(No Gujarati Version)

by

from

of

O 0o @ >

with

Do not enter _____ unnecessary arguments.
(No Gujarati Version)

in

into

for

O n w >»

no preposition



DIBE A

26 He filled the bucket water.

(No Gujarati Version)

A into
B  with
C by
D in
27 He is becoming everyday.

(No Gujarati Version)

strong
stronger

strongest

O 0o @ P>

more stronger

28 her to come in.

(No Gujarati Version)

A told
B  asked
C said
D  spoke
29 lgoto college everyday.

(No Gujarati Version)

A 3
B an
C the
D  noarticle
30 My brother always me.

(No Gujarati Version)

A tease

B  teases

C  teasing

D  hasteased



DIBE A

31 No one challenge the God.

(No Gujarati Version)

A may
B can
C  must
D  should
32 Prevention is than cure.

(No Gujarati Version)

A worse
B  better
C  thebest
D good
33 She dislikes coming late.

(No Gujarati Version)

A me
B my
cC |
D  myself
34 She is married Bhadresh.

(No Gujarati Version)

A with
B for
C to
D  about
35 Smoking is injurious health.

(No Gujarati Version)

A for

B +to

C  about
D with



DIBE A

36 Tell me you want me to do.

(No Gujarati Version)

A what
B  which
C  that
D  when
37 English is a difficult language.

(No Gujarati Version)

A A
B An
C The
D No article
38 it rains, there will be no match.

(No Gujarati Version)

A f
B  would
C Should
D will
39 Learn this poem by heart.

(No Gujarati Version)

A the

B 3

C  noarticle
D an

40 Of the two plans, this is

(No Gujarati Version)

A good

B better

C  best

D more better



DIBE A

41 What is full form of Internet?

Boeal2a] Y] ol g B

A International Network gealaletlcd a2ab
B Interconnected Networks Bo2R SaA5eS aecld
C  Internal Network Bo2 0l a2l

D  Intra-Network Bogl Aeals

42 What is full form of JPEG?

U] Y3 ol g 8?
A Joint Photographic Experts Group A tSoe Qam@s Ague YU
B Joint Photographer’s Experts Group Hoe glalowgd Aetue yYu
C Joint Pictures Enhancement Group Slefo2 (AUsU WodlANo2 Yu
D Joint Pixel’s Experts Group BeSo2 sAcU Ague YU

43 Which of the following is not a social network system?

(LAt 585 AHEs Aead uuell ool 2

A WhatsApp Al AU
B Twitter REE:

C  Android ARlES
D  Instagram o2 H

44 Which of the following is not an operating system?

o(lActtHil 585 BUUREo ReH otell?

A Android U BS
B Windows (AoS103

C  Dpos S~
D  Instagram Yo loULH

45 Which of the following is true?

o(lAotuiell g w3y B2
A Information is a result of processed data. IR A ylsa wAa éalcj u@QllH 8.
B Data is a result of processed information. Sel A ylsal wdd l-llférﬂcj uReuu 8.
C Data and Information are the same. 3el vl HURAl wRuw B,
D There is no any kind of relation between Sel wa HIBAL aQ aﬁl{Ql Yslell ol

data and information. ol



DIBE A

46 If some numbers are given in the cells from A23 to A46 in Excel sheet, which of the following
function should be used to calculate average of given data?

AsAco(l Aleul A23 &l Ag6 Yellotl AGUHL Y5 AvaAll UMl AUAl B Aofl v
alltall M2 o{lAsuuiell s3] (AR ctuatul wial?

=average(A23:A46)
average(A23:A46)
=averege(A23:A46)

O 0o @ >

=avg(A23:A46)

47 How many columns are there in Excel 2010?

Excel 2010 Ml $2cl el (Columns) RERY

16384

A

B 16484
C 256

D

65536

48 Which of the following is a word processor?

ol Aot uiell 20€ UlBs (word processer) 53] 872

A MS Excel

B  Msword

C  PowerPoint
D  MSAccess

49 What does ISP stand for?
ISP 3ed g ?

Internal Service Provider

A

B Internet Service Provider
C Internet Secured Power
D

Internet Service Publications

50 What does ATM stand for?
ATM A2d 9j?
Automated Tailor Machine

Automated Transaction Machine

Automated Trailer Machine

O 0o w >

Automated Teller Machine

=average(A23:A46)
vaerage(A23:A46)
=averege(A23:A46)
=avg(A23:A46)

16384
16484
256

65536

AHAY AsAA
AHAY A
ylaRUW o2
A HAY A sA™U

ool UlU Naess?
Soeae AU Yaues
o2 RslS ulaR
o2 UlU uocllFast

AWR2ANLS AR H2llot
WRIALS 2loBsalot Halot
MBI EREIYCERTT] ]
NE R ERFICERTTIET



DIBE

A

51 What does 1kb stand for?

1KB Wed g ?

A
B
C
D

52 Which are both input and output devices?

8oye el lB2Ye slal Uslell Altsll sl B?

O 0o ®w >

One Kilo Bit
One Kilo Bytes
1024 Bytes
1000 Bits

Pen Drive-Memory Card
Pen Drive-Mouse
Pen Drive-Key Board

Memory Card-Key Board

ot (S olle
cot (5 csed
1024 ollge
1000 ofle

Yol LFL-NAIL 518
Yot SLefal-HIGAU
ot glefer-gl-els
A3 s18-5lells

53 What is the smallest storage unit in the context of computer?

§11)2 01l AECIHL AUGaA allollHl olloll AsH s B?

A
B
C
D

Character
Byte
Picture

Bit

54 What is Firefox?

FIREFOX 9] 8?

O 0o @ >

Browser
Icon
Hardware

ISP

55 What is full form of GUI?

GUIo] Y] oM 9 8?

A
B
C
D

Graphical User Interface
Graphical User Internet
General User Interface

Graphical United Interface

53522
ollefe

QEDE)
olle

GlBBR
WY 5ol
sléar
wlSAAUL

U35 YR BoBU
AEsct YRR o2
AR YNBR BRI
Asct Yollfes Bo2¥U



DIBE A

56 What is a digital camera?

Blgect 3N 9 B
A That takes picture in analogue signals A Al AL Aot voll W B.
B That takes picture in digital form a 51"9’)80{ %0{31-{1-[1 ool Wl ®.
C  That stores picture in PNG format only A 9ol 1A png SlileHi Ao B.
D  That stores digits in decimal system A s gatiol uglaHl o B.

57 Which of the following is true?

o(lAotuiell 9 WY B2
A 1 MB-=1024Bytes 1 MB = 1024 Bytes
B 1MB=1000KB 1 MB = 1000 KB
C 1MB=210KB 1 MB =210 KB
D 1KB =210 MB 1 KB =210 MB

58 Which of the following is a DBMS?

ol A1l DBMS 58 8?2
A MS Word MS Word
B MS Excel MS Excel
C MS Power Point MS Power Point
D  MSAccess MS Access

59 Which of the following command is used to save the same file with another name?

A5 % gl8ctal oflost ollN A sl HI2 sAL sHISe GUAIL Al B?

A SaveAs Save As
B Save Save

C  Copy Copy

D Paste Paste

60 Who is associated with Apple Inc.?
slal Apple Inc. WA slAd B2

A Mark Zuckerberg HL5 950101
B  Jeff Bezos R% ARU

C  Elon Musk At Hs
D  Tim Cook M 55



DIBE A

61 The sum of all the prime numbers between 31 and 47 is

31 3ol 47 Ae(l stell Aewsa Auvallell a0l 8.
A 131 131
B 151 151
C 121 121
D 141 141

62 How does half of one percent represnted in decimal?

As 2sloll Aslal eaHl 3l A ealaia?

A 0.5 0.05
B  0.005 0.005
C 002 0.02
D 02 0.2

63 Difference between HCF and LCM of 18,30 and 42 is

18,30, 3l 42 AvAllloll AU el ANl dslelcd ],
A 6 6
B 624 624
C 630 630
D 636 636

64 18% of 250+40% of 320=

25001l 18% +3200W 40% =___

A 320 320
B 250 250
C 173 173
D 135 135

65 If 7 spider takes 7 days to make 7 webs ,then how much time will 1 spier take to make 1 web?

ol Alct A=A ALt AL Al [RadHl olotld Al As sA(C2UA As o4 cotlcldl decl Rau

Adl?
A 1 1
B 7 7
C 35 3.5
D 49 49



DIBE A

66 Difference between age of of A and B is 16 years. Before 6 years age of elder one was 3 times the
age of younger one. What is the present age of younger one?

A 3l Boll GHRol dslad 15 dN B. 8 N Udcll Hlelell GHR ellotloll BHR sl 2wl atell
ecll. l allotiell sletoll GUR g 8la?

A 12 years 12 o™l
B  18years 18 oy
C  14vyears 14 oy
D  16vyears 16 oy

67 Average of 5 numbers is 30. If number 35 is replaced by 25, what is new average?

WA FuAllell ARAUI 30 8, % A s vl 35 HeA 25 AcltHl A dl olcl UAUZ s2cll

alA?
A 20 20
B 25 25
C 28 28
D 32 32

After how many years simple intrest will become Rs. 2800 of the principal amount is Rs. 5000 at
the interest rate of 8%?

32 50004] 8% AW 3ecll a¥ AL cauer 32l 2800 &AuL2A?

O 0o ® >
N o o oo
N o o oo

69 In an analog clock at 12 hours and 30 minutes, How much degree angle will be formed?

siel atoll uldaucul 1R ses ot 30 Az alotdl, A siel cA 32l vl yell RAQ?

A 165 165
B 160 160
C 180 180
D 170 170
70 Calander of the year 1989 and calander of year will be the same
1989 oll cltof 3ASR el o] 3Ao5R A ¥ &,
A 1993 1993
B 1995 1995
C 2001 2001
D 1997 1997



DIBE A
71 Introducing Suresh, Shobha said that his brother's father is my grandmother's only son. What will
be the relationship between Suresh and Shobha?

YR2lo{l BNavURL AUUAL 0eUR 58] ¥ doll eiLeoll [l A HIRA ELELHLU Asell AS Y2 B,
llell Aol YR dRA g AdURL 32

A Mother Hlcl
B Cousin Qe
C  Sister ol&at
D  Daughter el

72 Ramesh is looking forward to the North West. He rotates clockwise 90°. Then he moves around
180° in the anti-clockwise direction. Again he moves 90° in the same direction. Now, what
direction will it be?

A9 GriR UEAH dRs 18l vl Qlell B. A auldatne(l (2 auni 90° 52 B. a ugdl wldainet
sieloll (A4 (2 auni 180° 52 B. v (R auni s31ell 90° 2 B. 6, dAof 18l 55 (Eauni 212

A South AR

B  West y@n

C  South-West e(A-uln
D  South-East 6@@—1{1

73 IF the price of ICE is 17 and price of BAG is 10 than what will be the price of DOG?
ol ICEo{l (5Ud 17 8l WA BAGe(l (1t 10 &2 Al DOG oll (5uct d2cll 22

A 26 26
B 32 32
C 29 29
D 47 47

74 In the series of 8, 25, 49, 36 which number differs from the other three?

8, 25, 49, 36 o{l ARML 5¢ Avall VA AR HEl U B2

A 49 49
B 25 25
C 8 8

D 36 36



DIBE A

7 Rakhi's position in the class is 16th from the top and 24th from the bottom. How many students
will be there in the class?

colul Au{lo] eulot GuRell 15y U (LAl 2% B. A adlul gt Jecu @QauellRA &2

A 39 39
B 40 40
C 38 38
D 41 41

76 If P=+, Q= -, R=+and S=x then 24R 6P 5Q 9S 8=

%\ P=+, Q= -, R=+ Aol S=x &l cll 24R 6P 5Q 95 8=

A 2 20
B 63 63
cC 7 72
D 63 -63

77 If the English capital letters were seen in the mirror, how many letters appear the same?

I AUHL 1) 3NeA R WalHl A FSCl AR AS UL Wl B?

A 10 10
B 11 11
cC 12 12
D 13 13

78 BDAC:FHEG::NPMO:

BDAC:FHEG::NPMO:

A RaQTS RQTS
B  TRQS TRQS
C atrs QTRS
D RTQS RTQS

79 Five students are sitting in one row. S is sitting on the right side of L. P is sitting on the left side of
L. Even sitting on the right of K. S is sitting on the left side of Q. Who is the first from the left in this
row?

i (QeaelAl As slML AsL B. s A Lofl wHell ol A 8. PA Loll stoll ety dau
Ke(l 1Rl oltog A6l B. s Qoll stodl oty Asl B. L slRML stodl iyl UdAl slatL 82

A K K
B L L
cC vp P
D s S



DIBE A

80 Cow:Calf::Donkey:

ol clle9R§:: OLRS:

A Colt B3

B  Mule VR
C  Puppy a3
D Foal s

81 SOPT: NRIA:: POST ..............

SOPT: NRIA:: POST :?

A MQJB MQJB
B  ANIR ANIR
C IRNA IRNA
D NIAR NIAR

82 On weekend Mr. Shah spends many hours working in his vegetable and flower gardens. Mrs. Shah
spends her free time reading and listening to classical music. Both Mr. Shah and Mrs Shah like to
cook. So.....

s (3ol A sl 2wWe Aroll Ellotl AU wseuWell solAML sclsl cdld 52 8. s{lidl
S AMoll olclRAell AHA cdiBot A Wl A d AietnalHl dld 52 8. sl ua sllucdl
s lalal RAUE clotlalcl AN B. Al.....

A Mr. Shah enjoys planting and growing sl 2lsal AWSEU cllelell |A BGIUS lHL
vegetables. Vlole WA B.

B Mr. Shah does not like classical music. s{l 2usal 2wl ol dHd atell.
Mrs. Shah cooks the vegetables that Mr. sl 21 Goudcl wse sl s 28 .
Shah grows.

D Mrs. Shah enjoys reading nineteenth sl aueat uﬂsteﬂwﬂ UEloll alacdsaull
century novels. cllRAAHL Alole WA B.

83 Find the wrong term in the following series :

o(12A(l AQluiell w2l sl N E: GAT, J10R, M20P, P43N, S90L

A Gat G4T
B  J10R J10R
C M20P M20P
D  sooL S90L



DIBE A

84 Which of the following is ths same as Flood, Fire, Cyclone?

ol Aottiell 53] YR, 0L, ALAURASL oll B % B?

Damage

A

B Earthquake
C Rain

D

Accident

ajslot
su
cARULE
WSHULA

85 Which of the following is the same as Wrestling, Karate, Boxing?

ol Asuuiell 52) 2ulAdL, 522, Aottt B % B?

A Swimming Rl
B Polo el
C  PoleVault AlMgE
D Judo %Sl
86 Museum is related to Curator, in the same way Hostel is related to.........
1RJBan 22 A Aol@d B, A A vlUd ... A Aoifdd B,
A Manager Ny
B  Monitor e
C  Jailor BHAR
D  warden ALt
87 Mathematics is related to Numbers in the same way History is related to..............
B IWLloll Aoitt w8l WA B A slAsiuell doik ............. A B,
A Ppeople Al
B Events SEEEN
C  Dates AR
D wars Yl

88 Suresh, the son of Mahesh is marries to Sia, whose sister Jia is married to Amar, the brother of

suresh. How is Jia related to Mahesh?

U32otl Yol Y2otl Aol R WA AL §cll. Boll Glot 2loll Aot YR2Uoll ALES WM U

YL &cll. dl WAL Bl 1A AR g Aoy Al ?

A Daughterinlaw
B  Cousin

C  Sisterinlaw

D  Ssister

yaay
QL)
aoll

oLt



DIBE A

89 In a top secret message, if LIVING is coded as KGSHLD. How will BUDDHA be coded?

A5 Yo o WLetd{l AEAL ML % LIVING ol KGSHLD SlSMI cw el A dl BUDDHAAR
ol Actimigl sl SlsHL AWMl 2Ua?

A ATEEIB ATEEIB

B  ATACFX ATACFX
C ATCCGZ ATCCGZ
D KGSHLD KGSHLD

90 Find out the wrong one in the series 121,143,465,186,209.

121, 143,165,186,209 AR(HL VL2l AisS| U,

A 143 143
B 165 165
C 186 186
D 209 209

91 Find out the missing number in the series 2,3,5,7,11,...,17

2,3,5,7,11,......... 17 Qi wedl s wrudl.

A 12 12
B 13 13
C 14 14
D 15 15

92 Choose the word which is not similar to the other words in the group.

o{l Aol AGEUYEUL GlUAUA ol A A AGE UIE 53,

A Peas cellu
B  Cabaage slo{los
C  Spinach ules
D Tomato K
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93 Find out Cause and Effect : I. All the schools in the area had to be kept closed for most part of the
week.

Il. Many parents have withdrawn their children from the local schools.

$120L Al AR LUl 1. AsclBlell H2tedtell (& cdlMl ut (Qrctie{l dMiH aoul ol
utell usdl ocl. i aill el clle{lRAA s woRAH AHell dlnsla Gslsl el B.

A Statement | is the cause and statement Il is yauH (Quiet 5101 & Ual Oﬂ‘fg’ (Qutet Aol

its effect. WA B.

B  Statement |l is the cause and statement | is oflog (Aot 51201 B Wl YauH (At doll
its effect. WA 8.

C Both the statements | and Il are YU Aal 0ﬁ‘§ AN oial [Qulell et ld
independent causes. SL?QTL 2}

D Both the statements | and Il are effects of YUH A Oﬂfg’ AH ool (Aol et
independent causes. SLQQTlo{l WA O.

94 Mohan is facing North and walks 20 Km. He turns 270° anti-clockwise and walks 20 km. He again
turns 45° clockwise and walks for 20 km. Which direction is he facing now?

ot Grir (Zau 2 20 (33l WA 8. A 270 (Bafl ulBaumell Q3 (B 2unl 53 ® ua 20 (33:{
AA B. d 531 45 (3ol ulBainell Rauni 2 & ua 20 Bl Yol WA B s A 56 2 2uni Qell

8?
A North-West Grir-yd
B South-West E@QL—LLCi
C  North-East GelR-ulH
D  South-East e@er-ul@n

95 When do we celebrate International Yoga Day?

iRl 0oL (B ad sUR HollalaHi 1A 8?

A 21June R (ol
B 5Sept SIS
C  8March ¢ 1A
D 150ct VENERE

96 Statement: It is desireable to put the child in school at the age of 5 or so. Assumptions: 1. At that
age the child reaches appropriate level of development and is ready to learn.
2. The schools do not admit children after six years of age.

[Qtuet: citosal uix adell GHR oMl ysq 8wl 8.
URRU-L. A GHR clls [Asttoll o seul USA B ol d ollutal W2 dauR ala 8. 2.
ae(l GHR gl 2uouA sl sl yaal Al «tell.

A Only assumption 1 is implicit HI2L URBWL 1 3RrUe 0.

B Only assumption 2 is implicit HI2L ULRRU 2 MU ®.

C Either lor 2is implicit YRR 1 AUl URRWL 2 BRUe 0.
D

Neither 1 nor 2 is implicit ol cll URRI 1ot ll URBU 2 AU B,
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97 Teeeth: Chew

98

el : Alaq

A
B
C
D

Brain : Think
Sweater: Heat
Food: Taste

Eye : Flicker

Root : Stem:: Branch .................

O 0o ®w >

Wood
Leaf
Tree

Fertiliser

99 Moon: Satellite :: Earth : ...............

100

A sun

B  Planet

C  Solar System

D  Asteroid
Clock:Time:: Thermometer...............
dlSaio: wmat: il leR : e,

A Heat

B Energy

C  Readiation

D

Temprature

1oLy : (AuRg
2R :oRHl
WIS @ RClE
W : §8q

ALSS
ules
RS

WIAR

Yl
SIE
Ylasa
YeH e

oMl
Gt
(3e0cuol
AlUHLet
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101 A group of students is trying to find a creative way to solve a problem. Which student is asking the
most creative question?

Qauell2lle] As Aye S As UHRALA URolHs G3et QAN (AU 530 28] 8. s [Qauel
Al ay Aetleds usl 531 6l B2

A Lata wants to know which books will give ATl RLell 1L B 5 585 58 Yrelsl dAual
them answers. HEEIU olo{l alsal.

B Hinais curious about which rules can be (Bott (AR 281 B ¥ uHRU B3l HI2 sl
broken/altered to find solution. sl [200ul Alsl Yevle |y sl Ax B.

C Disha is brain storming a list of whom they (au slell Slol Hee @ 2sA A Quidl ?él
can ask for help. ®.

D  Shyam is thinking about how to get others A H ollasrAlal 56 A sataal A Qs
fixed in a tight corner. a6l 8.

102 How often do you evaluate your personal performance?

dR eycisel saAR $A 812

Sometimes, but not regularly. AR uel Qa@d A Q.
B Never, | just go with the flow. s€l (3, § Gl BH Pclotoll Yellg Ha A
ALEAA ¢ Y.
C All the times, | am always aware of my %{ddl{@. § Rl RERRA Yl -%19L Qéla.

achievements and where | need to improve. IR 8% Ay sl YUR sclloll %32 & A id\
QA ¢ ©.

D Only when someone asks me to do so. L 213 § s S¢S HIR ot ER R
Qs .
103 What is usually the most important question you can ask in any given situation?

885 otcll URRA WA 2l dR 52 ust AUYsUR Welloll Aol Yl 812

A How much money can | make? VHIY HA Fectl Ul HOA?

B Whois responsible for doing this? L 521 sal HIS FAUGELR S0 B2

C  Why and how should | do this? HR AL s3] 2L 1R ol 585 3l 5 AESA?
D  canlaccomplish this? 9 & L 53 asler

104 What do you do when you make a mistake?

AR d Sl G 5A Ol RUR dR g $A B2

A Blame the others involved. UL AMAA "ed U elnRuL 53 §9
B Don't think about it ever again. A 19\ s3lell s [QuRA ol

C Examine what you learned from it. auiedll uat 9 Alluien He)] A ASY .

D

Lecture others about it. o LSl A A AUNRL ALY 8.
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105 Which of the following questions should you ask when you observe a problem?

AR N HlE AMHRAUL Y3 Bl AR AR Wlclloll Aol s20 ust Yol o2

A

B
C
D

What do | hear/see/smell?

Who is to be blamed?
What is my gut reaction?

Both Aand C

106 How many sides are there in triangle?

As\gell cuall 3ecll B2

O 0o ®w >

o(lA WA RAHL 32l AslaL B2

2
3
4
5

107 Which types of angles a Square has?

AU HRUAML 2L UslRall Sl 8?

O 0o w >

Acute Angle
Obtuse Angle
Right Angle

None

B AU U § 9 ¥ ), euy) & 5wy
£9?

L UHRAL HIR Sloll UR AU Hsl asta?
L UHRAUL A W ARy g B?

A ual C 6lal

v B~ W N

AYSWQL
91358l
s12sl0L
Asuel -1

108 Which of the following teachers will you consider most effective?

Pust@Mcuiell sa @Qetsa N ay el agl ©12

A

One who uses board occasionally

One who uses chart and maps

One who uses film projector along with the
proper use of the board for activity based
classroom interaction

One who uses motion picture as a last resort

A 3% stul. stlell Al HetH GUAlDL 53 B

A 3R AU A ois2llell [l GUL 53 B

A 3 B (3 UBseR ua 6As Al WA
u%rga&[l (AIHAL 019 YHIRHL GURDoL
5

a@ 3 @ AARAA @10 %, o e GuAldL 53
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109 If back-benchers are always talking in the classroom a teacher should...

ol W Addl ctot [Qau&Ra aolulsHl Add dldl & sal sdl slal Al [Qas......

A let them do what they are doing AR % 5cll Sl A $2cll &l ?,Ci

B punish them Axal Qe s2cll

C ask them to sit on the front benches Axal el wedl uR Axal ééﬂ'

D  Think about a teaching method that suits al-@_t ™A US adl ug@?t QR utuuet
their learning interest 59

110 Use of telecast materials

YRR JUUR A uHloll GuallaL,

A enhances concentration and learning tRllol Aol UtAAAU U@Y(& 52 B
B reduces the burden of the teacher Qletseoll ollos sl 53 B

C increases retention power UREL MMl AR B

D  all of the above GURLS olul &

111 Maximum participation of students is possible in teaching through

werdoisiHl Qauelell 1o ewalletl ol audl asta.
A |ecture method clwllel ugla
B discussion method Al usld
C  textbook method wsaYrdls usld
D  audio-visual aids a22l-8llcal Alalloll GUoLell ugld

112 A teacher in the class is

clul Rats
A the president of the group VAL % cololl WAL Sl B
B a director of the group L % olall (A€ aLs lal ®
C a leader as well as guide of the group VAL % cOlotl Al Aol HILELS SlA B
D  all of the above GUR UL sl %

113 Verbal guidance is least effective in teaching ..............

Alex s 1iolelot AUt HI ALY UURERS ool B,
A attitude clalell
B conceptand facts vl ua [QuR
C  relationship Aol
D skills slalca
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114 A teacher meeting his students for the first time should...
As Qats 3 ¥ [QauslRAs( wd udcll arR yeusid s2 Ag,

A

D

115 TV is superior to radio as teaching aid because it

start teaching without caring the students'
likes and dislikes
develop rapport with the class

give a broad outline of the whole subject

B and C both

el udie-otiturie sl (Qotles
ULAUe 213 531 &g AR

Ulcllell cdlof{l A Aol olollelclloll YAl
sl WA

Wlolt Qvaell GuRecell U yau@s
U@ Alell 236 5l AN

B Aol C olal

A2 sl Alell AR Aal@dls Altel B, sIRQLS ...

A
B

is costly

invites two senses- hearing and vision
simultaneously leading to more accurate
form of learning

is generally liked by pupils

all of above

116 The first important step in teaching is

ULAUole] YUH Hecelyel Al ULt

O 0o w >

planning beforehand
organizing material to be taught
knowing the background of students

none of the above

8.

A uEs Wy &

AHL A BloxAoll UHocLA 2UlRL B. Rl
A Stenwa A AssU WA AR €3]
2l ®.

A (el uHeA3A Ude 52 .
GUR AWUA dAHIH

yal0eet

LA Uol ALol-AHlof 2ot
(QauelAl ydey@st gl
GUR A Hl Asuwl o3

117 If 'A' is taller than 'B’, but 'B' is not taller than 'C' and 'D' is the tallest aff all; than who is the
shortest in all?

%l 'A"'B' 5cll QLA B U2 'B''C' 5cll QA o1&l U D' Al QA B A AWl (A 5 B2

O 0o ®w >

o 0O @ >

A
B
C
D
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118 Who was the first Chief Minister of Gujarat?

afesRActoll yuH HYuAuH{l 5lQL scll?

A Jivraj Maheta %) R Hcll
B Chimanbhai Patel Y Hateue ueet
C  Ghanshyam Oza elotgALH AL
D  Dilip Parikh (& cllu udlw

119 Where the asiatic lions are inhabitated?

Q8 RSle] Aauarast saul 8?2

A Sundervan yeclal
B Girforest o(l? %ol
C  Jaldapara A CELULRL
D  Ghorada SIEN

120 Which is the prime number of the following?
Qe dual 58 B2

O 0o ® >

8
6
4
2

N B O 0



Indian Institute of Teacher Education

Wl 7 f w= wget afrmfie fed 1

duRdla [Qias uldie A,

(A State Public University established by Government of Gujarat)

i3T (Integrated Test for

;::tcher Teacher Trainee) -2020
Trainee
i3T — UG and PG Programmes
Sr. Area of the content B.Sc.B.Ed. B.Ed. & M.Ed.& M.Sc./M.A
No. B.A.B.Ed. B.Ed.M.Ed. M.Ed.
1 General Knowledge & Current Affairs 15 15 10
2 Numerical ability, Reasoning and Analogy 25 15 15
3 Communication Skill and English 15 15 10
4 ICT/eLearning/Web based Resources 15 15 10
5 Teaching Aptitude 30 30 25
6 Content 20* 30* 50%**
Total Marks 120 120 120

3k

th

General Contentup to 8" Standard Maths/ General Science/ Social Science
B.Ed. Level: Educational Psychology/Philosophy/Sociology, General Pedagogy, Assessment & Evaluation

i3T — Ph.D./M.Phil.

Paper Paper Type MCQ Marks
e 1 Sect@on A: Researgh Methodology . . 60 60
Section B: Reasoning & Comprehension Skills (30+30)
Education subjects up to PG Level 60 60
Educational Psychology (45+15)
Educational Philosophy
Paper 2 Educational Sociology
Current affairs in Education
RUSA/NCTE/ GCERT/Government and NGOs in field
of Education, etc.
Total 120 120

Note: Duration of OMR based i3T for all programmes will be 90 minutes
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Indian Institute of Teacher Education

(A State Public University established by Government of Gujarat)

ARSL URHEA [Aril AgA, el HlER WAL, M 13, A52-U, OUHIHRR, AU - 3¢R01E

Ramkrushna Paramhans Vidhya Sankul, Nr. Mahatma Mandir, Kh-Road, Sector-15
Gandhinagar-382016, Gujarat, India
Phone: +91-79-23287338, 23243733/34
Email: contact@iite.ac.in, Web :www.ii’re.ac.in@@c You iitegandhinagar
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